
Prices and Specifications Subject to Change Without Notice. Mettler-Toledo-Inc.  (9/00)  i 

  

METTLER TOLEDO 
Mechanical Scale Overhaul Kits and Parts 

 
 

ContentsContents  
 

Referencing parts and kits ..........................................................................................................ii 

Ordering parts and kits ..............................................................................................................ii 

Order form................................................................................................................................Inside Back Cover 

 

Overhaul KitsOverhaul Kits  
METTLER TOLEDO® (formerly Toledo® Scale)  

 Cross Reference – METTLER TOLEDO scale model number ...................................................1-1 

Cross Reference – METTLER TOLEDO main lever casting number ..........................................1-6 

Cross Reference – METTLER TOLEDO part number ...............................................................1-7 

Overhaul kit descriptions...................................................................................................1-11 
 

Cardinal-Murphy® 
 Cross Reference – Cardinal-Murphy scale model number to METTLER TOLEDO 
 overhaul kit number ..............................................................................2-1 

 Cross Reference – Cardinal-Murphy part number to METTLER TOLEDO part number ................2-1 

Overhaul kit descriptions...................................................................................................2-3 
 

Detecto® 
 Cross Reference – Detecto part number to METTLER TOLEDO part number..............................3-1 

Overhaul kit description ....................................................................................................3-3 
 

Fairbanks® 
 Cross Reference - Fairbanks scale model number to METTLER TOLEDO overhaul kit number....4-1 

Cross Reference - Fairbanks main lever number to METTLER TOLEDO overhaul kit number ......4-5  

Cross Reference - Fairbanks part number to METTLER TOLEDO part number ..........................4-7 

Overhaul kit descriptions...................................................................................................4-9 
 

Howe® 
Cross Reference - Howe scale model number to METTLER TOLEDO overhaul kit number..........5-1 

Cross Reference - Howe main lever number to METTLER TOLEDO overhaul kit number ............5-2 

Cross Reference - Howe part number to METTLER TOLEDO part number.................................5-2 

Overhaul kit descriptions...................................................................................................5-3 
 

Thurman® 
Cross Reference - Thurman scale model number to METTLER TOLEDO overhaul kit number .....6-1 

Cross Reference - Thurman part number to METTLER TOLEDO part number ............................6-2 

Overhaul kit descriptions...................................................................................................6-3 

 



 

ii (9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice. 

 

 

ReferencingReferencing  
PaParts and Kitsrts and Kits  

The METTLER TOLEDO Mechanical Overhaul Kits and Parts Catalog is your guide to 
mechanical scale replacement parts in easy to order overhaul kits. These kits and 
parts are available from mechanical scale manufacturers including METTLER 
TOLEDO®, Cardinal-Murphy®, Detecto®, Fairbanks®, Howe®, and Thurman®.  

This catalog is designed as a user-friendly reference for mechanical scale overhaul 
kits and parts. The catalog is grouped according to scale manufacturer. Each 
manufacturer begins with a cross-reference section that provides direction to model, 
part and main lever numbers. The references are separated into the following 
corresponding sections: 

• Manufacturer scale model numbers that correspond to METTLER TOLEDO 
overhaul kit numbers and pages. 

• Scale manufacturer part numbers in relation to METTLER TOLEDO part 
numbers, part prices and pages. 

• Manufacturer main lever casting numbers (if applicable) that correspond to 
METTLER TOLEDO overhaul kit numbers and pages. 

 

 

OrderingOrdering    
Parts and KitsParts and Kits 

METTLER TOLEDO is committed to providing excellent customer service. We stock a 
large inventory of mechanical parts in our warehouse for same day shipment. Parts 
can be ordered simply by calling, faxing or mailing your order to METTLER TOLEDO.   

Phone:  (800) 848-3992 or (614) 430-2555 

Fax:  (800) 405-6312 or (614) 438-4921 

Mail: METTLER TOLEDO 
 Attn: Parts Customer Service 

1900 Polaris Parkway 
 Columbus, OH 43240 

To place an order with Aftermarket Parts, please provide the following information: 

1.1.  Your site number  
2.2.  Your P.O. number 
3.3.  Mode of shipment (ground, air or next flight out service) 
4.4.  Your ship to address  
5.5.  Part number(s) and quantities 

 

 

After Hours ServiceAfter Hours Service  
Parts in stock are available for shipment 24 hours a day, 365 days a year. Regular 
business hours are 8:00 AM to 7:30 PM (EST). Emergency shipments can be 
accommodated before 8:00 AM and after 6:30 PM (EST) (additional charges may 
be applicable). Please call METTLER TOLEDO Aftermarket Parts at (800) 848-3992 
or (614) 430-2555 for details.



 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Truck, Tank and Hopper, Railroad, Truck, Tank and Hopper, Railroad,   
Overhead Track, Portable Beam, Overhead Track, Portable Beam,   
Monorail and Livestock Scales, Monorail and Livestock Scales,   

Cabinets and DialsCabinets and Dials  
 
 
 
 

Overhaul and Suspension Kit and Tare Lever Kit Reference 
 

Main Lever Reference 
 

Part Price Reference 
 

Overhaul Kit Descriptions 
 
 





Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 1-1 

 

  

  METTLER TOLEDO Cross ReferenceMETTLER TOLEDO Cross Reference  
  
  

  
  
  

Cross Reference for METTLER TOLEDO Scale Model NumberCross Reference for METTLER TOLEDO Scale Model Number  
METTLER TOLEDOMETTLER TOLEDO  
Scale Model No.Scale Model No.  

METTLER TOLEDO METTLER TOLEDO   
Overhaul KitsOverhaul Kits  

  
Kit DescriptionsKit Descriptions  

  
PricePrice  

  
PagePage  

0860 083812020 Bench dial scales $   625.00 1-18 

0860 083813020 Bench dial scales (stainless steel) $1,099.00 1-18 

0869 083812020 Bench dial scales $   625.00 1-18 

0869 083813020 Bench dial scales (stainless steel) $1,099.00 1-18 

1020 083808020 Computagram scales $   625.00 1-14 

1030 083808020 Computagram scales $   625.00 1-14 

1040 083808020 Computagram scales $   625.00 1-14 

2000 series 083816020 Bench dial (gray line) scales $   725.00 1-20 

2000 series 083817020 Bench dial (gray line) scales (stainless steel) $   975.00 1-20 

2000 series 083804020 36" cabinet dial (gray line) scales, head #34 with pendulum, tare & double bench lever  $   575.00 1-13 

2000 series 083802020 36" cabinet dial (gray line) scales, head #34 & 35 with pendulum, tare & single bench lever  $   450.00 1-12 

2000 series 083800020 36" cabinet dial (gray line) scales, head #34 & 35 with pendulum & tare lever $   342.00 1-11 

2000 series 085569020 Head kit (gray line) $   258.00 1-67 

2020 083811020 Bench dial scale $   250.00 1-17 

2151 083836020 Floor scales $1,200.00 1-30 

2171 083837020 Livestock & built-in scales $1,725.00 1-31 

2171 083838020 Livestock & built-in scales (stainless steel) $2,230.00 1-31 

2181 085573020 Portable dial scales $   650.00 1-24 

2181 085715020 Portable dial scales (stainless steel) $1,050.00 1-24 

2191 083836020 Floor scales $1,200.00 1-30 

2212 083830020 Overhead track scales, 8" pattern; 2,600 & 3,250 lb $   685.00 1-27 

2212 083831020 Overhead track scales, 8" pattern (stainless steel); 2,600 & 3,250 lb $   925.00 1-27 

2221 083834020 Monorail scale, 25" pattern; 12,000 lb $1,200.00 1-29 

2221 083835020 Monorail scale, 25" pattern (stainless steel); 12,000 lb $1,600.00 1-29 

2250 083832020 Overhead track scales, 20" pattern; 1,600 lb $   875.00 1-28 

2250 083833020 Overhead track scales, 20" pattern (stainless steel); 1,600 lb $1,250.00 1-28 

2271 083837020 Livestock & built-in scales $1,725.00 1-31 

2271 083838020 Livestock & built-in scales (stainless steel) $2,230.00 1-31 

2312 083830020 Overhead track scales, 8" pattern; 2,600 & 3,250 lb $   685.00 1-27 

2312 083831020 Overhead track scales, 8" pattern (stainless steel); 2,600 & 3,250 lb $   925.00 1-27 

2320 083832020 Overhead track scales, 20" pattern; 1,600 lb $   875.00 1-28 

2320 083833020 Overhead track scales, 20" pattern (stainless steel); 1,600 lb $1,250.00 1-28 

2351 083861020 Tank & hopper (series 0) scales, cast lever system; 2,500 lb $1,100.00 1-43 

2351 083862020 Tank & hopper (series 1) scales, cast lever system; 6,250 lb $1,020.00 1-44 

2351 083863020 Tank & hopper (series 2) scales, cast lever system; 12,500 lb $1,235.00 1-45 

2351 083864020 Tank & hopper (series 3) scales, cast lever system; 25,000 lb $2,060.00 1-46 

2351 083865020 Tank & hopper (series 4) scales, cast lever system; 50,000 lb $1,580.00 1-47 

2352 083866020 Tank & hopper (series 2 & 5) scales, steel lever system; 2,500 & 6,250 lb $1,075.00 1-48 

2352 083867020 Tank & hopper (series 6, 8 & 10) scales, steel lever system; 7,500, 10,000 & 12,500 lb $1,120.00 1-49 

2352 083871020 Tank & hopper scale, suspended, steel lever system; 625, 1,250 & 1,875 lb $   865.00 1-53 

2352 083872020 Tank & hopper scale suspended, steel lever system (stainless steel); 625, 1,250 & 1,875 lb $1,210.00 1-53 

2352 083875020 Tank & hopper (series 2 & 5) scales, suspended, steel lever system; 2,500 & 6,250 lb $   800.00 1-55 

2352 083876020 Tank & hopper (series 6, 8 & 10) scales, suspended, steel lever: 7,500, 10,000 & 12,500 lb $1,100.00 1-56 

2352 083877020 Tank & hopper (series 20) scales, suspended, steel lever system; 25,000 lb $1,125.00 1-57 

2352 083878020 Tank & hopper (series 24, 30, 40 & 50) scales, suspended, steel lever; 30,000, 50,000 & 62,500 lb $1,750.00 1-58 

2352 083879020 Tank & hopper (series 60, 80 & 100) scales, suspended, steel lever; 75,000, 100,000 & 125,000 lb $1,500.00 1-59 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-2 

Cross Reference for METTLER TOLEDO Scale Model Number (continued)Cross Reference for METTLER TOLEDO Scale Model Number (continued)  
METTLER TOLEDOMETTLER TOLEDO  
Scale Model No.Scale Model No.  

METTLER TOLEDOMETTLER TOLEDO  
Overhaul KitsOverhaul Kits  

  
Kit DescriptionsKit Descriptions  

  
PricePrice  

  
PagePage  

2371 083861020 Tank & hopper (series 0) scales, cast lever system; 2,500 lb $1,100.00 1-43 

2371 083862020 Tank & hopper (series 1) scales, cast lever system; 6,250 lb $1,020.00 1-44 

2371 083863020 Tank & hopper (series 2) scales, cast lever system; 12,500 lb $1,235.00 1-45 

2371 083864020 Tank & hopper (series 3) scales, cast lever system; 25,000 lb $2,060.00 1-46 

2371 083865020 Tank & hopper (series 4) scales, cast lever system; 50,000 lb $1,580.00 1-47 

2372 083873020 Tank & hopper (series 0, 1 & 11/2 ) scales, stand, steel lever system; 625, 1,250 & 1,875 lb $   675.00 1-54 

2372 083874020 Tank & hopper (series 0, 1 & 11/2 ) scales, stand, steel lever system (SS); 625, 1,250 & 1,875 lb $1,075.00 1-54 

2372 083866020 Tank & hopper (series 2 & 5) scales, steel lever system; 2,500 & 6,250 lb $1,075.00 1-48 

2372 083880020 Tank & hopper (series 2 & 5) scales, stand, steel lever system; 2,500 & 6,250 lb $   800.00 1-60 

2372 083867020 Tank & hopper (series 6, 8 & 10) scales, steel lever system; 7,500, 10,000 & 12,500 lb $1,120.00 1-49 

2372 083881020 Tank & hopper (series 6, 8 & 10) scales, stand, steel lever system; 7,500, 10,000 & 12,500 lb $   840.00 1-61 

2372 083882020 Tank & hopper (series 20) scales, stand, steel lever system; 25,000 lb $1,140.00 1-62 

2372 083883020 Tank & hopper (series 24, 30, 40 & 50) scales, stand, steel lever; 30,000, 37,500, 50,000 & 
62,500 lb 

$1,610.00 1-63 

2381 083861020 Tank & hopper (series 0) scales, cast lever system; 2,500 lb $1,100.00 1-43 

2381 083862020 Tank & hopper (series 1) scales, cast lever system; 6,250 lb $1,020.00 1-44 

2381 083863020 Tank & hopper (series 2) scales, cast lever system; 12,500 lb $1,235.00 1-45 

2381 083864020 Tank & hopper (series 3) scales, cast lever system; 25,000 lb $2,060.00 1-46 

2381 083865020 Tank & hopper (series 4) scales, cast lever system; 50,000 lb $1,580.00 1-47 

2382 083866020 Tank & hopper (series 2 & 5) scales, steel lever system; 2,500 & 6,250 lb $1,075.00 1-48 

2382 083880020 Tank & hopper (series 2 & 5) scales, stand, steel lever system; 2,500 & 6,250 lb $   800.00 1-60 

2382 083867020 Tank & hopper (series 6, 8 & 10) scales, steel lever system; 7,500, 10,000 & 12,500 lb $1,120.00 1-49 

2382 083881020 Tank & hopper (series 6, 8 & 10) scales, stand, steel lever system; 7,500, 10,000 & 12,500 lb $   840.00 1-61 

2382 083882020 Tank & hopper (series 20) scales, stand, steel lever system; 25,000 lb $1,140.00 1-62 

2382 083883020 Tank & hopper (series 24, 30, 40 & 50) scales, stand, steel lever; 30,000, 37,500, 50,000 & 
62,500 lb 

$1,610.00 1-63 

2383 083866020 Tank & hopper (series 2 & 5) scales, steel lever system; 2,500 & 6,250 lb $1,075.00 1-48 

2383 083867020 Tank & hopper (series 6, 8 & 10) scales, steel lever system; 7,500, 10,000 & 12,500 lb $1,120.00 1-49 

2383 083868020 Tank & hopper (series 20) scales, low profile, steel lever system; 25,000 lb $1,625.00 1-50 

2383 083869020 Tank & hopper (series 24, 30, 40 & 50) scales, steel lever, low profile; 30,000, 37,500, 50,000 & 
62,500 lb 

$1,625.00 1-51 

2383 083870020 Tank & hopper (series 60, 80 & 100) scales, steel lever, low profile; 75,000, 100,000 &  
125,000 lb 

$1,540.00 1-52 

2410 083837020 Livestock & built-in scales $1,725.00 1-31 

2410 083838020 Livestock & built-in scales (stainless steel) $2,230.00 1-31 

2410 -- Transverse lever kit; parts, stand and connection N/A 1-32 

2410 -- Transverse lever kit; parts, stand and connection (stainless steel) N/A 1-32 

2420 083837020 Livestock & built-in scales $1,725.00 1-31 

2420 083838020 Livestock & built-in scales (stainless steel) $2,230.00 1-31 

2420 -- Transverse lever kit; parts, stand and connection N/A 1-32 

2420 -- Transverse lever kit; parts, stand and connection (stainless steel) N/A 1-32 

2430 083837020 Livestock & built-in scales $1,725.00 1-31 

2430 083838020 Livestock & built-in scales (stainless steel) $2,230.00 1-31 

2430 -- Transverse/reversing lever kit; parts, stand and connection N/A 1-32 

2430 -- Transverse/reversing lever kit; parts, stand and connection (stainless steel) N/A 1-32 

2481 085573020 Portable dial scales $   650.00 1-24 

2481 085715020 Portable dial scales (stainless steel) $1,050.00 1-24 

2591 083163020 Complete Overhaul Kit - Truck scales, 2-section, cast lever system; 15-ton $3,160.00 1-33 

2591 083841020 Pivot and Bearing Kit - Truck scales, 2-section, cast lever system; 15-ton $2,575.00 1-33 

2591 083843020 Suspension kit - Truck scales, 2-section, 15-ton $1,025.00 1-33 

2592 083164020 Complete Overhaul Kit - Truck scales, 2-section, steel lever system; 15-ton $2,535.00 1-34 

2592 083842020 Pivot and Bearing Kit - Truck scales, 2-section, steel lever system; 15-ton $1,950.00 1-34 

2592 083843020 Suspension kit - Truck scales, 2-section, 15-ton $1,025.00 1-34 

2691 083165020 Complete Overhaul Kit - Truck scales, 2-section, cast lever system; 20-ton $3,120.00 1-35 

2691 083844020 Pivot and Bearing Kit - Truck scales, 2-section, cast lever system; 20-ton $2,535.00 1-35 

2691 083846020 Suspension kit - Truck scales, 2-section, 20-ton $1,025.00 1-35 

 



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 1-3 

Cross Reference for METTLER TOLEDO Scale Model Number (continued)Cross Reference for METTLER TOLEDO Scale Model Number (continued)  
METTLER TOLEDOMETTLER TOLEDO  
Scale Model No.Scale Model No.  

METTLER TOLEDO METTLER TOLEDO   
Overhaul KitsOverhaul Kits  

  
KiKit Descriptionst Descriptions  

  
PricePrice  

  
PagePage  

2692 083166020 Complete Overhaul Kit - Truck scales, 2-section, steel lever system; 20-ton $2,635.00 1-36 

2692 083845020 Pivot and Bearing Kit - Truck scales, 2-section, steel lever system; 20-ton $2,050.00 1-36 

2692 083846020 Suspension kit - Truck scales, 2-section, 20-ton $1,025.00 1-36 

2780 083169020 Complete Overhaul Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $6,356.00 1-39 

2780 083850020 Pivot and Bearing Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $4,660.00 1-39 

2780 083851020 Suspension kit  - Truck scales, 4-section, 50 & 60-ton $2,800.00 1-39 

2780 083170020 Complete Overhaul Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $7,945.00 1-40 

2780 082858020 Pivot and Bearing Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $5,825.00 1-40 

2780 083856020 Suspension kit - Truck scales, 5-section, 50 & 60-ton $3,500.00 1-40 

2781 083171020 Complete Overhaul Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $4,996.00 1-41 

2781 083853020 Pivot and Bearing Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $3,300.00 1-41 

2781 083851020 Suspension kit  - Truck scales, 4-section, 50, 60, 75-ton $2,800.00 1-41 

2781 083172020 Complete Overhaul Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $6,620.00 1-42 

2781 083855020 Pivot and Bearing Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $4,500.00 1-42 

2781 083856020 Suspension kit - Truck scales, 5-section, 50, 60, 75-ton $3,500.00 1-42 

2790 083169020 Complete Overhaul Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $6,356.00 1-39 

2790 083850020 Pivot and Bearing Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $4,660.00 1-39 

2790 083851020 Suspension kit  - Truck scales, 4-section, 50 & 60-ton $2,800.00 1-39 

2791 083167020 Complete Overhaul Kit -Truck scales, 2-section, cast lever system; 30-ton $3,688.00 1-37 

2791 083847020 Pivot and Bearing Kit - Truck scales, 2-section, cast lever system; 30-ton $2,840.00 1-37 

2791 083849020 Suspension Kit -Truck scales, 2-section, 30-ton $1,400.00 1-37 

2792 083168020 Complete Overhaul Kit - Truck scales, 2-section, steel lever system; 30-ton $2,998.00 1-38 

2792 083848020 Pivot and Bearing Kit - Truck scales, 2-section, steel lever system; 30-ton $2,150.00 1-38 

2792 083849020 Suspension Kit -Truck scales, 2-section, 30-ton $1,400.00 1-38 

2875 083171020 Complete Overhaul Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $4,996.00 1-41 

2875 083853020 Pivot and Bearing Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $3,300.00 1-41 

2875 083851020 Suspension kit  - Truck scales, 4-section, 50, 60, 75-ton $2,800.00 1-41 

2875 083172020 Complete Overhaul Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $6,620.00 1-42 

2875 083855020 Pivot and Bearing Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $4,500.00 1-42 

2875 083856020 Suspension kit - Truck scales, 5-section, 50, 60, 75-ton $3,500.00 1-42 

2881 085573020 Portable dial scales $   650.00 1-24 

2881 085715020 Portable dial scales (stainless steel) $1,050.00 1-24 

2890 083170020 Complete Overhaul Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $7,945.00 1-40 

2890 082858020 Pivot and Bearing Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $5,825.00 1-40 

2890 083856020 Suspension kit - Truck scales, 5-section, 50 & 60-ton $3,500.00 1-40 

2891 083171020 Complete Overhaul Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $4,996.00 1-41 

2891 083853020 Pivot and Bearing Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $3,300.00 1-41 

2891 083851020 Suspension kit  - Truck scales, 4-section, 50, 60, 75-ton $2,800.00 1-41 

2891 083172020 Complete Overhaul Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $6,620.00 1-42 

2891 083855020 Pivot and Bearing Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $4,500.00 1-42 

2891 083856020 Suspension kit - Truck scales, 5-section, 50, 60, 75-ton $3,500.00 1-42 

31-series 083800020 36" cabinet dial (black line) scales, head #34 & 35 with pendulum & tare lever $   342.00 1-11 

31-series 083802020 36" cabinet dial (black line) scales, head #34 & 35 with pendulum, tare & single bench lever $   450.00 1-12 

31-series 083804020 36" cabinet dial (black line) scales, head #34 with pendulum, tare & double bench lever  $   575.00 1-13 

31-series 083836020 Floor (black line) scales $1,200.00 1-30 

31-series 083826020 Overhead track (black line) scales on stands & suspended from ceiling, 8" pattern $   685.00 1-25 

31-series 083827020 Overhead track (black line) scales on stands & suspended from ceiling (stainless steel), 8" pattern $   925.00 1-25 

31-series 083828020 Overhead track (black line) scales on stands & suspended from ceiling, 20" pattern $   766.00 1-26 

31-series 083829020 Overhead track (black line) scales on stands & suspended from ceiling (stainless steel), 20" 
pattern  

$   900.00 1-26 

31-0840 083812020 Bench dial (black line) scales $   625.00 1-18 

31-0840 083813020 Bench dial (black line) scales (stainless steel) $1,099.00 1-18 

31-0840 082076020 Bench dial (black line) scales $   193.00 1-19 

31-0840 083815020 Bench dial (black line) scales (stainless steel) $   300.00 1-19 

31-0850 082076020 Bench dial (black line) scales $   193.00 1-19 

31-0850 083815020 Bench dial (black line) scales (stainless steel) $   300.00 1-19 

 



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-4 

Cross Reference for METTLER TOLEDO Scale Model Number (continCross Reference for METTLER TOLEDO Scale Model Number (continued)ued)  
METTLER TOLEDOMETTLER TOLEDO  
Scale Model No.Scale Model No.  

METTLER TOLEDO METTLER TOLEDO   
Overhaul KitsOverhaul Kits  

  
Kit DescriptionsKit Descriptions  

  
PricePrice  

  
PagePage  

31-1800 082076020 Bench dial (black line) scales $   193.00 1-19 

31-1800 083815020 Bench dial (black line) scales (stainless steel) $   300.00 1-19 

31-1800 083818020 Portable dial (black line) scales $   510.00 1-21 

31-1800 083819020 Portable dial (black line) scales (stainless steel) $   900.00 1-21 

31-1800 083820020 Portable dial (black line) scales; 100 & 125 lb $   155.00 1-22 

31-1800 083821020 Portable dial (black line) scales (stainless steel); 100 & 125 lb  $   315.00 1-22 

31-1800 083822020 Portable dial (black line) scales; 200 – 1,000 lb $   170.00 1-23 

31-1800 083823020 Portable dial (black line) scales (stainless steel); 200 – 1,000 lb  $   275.00 1-23 

31-1890 083818020 Portable dial (black line) scales $   510.00 1-21 

31-1890 083819020 Portable dial (black line) scales (stainless steel) $   900.00 1-21 

31-1890 083820020 Portable dial (black line) scales; 100 & 125 lb $   155.00 1-22 

31-1890 083821020 Portable dial (black line) scales (stainless steel); 100 & 125 lb  $   315.00 1-22 

31-1890 083822020 Portable dial (black line) scales; 200 – 1,000 lb $   170.00 1-23 

31-1890 083823020 Portable dial (black line) scales (stainless steel); 200 – 1,000 lb  $   275.00 1-23 

31-1900 082076020 Bench dial (black line) scales $   193.00 1-19 

31-1900 083815020 Bench dial (black line) scales (stainless steel) $   300.00 1-19 

34-0850 083812020 Bench dial (black line) scales $   625.00 1-18 

34-0850 083813020 Bench dial (black line) scales (stainless steel) $1,099.00 1-18 

34-0860 083812020 Bench dial (black line) scales $   625.00 1-18 

34-0860 083813020 Bench dial (black line) scales (stainless steel) $1,099.00 1-18 

4020 083808020 Computagram scales $   625.00 1-14 

4030 083808020 Computagram scales $   625.00 1-14 

4040 083808020 Computagram scales $   625.00 1-14 

4180 083809020 Portable beam scale $   450.00 1-15 

4181 083810020 Portable beam scale $   250.00 1-16 

4310 083163020 Complete Overhaul Kit - Truck scales, 2-section, cast lever system; 15-ton $3,160.00 1-33 

4310 083841020 Pivot and Bearing Kit - Truck scales, 2-section, cast lever system; 15-ton $2,575.00 1-33 

4310 083843020 Suspension kit - Truck scales, 2-section, 15-ton $1,025.00 1-33 

4311 083164020 Complete Overhaul Kit - Truck scales, 2-section, steel lever system; 15-ton $2,535.00 1-34 

4311 083842020 Pivot and Bearing Kit - Truck scales, 2-section, steel lever system; 15-ton $1,950.00 1-34 

4311 083843020 Suspension kit - Truck scales, 2-section, 15-ton $1,025.00 1-34 

4320 083165020 Complete Overhaul Kit - Truck scales, 2-section, cast lever system; 20-ton $3,120.00 1-35 

4320 083844020 Pivot and Bearing Kit - Truck scales, 2-section, cast lever system; 20-ton $2,535.00 1-35 

4320 083846020 Suspension kit - Truck scales, 2-section, 20-ton $1,025.00 1-35 

4321 083166020 Complete Overhaul Kit - Truck scales, 2-section, steel lever system; 20-ton $2,635.00 1-36 

4321 083845020 Pivot and Bearing Kit - Truck scales, 2-section, steel lever system; 20-ton $2,050.00 1-36 

4321 083846020 Suspension kit - Truck scales, 2-section, 20-ton $1,025.00 1-36 

4330 083167020 Complete Overhaul Kit -  Truck scales, 2-section, cast lever system; 30-ton $3,688.00 1-37 

4330 083847020 Pivot and Bearing Kit - Truck scales, 2-section, cast lever system; 30-ton $2,840.00 1-37 

4330 083849020 Suspension Kit -Truck scales, 2-section, 30-ton $1,400.00 1-37 

4331 083168020 Complete Overhaul Kit - Truck scales, 2-section, steel lever system; 30-ton $2,998.00 1-38 

4331 083848020 Pivot and Bearing Kit - Truck scales, 2-section, steel lever system; 30-ton $2,150.00 1-38 

4331 083849020 Suspension Kit -Truck scales, 2-section, 30-ton $1,400.00 1-38 

4332 083168020 Complete Overhaul Kit - Truck scales, 2-section, steel lever system; 30-ton $2,998.00 1-38 

4332 083848020 Pivot and Bearing Kit - Truck scales, 2-section, steel lever system; 30-ton $2,150.00 1-38 

4332 083849020 Suspension Kit -Truck scales, 2-section, 30-ton $1,400.00 1-38 

4350 083169020 Complete Overhaul Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $6,356.00 1-39 

4350 083850020 Pivot and Bearing Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $4,660.00 1-39 

4350 083851020 Suspension kit  - Truck scales, 4-section, 50 & 60-ton $2,800.00 1-39 

4350 083171020 Complete Overhaul Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $4,996.00 1-41 

4350 083853020 Pivot and Bearing Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $3,300.00 1-41 

4350 083851020 Suspension kit  - Truck scales, 4-section, 50, 60, 75-ton $2,800.00 1-41 

4350 083170020 Complete Overhaul Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $7,945.00 1-40 

4350 082858020 Pivot and Bearing Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $5,825.00 1-40 

4350 083856020 Suspension kit - Truck scales, 5-section, 50 & 60-ton $3,500.00 1-40 

 



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 1-5 

Cross Reference for METTLER TOLEDO Scale Model Number (continued)Cross Reference for METTLER TOLEDO Scale Model Number (continued)  
METTLER TOLEDO METTLER TOLEDO 
Scale Model No.Scale Model No.  

METTLER TOLEDO METTLER TOLEDO   
OverhaOverhaul Kitsul Kits  

  
Kit DescriptionsKit Descriptions  

  
PricePrice  

  
PagePage  

4350 083172020 Complete Overhaul Kit -Truck scales, 5-section, steel lever system; 50, 60, 75-ton $6,620.00 1-42 

4350 083855020 Pivot and Bearing Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $4,500.00 1-42 

4350 083856020 Suspension kit - Truck scales, 5-section, 50, 60 & 75-ton $3,500.00 1-42 

4352 083171020 Complete Overhaul Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $4,996.00 1-41 

4352 083853020 Pivot and Bearing Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $3,300.00 1-41 

4352 083851020 Suspension kit  - Truck scales, 4-section, 50, 60, 75-ton $2,800.00 1-41 

4360 083169020 Complete Overhaul Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $6,356.00 1-39 

4360 083850020 Pivot and Bearing Kit - Truck scales, 4-section, cast lever system; 50 & 60-ton $4,660.00 1-39 

4360 083851020 Suspension kit  - Truck scales, 4-section, 50 & 60-ton $2,800.00 1-39 

4360 083171020 Complete Overhaul Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $4,996.00 1-41 

4360 083853020 Pivot and Bearing Kit - Truck scales, 4-section, steel lever system; 50, 60, 75-ton $3,300.00 1-41 

4360 083851020 Suspension kit  - Truck scales, 4-section, 50, 60, 75-ton $2,800.00 1-41 

4360 083170020 Complete Overhaul Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $7,945.00 1-40 

4360 082858020 Pivot and Bearing Kit - Truck scales, 5-section, cast lever system; 50 & 60-ton $5,825.00 1-40 

4360 083856020 Suspension kit - Truck scales, 5-section, 50 & 60-ton $3,500.00 1-40 

4360 083172020 Complete Overhaul Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $6,620.00 1-42 

4360 083855020 Pivot and Bearing Kit - Truck scales, 5-section, steel lever system; 50, 60, 75-ton $4,500.00 1-42 

4360 083856020 Suspension kit - Truck scales, 5-section, 50, 60, 75-ton $3,500.00 1-42 

840 083884020 Railroad & truck scale, 4-section, 50-ton/section $3,850.00 1-64 

840 083885020 Railroad & truck scale, 4-section, 75-ton/section $6,500.00 1-65 

840 083886020 Railroad & truck scale, 4-section, 100-ton/section $6,800.00 1-66 

8800 082076020 Bench dial scales $   193.00 1-19 

8800 083815020 Bench dial scales (stainless steel) $   300.00 1-19 
 
 
 
Note: Complete Overhaul Kits are a combination of a pivot and bearing kit and a suspension kit (excluding any overlapping parts).    
 
 
 
 
 



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-6 

 

Cross Reference for METTLER TOLEDO Main Lever Casting NumberCross Reference for METTLER TOLEDO Main Lever Casting Number  
  

Main LeverMain Lever  
  

Kit DescriptionKit Description  
METTLER TOLEDOMETTLER TOLEDO  

Complete Overhaul Kit NoComplete Overhaul Kit No..  
METTLER TOLEDOMETTLER TOLEDO  

Pivot and Bearing Kit No.Pivot and Bearing Kit No.  
METTLER TOLEDOMETTLER TOLEDO  
Suspension Kit No.Suspension Kit No.  

  
PagePage  

21601 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

21602 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

21814 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

21815 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

22129 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

22130 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

22134 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

22135 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

23476 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

23479 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

23633 Truck scales, 2-section, cast lever system; 20-ton 083165020 083844020 083846020 1-35 

23644 Truck scales, 2-section, cast lever system; 15-ton 083163020 083841020 083843020 1-33 

23652 Truck scales, 4-section, cast lever system; 50 & 60-ton 083169020 083850020 083851020 1-39 

23652 Truck scales, 5-section, cast lever system; 50 & 60-ton 083170020 082858020 083856020 1-40 

23652 Truck scales, 2-section, cast lever system; 30-ton 083167020 083847020 083849020 1-37 

25065 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

25066 Livestock & built-in scales (stainless steel) N/A 083837020 or 083838020 N/A 1-31 

38388 Truck scales, 4-section, cast lever system; 50 & 60-ton 083169020 083850020 083851020 1-39 

38388 Truck scales, 5-section, cast lever system; 50 & 60-ton 083170020 082858020 083856020 1-40 

47258 Truck scales, 4-section, steel lever system; 50, 60, 75-ton 083171020 083853020 083851020 1-41 

47258 Truck scales, 5-section, steel lever system, 50, 60 & 75-ton 083172020 083855020 083856020 1-42 

47258 Truck scales, 2-section, steel lever system; 30-ton 083168020 083848020 083849020 1-38 

47259 Truck scales, 4-section, steel lever system; 50, 60, 75-ton 083171020 083853020 083851020 1-41 

47259 Truck scales, 5-section, steel lever system, 50, 60 & 75-ton 083172020 083855020 083856020 1-42 

47260 Truck scales, 2-section, steel lever system; 20-ton 083166020 083845020 083846020 1-36 

47261 Truck scales, 2-section, steel lever system; 15-ton 083164020 083842020 083843020 1-34 

  



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 1-7 

  

Cross Reference for METTLER TOLEDO Part NuCross Reference for METTLER TOLEDO Part Numbersmbers  

METTLER TOLEDO Part No.METTLER TOLEDO Part No.  Price Price   Page(s)Page(s)  
003322050 $    0.90 1-67 

00401800A $    9.00 1-30 

00402000A $  56.00 1-26, 1-28  

00533407A $  28.00 1-31 

00535007A $  31.00 1-31 

006008050 $  18.00 1-15 

00736900A $  18.00 1-11, 1-12, 1-13, 1-16, 1-17, 1-19, 1-22, 1-23 

00741000A $  28.00 1-55, 1-56, 1-60, 1-61 

007967050 $  10.00 1-31 

00861800B $  12.00 1-21, 1-24 

00861900A $    7.00 1-21, 1-24 

008631020 $  37.00 1-21, 1-24 

008946020 $  32.00 1-31 

00909400A $  19.00 1-67 

00909500A $  19.00 1-67 

009122130 $    2.50 1-67 

009123130 $    5.50 1-67 

010256020 $  50.00 1-14 

010504020 $  18.00 1-11, 1-12, 1-13, 1-18 

011780020 $  27.00 1-18 

014661020 $  33.00 1-17, 1-19, 1-22, 1-23 

014662160 $  18.00 1-18, 1-20, 1-24, 1-25, 1-26, 1-27, 1-28, 1-43, 1-44, 1-53, 1-54 

01476400C $  34.00 1-24 

014772020 $  56.00 1-19, 1-22 

016157020 $  24.00 1-11, 1-12, 1-13, 1-14 

016381160 $  30.00 1-14 

01674200A $  18.00 1-11, 1-12, 1-13, 1-14, 1-18 

017211160 $  25.00 1-30 

017214050 $  32.00 1-30 

017215050 $  25.00 1-30 
01723100A $  26.00 1-11, 1-12, 1-13, 1-20, 1-21, 1-24, 1-25, 1-26, 1-28, 1-29, 1-30, 1-31, 1-32, 1-33 1-34, 1-35, 1-36, 1-37, 1-38, 1-39, 1-40, 1-41, 

1-42, 1-43, 1-44, 1-45, 1-46, 1-47, 1-53, 1-54 

017251020 $  24.00 1-12, 1-13, 1-18, 1-20, 1-21, 1-24, 1-25, 1-26, 1-27, 1-28, 1-30, 1-31, 1-43, 1-44, 1-53, 1-54 

01780600A $  18.00 1-11, 1-12, 1-13, 1-21, 1-24, 1-31, 1-32 

017871020 $  35.00 1-11, 1-12, 1-13, 1-17 

017918020 $  18.00 1-15, 1-19, 1-20, 1-22, 1-23, 1-28, 1-29, 1-32, 1-54 

018399020 $  52.00 1-30 

019539160 $  28.00 1-28, 1-43, 1-44 

01965200A $  25.00 1-29, 1-31, 1-32, 1-39, 1-40, 1-41, 1-42, 1-45, 1-46, 1-47, 1-64 

019837020 $  89.00 1-26, 1-28 

019838020 $  28.00 1-19, 1-22, 1-23 

019839020 $  30.00 1-18 

019844020 $  30.00 1-20, 1-21, 1-24, 1-25, 1-26, 1-28, 1-29, 1-31, 1-32, 1-53, 1-54 

019845020 $  33.00 1-18, 1-20, 1-21, 1-24, 1-25, 1-26, 1-27, 1-28, 1-31, 1-53, 1-54 

01984600A $  35.00 1-21, 1-24, 1-31, 1-32 

021620020 $  32.00 1-31, 1-34, 1-36, 1-38, 1-41, 1-42, 1-50, 1-51, 1-52 

021743020 $  27.00 1-18, 1-20 

021744020 $  22.00 1-18, 1-20 

021745020 $  56.00 1-21, 1-24 

021747020 $  59.00 1-19, 1-22, 1-23 

021748020 $  76.00 1-19, 1-22 

021753020 $  31.00 1-19, 1-20, 1-22, 1-23, 1-28, 1-29, 1-32, 1-54 

021754020 $  41.00 1-21, 1-24 

021755020 $  28.00 1-18, 1-20, 1-24, 1-25, 1-26, 1-27, 1-28, 1-53, 1-54 

022063020 $  51.00 1-55, 1-56, 1-60, 1-61 

 



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-8 

Cross Reference for METTLER TOLEDO Part Numbers (continued)Cross Reference for METTLER TOLEDO Part Numbers (continued)  
METTLER TOLEDO Part No.METTLER TOLEDO Part No.  Price Price   Page(s)Page(s)  

02246100A $  42.00 1-32, 1-34, 1-36, 1-38, 1-39, 1-40, 1-41, 1-42, 1-45, 1-46, 1-47, 1-49, 1-50, 1-51, 1-52, 1-56, 1-61, 1-62 

022501020 $  33.00 1-39, 1-40, 1-41, 1-42, 1-64 

022503020 $175.00 1-39, 1-40 

022507020 $108.00 1-32, 1-39, 1-40, 1-41, 1-42 

022535020 $  31.00 1-12, 1-13, 1-25, 1-27, 1-28, 1-29, 1-32, 1-33, 1-34, 1-35, 1-36, 1-37, 1-38, 1-39, 1-40, 1-41, 1-42, 1-43,  
1-44, 1-45, 1-46, 1-47, 1-53, 1-54 

022544020 $  42.00 1-29, 1-32, 1-42 

022906160 $  51.00 1-29 

023013020 $  83.00 1-31, 1-40 

023116020 $  26.00 1-18 

023153020 $  31.00 1-15, 1-21, 1-24, 1-26, 1-28 

02327507A $  39.00 1-33, 1-34, 1-35, 1-36, 1-38, 1-50, 1-51 

023282050 $  39.00 1-33, 1-34, 1-35, 1-36, 1-37, 1-38, 1-48, 1-49 

02344307A $  44.00 1-37, 1-39, 1-40, 1-41, 1-42, 1-52 

023603320 $110.00 1-35, 1-36, 1-51 

023607800 $105.00 1-35, 1-37, 1-39, 1-40 

023608320 $  55.00 1-33, 1-34, 1-35, 1-36 

023609320 $  60.00 1-33, 1-34, 1-35, 1-36 

023610320 $111.00 1-35, 1-37, 1-39, 1-40 

023615020 $  89.00 1-33, 1-35, 1-37 

023616320 $105.00 1-33, 1-35, 1-37 

023620020 $  32.00 1-33, 1-34, 1-35, 1-36, 1-37, 1-38, 1-48, 1-49 

023622320 $  73.00 1-33, 1-34, 1-35, 1-36, 1-37, 1-38, 1-39, 1-40, 1-41, 1-42, 1-50, 1-51, 1-52 

023624020 $  80.00 1-33, 1-35 

023631020 $  59.00 1-33, 1-35, 1-37 

023651320 $110.00 1-33, 1-34, 1-50 

023662320 $138.00 1-37, 1-38, 1-39, 1-40, 1-41, 1-42, 1-52 

023667320 $  88.00 1-37, 1-38, 1-39, 1-40, 1-41, 1-42 

023668320 $  75.00 1-37, 1-38, 1-39, 1-40, 1-41, 1-42 

023669320 $111.00 1-37, 1-39, 1-40 

023674020 $  72.00 1-37, 1-39, 1-40 

023829020 $  37.00 1-34, 1-36, 1-37, 1-38, 1-39, 1-40, 1-41, 1-42, 1-50, 1-51, 1-52 

023940020 $  56.00 1-43, 1-45 

023941020 $  48.00 1-39, 1-40, 1-41, 1-42, 1-44, 1-45, 1-46, 1-47, 1-65, 1-66 

023942020 $  76.00 1-45, 1-46, 1-47 

023943020 $105.00 1-46, 1-47 

023944160 $  47.00 1-42, 1-43, 1-44, 1-45, 1-48, 1-55, 1-60, 1-65, 1-66 

023945160 $107.00 1-46 

023947050 $    5.00 1-53 

023975160 $  49.00 1-47 

023976020 $  54.00 1-34, 1-36, 1-38, 1-48, 1-49 

023977020 $  97.00 1-48, 1-49 

024321020 $  10.00 1-53, 1-54 

024601020 $  51.00 1-11, 1-12, 1-13 

024603020 $  52.00 1-19, 1-22, 1-23 

024605020 $  46.00 1-19, 1-23 

024609020 $  52.00 1-11, 1-12, 1-13 

024793020 $  70.00 1-19, 1-22, 1-23 

024794020 $  59.00 1-19, 1-23 

02488000A $  45.00 1-25, 1-27 

024899020 $  48.00 1-25, 1-27 

025648020 $  31.00 1-30 

025649020 $  56.00 1-30 

025748020 $127.00 1-29 

026829020 $  10.00 1-55, 1-56, 1-57, 1-58, 1-59, 1-60, 1-61, 1-62, 1-63 

027184020 $  26.00 1-14 

 



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 1-9 

Cross Reference for METTLER TOLEDO Part Numbers (continued)Cross Reference for METTLER TOLEDO Part Numbers (continued)  
METTLER TOMETTLER TOLEDO Part No.LEDO Part No.  Price Price   Page(s)Page(s)  

028799020 $  41.00 1-25, 1-27, 1-28, 1-43, 1-44 

028819020 $    4.00 1-67 

028820020 $    4.00 1-67 

028832020 $    4.60 1-67 

028837020 $  88.00 1-67 

028841020 $    5.00 1-67 

029433020 $  65.00 1-25, 1-27 

029675020 $  42.00 1-29, 1-31 

030170020 $  77.00 1-11, 1-12, 1-13 

032343020 $  49.00 1-20, 1-24 

032344020 $  65.00 1-20, 1-24 

034822030 $  49.00 1-67 

036018020 $  65.00 1-25, 1-27, 1-28, 1-29, 1-32, 1-53, 1-54 

039154800 $  27.00 1-34, 1-36, 1-38, 1-41, 1-42, 1-50, 1-51, 1-52 

039285160 $  39.00 1-34, 1-36, 1-38, 1-41, 1-42 

039770020 $  42.00 1-28 

039773020 $  60.00 1-27, 1-28 

039805020 $  65.00 1-25, 1-27 

039806020 $  82.00 1-25, 1-27 

039807020 $  76.00 1-25, 1-27 

039924160 $  66.00 1-57, 1-58, 1-62, 1-63 

039926020 $  41.00 1-57, 1-58, 1-62, 1-63 

039947050 $  27.00 1-56, 1-57, 1-62 

039952160 $119.00 1-50, 1-51, 1-58, 1-59, 1-63 

039955020 $  56.00 1-58, 1-59, 1-63, 1-64 

039956020 $  35.00 1-48, 1-55, 1-60 

039957020 $  39.00 1-49, 1-56, 1-57, 1-61, 1-62 

046189160 $  33.00 1-63, 1-64, 1-65, 1-66 

046190160 $  37.00 1-59, 1-65, 1-66  

04689900A $  52.00 1-34, 1-36, 1-38, 1-41, 1-42, 1-52 

04723800A $  48.00 1-36, 1-51, 1-64, 1-65, 1-66 

04724100A $  44.00 1-34, 1-50, 1-64, 1-65, 1-66 

047561050 $  10.00 1-17 

04757200A $  16.00 1-17 

047574050 $  17.00 1-17 

047581050 $  14.00 1-17 

049809020 $  37.00 1-15 

049811020 $  28.00 1-15 

049820020 $  18.00 1-15 

049827020 $  18.00 1-15 

049839020 $  32.00 1-15, 1-16 

049854020 $  32.00 1-15, 1-16 

04986200A $    9.00 1-15, 1-16 

072294020 $  62.00 1-65, 1-66 

072315800 $  42.00 1-65, 1-66 

072369800 $  42.00 1-64 

072422020 $193.00 1-65 

073162020 $  86.00 1-64 

073672020 $  82.00 1-64 

073687020 $146.00 1-66 

075564020 $  41.00 1-20 

075565020 $  27.00 1-17, 1-20 

075936020 $  23.00 1-14 

075997020 $  44.00 1-21, 1-24, 1-26, 1-28 

07712600A $  43.00 1-50, 1-51 

077195160 $  52.00 1-52 

 



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-10 

Cross Reference for METTLER TOLEDO Part Numbers (continued)Cross Reference for METTLER TOLEDO Part Numbers (continued)  
METTLER TOLEDO Part No.METTLER TOLEDO Part No.  Price Price   Page(s)Page(s)  

080261020 $  12.00 1-16 

080284020 $  18.00 1-16 

092960320 $  62.00 1-33, 1-34, 1-35, 1-36, 1-37, 1-38, 1-48, 1-49 

12765100A $    9.00 1-16 

12769800A $  24.00 1-16 

12769900A $  21.00 1-16 

12770000A $  24.00 1-16 

12824100A $    5.00 1-16 

12824400A $  19.00 1-67 

A01721200A $  26.00 1-21, 1-24, 1-30 

A01721300A $  29.00 1-29, 1-30, 1-31, 1-39, 1-40, 1-45, 1-48, 1-49 

KA008266020 $168.00 1-29 

KA037786020 $136.00 1-29, 1-32 

KA065922020 $  43.00 1-29, 1-31, 1-32 

KA075449020 $  10.00 1-53 
R0065300A $    2.00 1-31 

R01891020 $    1.00 1-56, 1-57, 1-62 
 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-11 

 

 

CabinetCabinet  Models: 2000 Series (Gray Line) and Models: 2000 Series (Gray Line) and   
    31 Series (Black Line)31 Series (Black Line)  

36" Cabinet Dial, Head #34 or #35 
Pendulum and Tare Levers Only 

 

Pivot and BearingPivot and Bearing Kit # 083800020Kit # 083800020.................................................................................................................... Total Kit Price  $ 342.00Total Kit Price  $ 342.00  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
AA  010504020 Bearing, pivot 41/64" diameter 2 18.00 
AA  01780600A Bearing, pivot, 1 5/32" diameter 2 18.00 
BB  00736900A Bearing, 1/2" x 1/2" x 1/2" L 2 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
CC  01674200A Bearing, 3/8" thick x 3/8" x 3/8" L 1 18.00 
DD  016157020 Pivot, 1/4" x 1 1/16" L (pivot edge 13/32") 1 24.00 
DD  017871020 Pivot, 3/8" diameter x 1 5/16" L  (pivot edge 17/32") 1 35.00 
EE  024601020 Pivot, 3/8" x 2 9/16" L 1 51.00 
EE  024609020 Pivot, 5/8" x 3 1/2" L 1 52.00 
EE  030170020 Pivot, 3/4" x 6 1/2" L 2 77.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

010504020, 01780600A 
 

00736900A, 01723100A 
 

 

01674200A 016157020, 017871020 
 

024601020, 024609020 
030170020 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-12 

 

 

Models: 2000 Series (Gray Line) and Models: 2000 Series (Gray Line) and   
31 Series (Black Line)31 Series (Black Line)  CabinetCabinet  
36" Cabinet Dial  
Head #34 - Pendulum, Tare and Single Bench Lever (Straight Weighing) 
 
 

Pivot and BearingPivot and Bearing Kit # 083802020Kit # 083802020 .................................................................................................................. Total Kit Price  $ 450.00Total Kit Price  $ 450.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  010504020 Bearing, pivot 41/64" diameter 2 18.00 
AA  01780600A Bearing, pivot, 1 5/32" diameter 2 18.00 
BB  00736900A Bearing, 1/2" x 1/2" x 1/2" L 2 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 9 26.00 
CC  01674200A Bearing, 3/8" thick x 3/8" x 3/8" L 1 18.00 
DD  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 1 24.00 
DD  017871020 Pivot, 3/8" diameter x 1 5/16" L  (pivot edge 17/32") 1 35.00 
DD  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 2 31.00 
EE  016157020 Pivot, 1/4" x 1 1/16" L (pivot edge 13/32") 1 24.00 
FF  024601020 Pivot, 3/8" x 2 9/16" L 1 51.00 
FF  024609020 Pivot, 5/8" x 3 1/2" L 1 52.00 
FF  030170020 Pivot, 3/4" x 6 1/2" L 2 77.00 

 
AA  

  

BB  

  

CC  

  

DD  
  

  

EE  
  

  
010504020, 01780600A 00736900A, 01723100A 

 
01674200A 

 
017251020, 017871020 

022535020 
016157020 

FF  

  

        

024601020, 024609020  
030170020  

    

M
ETTLER TO

M
ETTLER TO

LED
O

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-13 

 

 

CabinetCabinet  Models: 2000 Series (Gray Line) and Models: 2000 Series (Gray Line) and   
  31 Series (Black Line)31 Series (Black Line)  

36" Cabinet, Head #34 
Pendulum, Tare and Double Bench Lever (Straight Weigh) 

 

Pivot and BearingPivot and Bearing Kit # 083804020Kit # 083804020 ........................................................................................ Total Kit Price  $ 575.00Total Kit Price  $ 575.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  010504020 Bearing, pivot 41/64" diameter 2 18.00 
AA  01780600A Bearing, pivot, 1 5/32" diameter 2 18.00 
BB  00736900A Bearing, 1/2" x 1/2" x 1/2" L 2 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 17 26.00 
CC  01674200A Bearing, 3/8" thick x 3/8" x 3/8" L 1 18.00 
DD  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 1 24.00 
DD  017871020 Pivot, 3/8" diameter x 1 5/16" L  (pivot edge 17/32") 1 35.00 
DD  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 5 31.00 
EE  016157020 Pivot, 1/4" x 1 1/16" L (pivot edge 13/32") 1 24.00 
FF  024601020 Pivot, 3/8" x 2 9/16" L 1 51.00 
FF  024609020 Pivot, 5/8" x 3 1/2" L 1 52.00 
FF  030170020 Pivot, 3/4" x 6 1/2" L 2 77.00 

 
AA  

  

BB  

  

CC  

  
  

DD  
  

  

EE  
  

  

010504020, 01780600A 00736900A, 01723100A 
 

01674200A 017251020, 017871020 
022535020 

016157020 
 

FF  

  

        

024601020, 024609020 
030170020  

    

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-14 

 

 

Models: 1020, 1030, 1040, 4020, 4030 and 4040Models: 1020, 1030, 1040, 4020, 4030 and 4040  Bench ScaleBench Scale  
Computagram 
 

 

Pivot and BearingPivot and Bearing Kit # 083808020Kit # 083808020 ..........................................................................................Total Kit Price  $ 6Total Kit Price  $ 625.0025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01674200A Bearing, 3/8" thick x 3/8" x 3/8" L 2 18.00 
BB  075936020 Pivot, tapered, 1/4" diameter x 7/16" x 1 21/32" L 10 23.00 
CC  027184020 Bearing, pivot, 5/8" diameter 10 26.00 
DD  016157020 Pivot, 1/4" x 1 1/16" L (pivot edge 13/32") 4 24.00 
EE  010256020 Pivot, pendulum, 5/32" x 5/16" x 2 9/16" L 1 50.00 
FF  016381160 Bearing, 1/4" x 3/8" x 3/8" L 1 30.00 

 
AA  

  

BB  
  

  

CC  

  

DD  
  

  

EE  

  

01674200A 075936020 027184020 016157020 010256020 

FF  

  

        

 
016381160 

    

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-15 

 

 

Portable Beam ScalePortable Beam Scale   Model: 4180 Model: 4180  
    

 
 

 

Pivot and Bearing Kit # 083809020Pivot and Bearing Kit # 083809020 ........................................................................................ ToTotal Kit Price  $ 450.00tal Kit Price  $ 450.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  017918020 Bearing, pivot, 7/8" diameter 2 18.00 
BB  023153020 Pivot, tapered, 1/2" diameter x 13/16" x 2 3/4" L 8 31.00 
CC  049809020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 1 37.00 
DD  049811020 Pivot, 5/16" x 1 1/16" L (pivot edge 3/4") 2 28.00 
EE  049839020 Pivot, 5/16" x 1 5/16" L (pivot edge 9/16") 1 32.00 
EE  049854020 Pivot, 5/16" x 2 1/8" L (pivot edge 9/16") 2 32.00 
FF  006008050 Loop and bearing assembly, 1 31/32" x 15/16" W 4 18.00 
GG  049820020 Loop pin, 5/16" x 2 5/16"L 4 18.00 
HH  049827020 Bearing, 3/4" x 3/16" x 2"L 2 18.00 
II  04986200A Loop tip, 1 3/4" x 1" W 1 9.00 

 
AA  

  

BB  
  

  

CC  
  

  
  

DD  
  

  

EE  
  

  

017918020 023153020 
 

049809020 049811020 049839020, 049854020 

FF  

  

GG  

  

HH  

  

II  

  

  
  

006008050 049820020 049827020 04986200A  
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-16 

 

 

Model: 4181Model: 4181 Portable BeamPortable Beam  
 
 
 

 
 

Pivot and BearingPivot and Bearing Kit # 083810020Kit # 083810020 .......................................................................................... Total Kit Price $ 250.00Total Kit Price $ 250.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  00736900A Bearing, 1/2" x 1/2" x 1/2" L 4 18.00 
BB  049839020 Pivot, 5/16" x 1 5/16" L (pivot edge 9/16") 1 32.00 
BB  049854020 Pivot, 5/16" x 2 1/8" L (pivot edge 9/16") 2 32.00 
CC  080261020 Pivot, 5/16" SQ x 1 5/8" L 11 12.00 
DD  12765100A Bearing, 3/16" thick x 3/4" x 1 5/16" L 4 9.00 
EE  12770000A Loop assembly, 3/16" x 2 1/8" x 3 1/2" L 1 24.00 
FF  12769800A Hook assembly, 3/16" x 2 1/8" X 4 3/4" L 2 24.00 
FF  12769900A Hook assembly, 3/16" x 2 1/8" X 2 7/8" L 2 21.00 
GG  12824100A Support hook, 5/16" diameter x 1/4" L 4 5.00 
HH  080284020 Hook 1 18.00 
II  04986200A Loop tip, 1 3/4" x 1" W 1 9.00 

 
AA  

  

BB  

  

CC  

  
  

DD  

  

EE  

  
00736900A 049839020, 049854020 080261020 12765100A  12770000A  

  
FF  

  

  
GG  

  

  
HH  

  

  
II  

  

  
  

12769800A, 12769900A  
 

12824100A 080284020 04986200A  

 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-17 

 

 

Bench ScaleBench Scale  Model: Model: 20202020  
 
 

 
 

 

Pivot and Bearing Kit # 083811020Pivot and Bearing Kit # 083811020 ........................................................................................ Total Kit Price  $ 250.00Total Kit Price  $ 250.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  00736900A Bearing, 1/2" x 1/2" x 1/2" L 3 18.00 
BB  075565020 Pivot, tapered, 13/32" diameter x 5/8" x 2" L 8 27.00 
CC  014661020 Pivot, 1/2" diameter x 1 9/16" L  (pivot edge 17/32") 2 33.00 
CC  017871020 Pivot, 3/8" diameter x 1 5/16" L  (pivot edge 17/32") 1 35.00 
DD  047561050 Bearing, 1 3/32" L 4 10.00 
EE  04757200A Link and bearing assembly, 2 1/16" L 4 16.00 
FF  047581050 U-bolt, 3/16" diameter x 7/8" L 2 14.00 
GG  047574050 U-bolt, 3/16" diameter x 2 1/2" L 2 17.00 

    
AA  

  

BB  
  

  

CC  

  
  

DD  
  

  

EE  

  
00736900A 075565020 

 
014661020, 017871020 

 
047561050 04757200A 

  
FF  

  

  
GG  

  

      
  

047581050 047574050    
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-18 

 

 

Models: 0860, 0869, 31Models: 0860, 0869, 31--0840, 340840, 34--0850 0850  Bench ScaleBench Scale  
and 34and 34--0860 (Black Line)0860 (Black Line)  
 

 

Pivot and BearingPivot and Bearing Kit # 083812020Kit # 083812020 .......................................................................................... TotalTotal Kit Price $ 625.00 Kit Price $ 625.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  010504020 Bearing, pivot 41/64" diameter 10 18.00 
BB  014662160 Bearing, 1/2" x 1/2" x 13/16" L 5 18.00 
CC  01674200A Bearing, 3/8" thick x 3/8" x 3/8" L 1 18.00 
DD  011780020 Pivot, tapered shank, 17/64" diameter x 29/64" x 1 17/32" L 10 27.00 
EE  021744020 Link, SS, 1" x 4 3/8" L 8 22.00 
FF  021743020 Bar, link, SS, 7/16" diameter x 2 5/16" L 8 27.00 
GG  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 5 24.00 

Pivot and Bearing Kit # 083813020Pivot and Bearing Kit # 083813020 (Stainless Steel) (Stainless Steel).......................................... Total Kit Price  $1,099.00Total Kit Price  $1,099.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  019839020 Bearing, pivot, SS, 41/64" diameter 10 30.00 
BB  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 5 28.00 
CC  023116020 Bearing, SS, 3/8" thick x 3/8" x 3/8" L 1 26.00 
EE  021744020 Link, SS, 1" x 4 3/8" L 8 22.00 
FF  021743020 Bar, link, SS, 7/16" diameter x 2 5/16" L 8 27.00 
GG  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 5 33.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  
  

  

010504020, 019839020 014662160, 021755020 01674200A, 023116020 011780020 021744020 

  
FF  

  

  
GG  

  

      
  

021743020 
017251020, 019845020 

   
 

          

     

          
     

 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-19 

 

 

Bench ScaleBench Scale  Models: Models: 8800, 318800, 31--0840, 310840, 31--0850, 310850, 31--18001800  
  and and 3131--1900 (Black Line)1900 (Black Line)  

Tare Lever System 
 

Pivot and Bearing Kit # 082076020Pivot and Bearing Kit # 082076020 ........................................................................................ Total Kit Price  $ 193.00Total Kit Price  $ 193.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  017918020 Bearing, pivot, 7/8" diameter 2 18.00 
BB  00736900A Bearing, 1/2" x 1/2" x 1/2" L 3 18.00 
CC  014661020 Pivot, 1/2" diameter x 1 9/16" L  (pivot edge 17/32") 1 33.00 
DD  014772020 Pivot, 1/2" diameter x 2 29/32" L 1 56.00 
EE  024605020 Pivot, 1/2" x 2 9/16" L 1 46.00 
FF  024603020 Pivot, 5/8" x 4 1/8" L 1 52.00 

Pivot and BearingPivot and Bearing Kit # 083815020Kit # 083815020 (Stainless Steel) (Stainless Steel) .............................................. Total Kit PriceTotal Kit Price $ 300.00 $ 300.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  021753020 Bearing, pivot, SS, 7/8" diameter 2 31.00 
BB  019838020 Bearing, SS tapered, 1/2" x 1/2" x 1/2" L 3 28.00 
CC  021747020 Pivot, SS, 1/2" diameter x 1 9/16" L  (pivot edge 17/32") 1 59.00 
DD  021748020 Pivot, SS, 1/2" diameter x 2 29/32" L 1 76.00 
EE  024794020 Pivot, SS 1/2" x 2 9/16" L 1 59.00 
FF  024793020 Pivot, SS, 5/8" x 4 1/8" L 1 70.00 

 
AA  

  

BB  

  

CC  
  

  
  

DD  
  

  

EE  
  

  

017918020, 021753020 00736900A, 019838020 014661020, 021747020 014772020, 021748020 024605020, 024794020 

  

FF  

  

        

024603020, 024793020     

 
M

ET
TL

ER
 T

O
LE

D
O

M
ET

TL
ER

 T
O

LE
D

O
  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-20 

 

 

Models: 2000 Series (Gray Line)Models: 2000 Series (Gray Line) Bench ScaleBench Scale  
  

 
 

Pivot and BearingPivot and Bearing Kit # 083816020Kit # 083816020 ..........................................................................................Total Kit Price  $ 725.00Total Kit Price  $ 725.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  017918020 Bearing, pivot, 7/8" diameter 10 18.00 
BB  014662160 Bearing, 1/2" x 1/2" x 13/16" L 1 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 4 26.00 
CC  075565020 Pivot, tapered, 13/32" diameter x 5/8" x 2" L 10 27.00 
DD  021744020 Link, 1" x 4 3/8" L 8 22.00 
EE  021743020 Bar, link, SS, 7/16" diameter x 2 5/16" L 8 27.00 
FF  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 4 24.00 
GG  032343020 Pivot, 1/4" thick x 1" x 4 1/8" L 1 49.00 

Pivot and BearingPivot and Bearing Kit # 083817020 (Stainless Steel)Kit # 083817020 (Stainless Steel) .............................................. Total Kit Price $ 975.00Total Kit Price $ 975.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  021753020 Bearing, pivot, SS, 7/8" diameter 10 31.00 
BB  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 4 30.00 
BB  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 1 28.00 
CC  075564020 Pivot, Tapered SS, 13/32" Diameter x 5/8" x 2" L 10 41.00 
DD  021744020 Link, 1" x 4 3/8" L 8 22.00 
EE  021743020 Bar, link, SS, 7/16" diameter x 2 5/16" L 8 27.00 
FF  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 4 33.00 
GG  032344020 Pivot, SS, 1/4" thick x 1" x 4 1/8" L 1 65.00 

 
AA  

  

BB  

  

CC  
  

  
  

DD  
  

  

EE  
  

  
017918020, 021753020 014662160, 01723100A 

019844020, 021755020 
075564020, 075565020 021744020 021743020 

FF  

  

GG  

  

      

017251020, 019845020 032343020, 032344020    
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-21 

 

 

Portable ScalePortable Scale  Models: 31Models: 31--1800 and 311800 and 31--1890 (Black Line)1890 (Black Line)  
 
 
 

 

Pivot and Bearing Kit # 083818020Pivot and Bearing Kit # 083818020 ............................................................................................Total Kit Price  $ 510.00Total Kit Price  $ 510.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01780600A Bearing, pivot, 1 5/32" diameter 8 18.00 
BB  A017212020 Bearing, 3/4" x 5/8" x 1 15/16" L 1 26.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
CC  023153020 Pivot, tapered, 1/2" diameter x 13/16" x 2 3/4" L 8 31.00 
DD  00861900A Pin, 5/16" diameter x 1" L 8 7.00 
EE  00861800B Link, suspension bearing 5/16" thick x 2 1/4" L 8 12.00 
FF  008631020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 1 37.00 
GG  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 

Pivot and BearingPivot and Bearing Kit # 083819020 (Stainless Steel)Kit # 083819020 (Stainless Steel) .............................................. Total Kit Price $ 900.00Total Kit Price $ 900.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part Part NumberNumber  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01984600A Bearing, SS, pivot, 1 5/32" diameter 8 35.00 
BB  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 1 30.00 
BB  021754020 Bearing, SS, 5/8" x 3/4" x 1 15/16" L 2 41.00 
CC  075997020  Pivot, tapered, SS,1/2" diameter x 13/16" x 2 3/4" L 8 44.00 
EE  00861800B Link, suspension bearing 5/16" thick x 2 1/4" L 8 12.00 
FF  021745020 Pivot, SS,19/32" diameter x 4 1/8" L 1 56.00 
GG  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 33.00 

 
AA  

  

BB  

  

CC  
  

  
  

DD  
  

  

EE  

  

01780600A, 01984600A A017212020, 01723100A  
019844020, 021754020  

023153020, 075997020  00861900A  
 

00861800B 

FF  

  

GG  

  

      

008631020, 021745020 017251020, 019845020    
 
 
 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-22 

 

 

Models:Models: 3131--1800 and 311800 and 31--1890 (Black Line)1890 (Black Line) Portable ScalePortable Scale  
100 and 125 lb 
Tare Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083820020Kit # 083820020 ..........................................................................................Total Kit Price  $ Total Kit Price  $ 155.00155.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  017918020 Bearing, pivot, 7/8" diameter 2 18.00 
BB  00736900A Bearing, 1/2" x 1/2" x 1/2" L 3 18.00 
CC  014661020 Pivot, 1/2" diameter x 1 9/16" L  (pivot edge 17/32") 1 33.00 
DD  014772020 Pivot, 1/2" diameter x 2 29/32" L 1 56.00 
EE  024603020 Pivot, 5/8" x 4 1/8" L 1 52.00 

Pivot and BearingPivot and Bearing Kit # 083821020 (Stainless SKit # 083821020 (Stainless Steel)teel) .............................................. Total Kit Price $ 315.00Total Kit Price $ 315.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  021753020 Bearing, pivot, SS, 7/8" diameter 2 31.00 
BB  019838020 Bearing, SS tapered, 1/2" x 1/2" x 1/2" L 3 28.00 
CC  021747020 Pivot, SS, 1/2" diameter x 1 9/16" L  (pivot edge 17/32") 1 59.00 
DD  021748020 Pivot, SS, 1/2" diameter x 2 29/32" L 1 76.00 
EE  024793020 Pivot, SS, 5/8" x 4 1/8" L 1 70.00 

 
AA  

  

BB  

  

CC  

  
  

DD  

  

EE  

  

017918020, 021753020 00736900A, 019838020 
 

014661020, 021747020 
 

014772020, 021748020 
 

024603020, 024793020 

 
 

    
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-23 

  
 

 

Portable ScalePortable Scale  Models: 31Models: 31--1800 and 311800 and 31--1890 (Black Line)1890 (Black Line)  
200 - 1,000 lb 
Tare Lever System 

 
 
 

Pivot and BearingPivot and Bearing Kit # 083822020Kit # 083822020 ........................................................................................ Total Kit Price  $ 170.00Total Kit Price  $ 170.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  017918020 Bearing, pivot, 7/8" diameter 2 18.00 
BB  00736900A Bearing, 1/2" x 1/2" x 1/2" L 3 18.00 
CC  014661020 Pivot, 1/2" diameter x 1 9/16" L  (pivot edge 17/32") 1 33.00 
DD  024605020 Pivot, 1/2" x 2 9/16" L 1 46.00 
EE  024603020 Pivot, 5/8" x 4 1/8" L 1 52.00 

Pivot and BearingPivot and Bearing Kit # 083823020 (Stainless Steel)Kit # 083823020 (Stainless Steel) .............................................. Total Kit Price $ 275.00Total Kit Price $ 275.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  021753020 Bearing, pivot, SS, 7/8" diameter 2 31.00 
BB  019838020 Bearing, SS tapered, 1/2" x 1/2" x 1/2" L 3 28.00 
CC  021747020 Pivot, SS, 1/2" diameter x 1 9/16" L  (pivot edge 17/32") 1 59.00 
DD  024794020 Pivot, SS 1/2" x 2 9/16" L 1 59.00 
EE  024793020 Pivot, SS, 5/8" x 4 1/8" L 1 70.00 

    
AA  

  

BB  

  

CC  
  

  

DD  
  

  

EE  
  

  

017918020, 021753020 00736900A, 019838020 
 

014661020, 021747020 
 

024605020, 024794020 
 

024603020, 024793020 

 
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-24 

 

 

Models:Models: 2181, 2481 and 282181, 2481 and 288181 Portable ScalePortable Scale  
  
 
 

 

Pivot and BearingPivot and Bearing Kit # 085573020Kit # 085573020 ..........................................................................................Total Kit Price  $ 650.00Total Kit Price  $ 650.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01780600A Bearing, pivot, 1 5/32" diameter 8 18.00 
BB  014662160 Bearing, 1/2" x 1/2" x 13/16" L 1 18.00 
BB  A017212020 Bearing, 3/4" x 5/8" x 1 15/16" L 1 26.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 1 26.00 
CC  023153020 Pivot, tapered, 1/2" diameter x 13/16" x 2 3/4" L 8 31.00 
DD  00861900A Pin, 5/16" diameter x 1" L 8 7.00 
EE  00861800B Link, suspension bearing 5/16" thick x 2 1/4" L 8 12.00 
FF  008631020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 1 37.00 
FF  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 1 24.00 
GG  032343020 Pivot, 1/4" thick x 1" x 4 1/8" L 1 49.00 
HH  01476400C Bracket, link, 15/16" x 2 7/8" x 3 1/8" L 4    34.00 

Pivot and BearingPivot and Bearing Kit # 085715020 (Stainless Steel)Kit # 085715020 (Stainless Steel) ............................................ Total Kit Price $ 1050.00Total Kit Price $ 1050.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01984600A Bearing, SS, pivot, 1 5/32" diameter 8 35.00 
BB  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 1 30.00 
BB  021754020 Bearing, SS, 5/8" x 3/4" x 1 15/16" L 1 41.00 
BB  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 1 28.00 
CC  075997020 Pivot, tapered, SS, 1/2" diameter x 13/16" x 2 3/4" L 8 44.00 
EE  00861800B Link, suspension bearing 5/16" thick x 2 1/4" L 8 12.00 
FF  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 1 33.00 
FF  021745020 Pivot, SS, 19/32" diameter x 4 1/8" L 1 56.00 
GG  032344020 Pivot, SS, 1/4" thick x 1" x 4 1/8" L 1 65.00 
HH  01476400C Bracket, link, 15/16" x 2 7/8" x 3 1/8" L 4 34.00 

 
AA  

  

BB  

  

CC  
  

  

DD  
  

  

EE  
  

  
01780600A, 01984600A 014662160, A017212020 

01723100A, 019844020 
021754020, 021755020 

023153020, 075997020 
 

00861900A 
 
 

00861800B 

FF  

  

GG  

  

HH  

  

    

008631020, 017251020 
019845020, 021745020 

032343020, 032344020 01476400C 
 

  

 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-25 

 

 

Overhead Track ScaleOverhead Track Scale  Models: 31Models: 31--Series (Black Line)Series (Black Line)  
8" Pattern 
Stand and Suspended Scale 

 
 

Pivot and Bearing Kit # 083826020Pivot and Bearing Kit # 083826020 ........................................................................................ Total Kit Price  $ 685.00Total Kit Price  $ 685.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 6 26.00 
AA  02488000A Bearing, 1 1/4" x 7/8" x 1 1/2" L 4 45.00 
BB  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 
BB  028799020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 2 41.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
DD  024899020 Pivot, 7/8" x 3 1/8" L  (pivot edge 1 33/64") 8 48.00 
EE  029433020 Bearing, pivot, 1 15/32" diameter 4 65.00 

Pivot and BearingPivot and Bearing Kit # 083827020 (Stainless Steel)Kit # 083827020 (Stainless Steel) .............................................. Total Kit Price $ 925.00Total Kit Price $ 925.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 6 30.00 
AA  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 2 28.00 
AA  039807020 Bearing, SS, 1 1/4" x 7/8" x 1 1/2" L 4 76.00 
BB  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 33.00 
CC  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 65.00 
DD  039805020 Pivot, SS, 7/8" x 3 1/8" L  (pivot edge 1 33/64") 8 65.00 
EE  039806020 Bearing, pivot, SS, 1 15/32" diameter 4 82.00 

    
AA  

  

BB  
  

  

CC  
  

  
  

DD  
  

  

EE  

  

014662160, 01723100A 
019844020, 021755020 
02488000A, 039807020 

017251020, 019845020 
028799020 

 
 

022535020, 036018020 
 

024899020, 039805020 
 
 

029433020, 039806020 

 
M

ET
TL

ER
 T

O
LE

D
O

M
ET

TL
ER

 T
O

LE
D

O
  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-26 

 

 

Models: 31 Series (Black Line)Models: 31 Series (Black Line) Overhead Track ScaleOverhead Track Scale  
20" Pattern  
Stand and Suspended Scale 

  
 

Pivot and Bearing Kit # 083828020Pivot and Bearing Kit # 083828020 .................................................................................................................. Total Kit Price  $ 766.00Total Kit Price  $ 766.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  00402000A Bearing, tapered 7/8" x 7/8" x 1 1/4" L 8 56.00 
AA  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 6 26.00  
BB  023153020 Pivot, tapered, 1/2" diameter x 13/16" x 2 3/4" L 8 31.00 
CC  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 

Pivot and BearingPivot and Bearing Kit # 083829020 (Stainless Steel)Kit # 083829020 (Stainless Steel) .............................................. Total Kit Price $ 900.00Total Kit Price $ 900.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  019837020 Bearing, SS tapered, 7/8" x 7/8" x 1 1/4" L 8 89.00 
AA  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 6 30.00 
AA  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 2 28.00 
BB  075997020 Pivot, tapered, SS, 1/2" diameter x 13/16" x 2 3/4" L 8 44.00 
CC  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 33.00 

AA  

  

BB  

  

CC  

  

  

    

00402000A, 014662160 
01723100A, 019837020 
019844020, 021755020 

 
 

 

023153020, 075997020 
 

017251020, 019845020   

 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-27 

 

 

Overhead Track ScaleOverhead Track Scale  Models: 2212 and 2312Models: 2212 and 2312  
8" Pattern 
2,600 and 3,250 lb 

  
 

Pivot and Bearing Kit # 083830020Pivot and Bearing Kit # 083830020 ................................................................................................................Total Kit Price  $ 685.00Total Kit Price  $ 685.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
AA  02488000A Bearing, 1 1/4" x 7/8" x 1 1/2" L 4 45.00 
BB  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 3 24.00 
BB  028799020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 3 41.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 2 31.00 
DD  024899020 Pivot, 7/8" x 3 1/8" L  (pivot edge 1 33/64") 8 48.00 
EE  029433020 Bearing, pivot, 1 15/32" diameter 4 65.00 

Pivot and BearingPivot and Bearing Kit # 083831020 (Stainless Steel)Kit # 083831020 (Stainless Steel) .............................................. Total Kit Price $ 925.00Total Kit Price $ 925.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 2 28.00 
AA  039807020 Bearing, SS, 1 1/4" x 7/8" x 1 1/2" L 4 76.00 
BB  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 3 33.00 
BB  039773020 Pivot, SS, 19/32 diameter x 4 1/8" L  (pivot edge 2 1/32") 3 60.00 
CC  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 2 65.00 
DD  039805020 Pivot, SS, 7/8" x 3 1/8" L  (pivot edge 1 33/64") 8 65.00 
EE  039806020 Bearing, pivot, SS, 1 15/32" diameter 4 82.00 

 
AA  

  

BB  

  

CC  

  
  

DD  

  

EE  

  
014662160, 021755020 
02488000A, 039807020 

 
 

 

017251020, 019845020 
028799020, 039773020 

 

022535020, 036018020 024899020, 039805020 029433020, 039806020 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice  1-28 

 

 

MoModels: 2250 and 2320 dels: 2250 and 2320   Overhead Track ScaleOverhead Track Scale  
20" Pattern 
1,600 lb 

  
 

Pivot and Bearing Kit # 083832020Pivot and Bearing Kit # 083832020 .................................................................................................................. Total Kit Price  $ 875.00Total Kit Price  $ 875.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  019539160 Bearing, 3/4" x 3/4" x 1" L 1 28.00 
BB  00402000A Bearing, tapered 7/8" x 7/8" x 1 1/4" L 8 56.00 
BB  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
BB    01723100A* Bearing, 5/8" x 3/4" x 13/16" L 3 26.00 
CC    017918020* Bearing, pivot, 7/8" diameter 3 18.00 
DD  023153020 Pivot, tapered, 1/2" diameter x 13/16" x 2 3/4" L 8 31.00 
EE  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 
EE  028799020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 3 41.00 
FF  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 2 31.00 

Pivot and BearingPivot and Bearing Kit # 083833020 (Stainless Steel)Kit # 083833020 (Stainless Steel) .............................................. Total Kit Price $1,250.00Total Kit Price $1,250.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039770020 Bearing, SS, 3/4" x 3/4" x 1" L 1 42.00 
BB  019837020 Bearing, SS tapered, 7/8" x 7/8" x 1 1/4" L 8 89.00 
BB    019844020* Bearing, SS, 5/8" x 3/4" x 13/16" L 3 30.00 
BB  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 2 28.00 
CC    021753020* Bearing, pivot, SS, 7/8" diameter 3 31.00 
DD  075997020 Pivot, tapered, SS, 1/2" diameter x 13/16" x 2 3/4" L 8 44.00 
EE  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 33.00 
EE  039773020 Pivot, SS, 19/32 diameter x 4 1/8" L  (pivot edge 2 1/32") 3 60.00 
FF  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 2 65.00 

* Select one of these parts for the appropriate application. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

019539160, 039770020 
 

00402000A, 01723100A 
014662160, 019837020 
019844020, 021755020 

017918020, 021753020 023153020, 075997020 017251020, 019845020 
028799020, 039773020 

  
FF  

  

    

022535020, 036018020      
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-29 

 

 

Monorail ScaleMonorail Scale  Model:Model: 22212221 
25" Pattern  
12,000 lb 

 
 

Pivot and Bearing Kit # 083834020Pivot and Bearing Kit # 083834020 .............................................................................................................. Total Kit Price  $1,200.00Total Kit Price  $1,200.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 16 29.00 
AA    01723100A* Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
AA  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 4 25.00 
BB    017918020* Bearing, pivot, 7/8" diameter 2 18.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
CC  022544020 Pivot, 7/8" x 4 1/8" L  (pivot edge 1 9/32") 2 42.00 
CC  025748020 Pivot, 1 1/2" x 6 1/4" L  (pivot edge 2 5/32") 8 127.00 
DD  022906160 Bearing, 7/8" x 7/8" x 1 3/8" L 2 51.00 

Pivot and BearingPivot and Bearing Kit # 083835020Kit # 083835020 (Stainless Steel) (Stainless Steel) ............................................Total Kit Price $1,600.00Total Kit Price $1,600.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  019844020* Bearing, SS, 5/8" x 3/4" x 13/16" L 2 30.00 
AA  029675020 Bearing, SS, 1 1/4" x 7/8" x 2" L 16 42.00 
AA  KA065922020 Bearing, SS, 7/8" x 7/8" x 1 1/4" L 4 43.00 
BB  021753020* Bearing, pivot, SS, 7/8" diameter 2 31.00 
CC  KA008266020 Pivot, SS, 1 1/2" x 6 1/4" L  (pivot edge 2 5/32") 8 168.00 
CC  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 65.00 
CC  KA037786020 Pivot, 7/8" x 4 1/8" L (pivot edge 2 17/32") 2 136.00 
DD  022906160 Bearing, 7/8" x 7/8" x 1 3/8" L 2 51.00 

* Select one of these parts for the appropriate application. 

AA  

  

BB  

  

CC  

  

DD  

  

A01721300A, 01723100A 
019844020, 01965200A 

029675020, KA065922020 
 
 
 
 
 

 

017918020, 021753020 
 

KA008266020, 022535020 
022544020, 025748020 

036018020, KA037786020 

022906160 

 
 
 
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice  1-30 

 

 
 

Models: 2151, 2191 and 31Models: 2151, 2191 and 31--Series (Black Line)Series (Black Line)  Floor ScaleFloor Scale  
 
 

 

 

Pivot and Bearing Kit # 083836020Pivot and Bearing Kit # 083836020 ............................................................................................................ Total Kit Price  $1,200.00Total Kit Price  $1,200.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit QKit Qty.ty.  List Price EachList Price Each  

AA  017211160  Bearing, 3/4" x 5/8" x 1 5/32" L 1 25.00 
AA  A01721200A Bearing, 3/4" x 5/8" x 1 15/16" L 1 26.00 
AA  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 8 29.00 
AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 1 26.00 
BB  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 1 24.00 
CC  018399020 Pivot, 7/8" x 4 1/2" L 8 52.00 
CC  025648020 Pivot, 15/32" x 3 3/16" L 1 31.00 
CC  025649020 Pivot, 5/8" x 5 3/8" L 1 56.00 
DD  017215050 Link, suspension bearing, 1/2" x 3 1/4" L 8 25.00 
EE  00401800A Pin, 7/16" diameter x 1" L 8 9.00 
FF  017214050 Bar, link 15/16" x 1 1/4" x 4 1/2" L 8 32.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

017211160, A01721200A 
A01721300A, 01723100A 
 

017251020 
 

018399020, 025648020 
025649020 

017215050 00401800A 

  
FF  

  

    

  
017214050 

    

M
ETTLER 

M
ETTLER TO

LED
O

TO
LED

O
  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-31 

 

 

Livestock/BuiltLivestock/Built--inin  Models: 2171, 2271, 2410*, 2420Models: 2171, 2271, 2410*, 2420* and 2430** and 2430*  
ScaleScale  Long Lever Casting #21601, 21814, 22130, 22134, 23476 and 25065    
 Short Lever Casting #21602, 21815, 22129, 22135, 23479 and 25066 
 

 

Pivot and BearingPivot and Bearing Kit # 083837020Kit # 083837020 ........................................................................................Total Kit Price $1,725.00Total Kit Price $1,725.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01780600A Bearing, pivot, 1 5/32" diameter 4 18.00 
BB  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 16 29.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 3 26.00 
BB  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 4 25.00 
CC  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 16 32.00 
DD  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 3 24.00 
EE  023013020 Pivot, 7/8" x 4 3/16" L  (pivot edge 1 1/4") 2 83.00 
FF  008946020 Pivot, tapered shank, 33/64" diameter x 27/32" x 2 3/16" L 4 32.00 
GG  00533407A Loop, suspension bearing 5/8" thick x 3 3/8" inside L 8 28.00 
HH  007967050 Pin, 5/8" diameter x 2 7/16" L 8 10.00 
II  00535007A Bar, link 1 1/4" x 3/4" x 4 5/8" L 8 31.00 
JJ  R0065300A Bolt, 3/8"-16 diameter x 1 3/4" L 16 2.00 

Pivot and BeaPivot and Bearing Kit # 083838020ring Kit # 083838020 (Stainless Steel) (Stainless Steel) ...................................................... Total Kit Price $2,230.00Total Kit Price $2,230.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01984600A Bearing, SS, pivot, 1 5/32" diameter 4 35.00 
BB  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 3 30.00 
BB  029675020 Bearing, SS, 1 1/4" x 7/8" x 2" L 16 42.00 
BB  KA065922020 Bearing, SS, 7/8" x 7/8" x 1 1/4" L 4 43.00 
DD  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 3 33.00 
GG  00533407A Loop, suspension bearing 5/8" thick x 3 3/8" inside L 8 28.00 
HH  007967050 Pin, 5/8" diameter x 2 7/16" L 8 10.00 
II  00535007A Bar, link 1 1/4" x 3/4" x 4 5/8" L 8 31.00 
JJ  R0065300A Bolt, 3/8"-16 diameter x 1 3/4" L 16 2.00 

* See page 1-32 for additional transverse lever parts. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

01780600A, 01984600A A01721300A, 01723100A 
019844020, 01965200A  

029675020, KA065922020 

021620020 017251020, 019845020 023013020 
 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  

008946020 00533407A 007967050 00535007A R0065300A 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice  1-32 

 

 
 

Models: 2410, 2420 and 2430Models: 2410, 2420 and 2430  Livestock ScaleLivestock Scale  
Additional Parts for Transverse Lever, Reverse Lever, Stand and Connection 

 

 
  

Models 2410 and 2420Models 2410 and 2420  Additional parts for Transverse Lever, Stand and Connection  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Qty.Qty.  List Price EachList Price Each  
AA  017918020 Bearing, pivot, 7/8" diameter 2 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 4 26.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 3 31.00 

Models 2410 and 2420 (Stainless Steel)Models 2410 and 2420 (Stainless Steel)  Additional parts for Transverse Lever, Stand and Connection  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Qty.Qty.  List Price EachList Price Each  
AA  021753020 Bearing, pivot, SS, 7/8" diameter 2 31.00 
BB  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 4 30.00 
CC  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 3 65.00 

 

 

Model 2430Model 2430  Additional parts for Transverse Lever, Reversing Levers, Stand and Connection  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Qty.Qty.  List Price EachList Price Each  
AA  01780600A Bearing, pivot, 1 5/32" diameter 2 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 4 26.00 
BB  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 2 25.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 2 31.00 
CC  022544020 Pivot, 7/8" x 4 1/8" L  (pivot edge 1 9/32") 1 42.00 
DD  022507020 Pivot, 1 1/4" x 8 3/8" L 2 108.00 
EE  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 4 42.00 

Model 2430 (SModel 2430 (Stainless Steel) tainless Steel) Additional parts for Transverse Lever, Reversing Levers, Stand and Connection  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Qty.Qty.  List Price EachList Price Each  
AA  01984600A Bearing, SS, pivot, 1 5/32" diameter 2 35.00 
BB  KA065922020 Bearing, SS, 7/8" x 7/8" x 1 1/4" L 2 43.00 
BB  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 4 30.00 
CC  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 2 65.00 
CC  KA037786020 Pivot, 7/8" x 4 1/8" L (pivot edge 2 17/32") 1 136.00 
DD  022507020 Pivot, 1 1/4" x 8 3/8" L 2 108.00 
EE  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 4 42.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
01780600A, 017918020 
01984600A, 021753020 

01723100A, 01965200A 
019844020, KA065922020 

 
 

 

022535020, 022544020 
036018020, KA037786020 

 

022507020 02246100A 

     

 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-33 

 

 

Truck ScaleTruck Scale  Models: Models: 2591 and 43102591 and 4310  
2-Section, 15-Ton 
Cast Lever System with Main Lever #23644  

 
 

  

Complete Overhaul Kit # 083163020Complete Overhaul Kit # 083163020.................................................................. Total Kit Price  $ 3,160.00Total Kit Price  $ 3,160.00  

Pivot and Bearing Kit # 083841020Pivot and Bearing Kit # 083841020 .............................................................................................................. Total Kit Price  $2Total Kit Price  $2,575.00,575.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
BB  023616320 Bearing block assembly, 2 3/16" x 2" x 3 1/4" L 7 105.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
DD  023624020 Pivot, 1" x 5 1/8" L 2 80.00 
DD  023631020 Pivot, 3/4" x 4 3/8" L 1 59.00 
EE  023620020 Pivot, 7/8" x 2 7/16" L 12 32.00 
FF  023615020 Pivot, 1" x 6 3/4" L 11 89.00 
GG  02327507A Link & bearing assembly, 7/16" diameter x 3 13/16" inside length 8 39.00 
GG  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
HH  023651320 Saddle block, 2 3/4" x 3 1/4" x 4 1/2" L 4 110.00 
II  023622320 Support, connection link 5 9/16" x 4 3/8" L 4 73.00 
II  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
01723100A 023616320 022535020 023624020, 023631020  023620020 

FF  

 

  

GG  

  

HH  

  

II  

  

JJ  

  
023615020 02327507A, 023282050 023651320 023622320, 092960320 023609320 

KK 

 

 

 

   

023608320     

Suspension Kit # 083843020Suspension Kit # 083843020................................................................................................................................ Total Kit Price  $ 1,025.00Total Kit Price  $ 1,025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  023651320 Saddle block, 2 3/4" x 3 1/4" x 4 1/2" L 4 110.00 
JJ  023609320 Link, 3 1/2" x 10 5/8" L 8 60.00 
KK  023608320 Trunnion block, 6" L 4 55.00 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-34 

 

 

Models: Models: 2592 and 43112592 and 4311  Truck ScaleTruck Scale  
2-Section, 15-Ton 
Steel Lever System with Main Lever #47261  

 
 

Complete Overhaul Kit # 0Complete Overhaul Kit # 08316402083164020....................................................................Total Kit Price  $ 2,535.00Total Kit Price  $ 2,535.00  

Pivot and BearingPivot and Bearing Kit # 083842020Kit # 083842020 ........................................................................................ Total Kit Price $1,950.00Total Kit Price $1,950.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
BB  039285160 Bearing, 5/8" x 5/8" x 5 5/8" L 4 39.00 
CC  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 6 32.00 
CC  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 4 27.00 
CC  04689900A Pivot, 1 3/8" x 9/16" x 5 11/16" L 4 52.00 
CC  04724100A Pivot, 1 3/8" x 9/16" x 4" L 4 44.00 
DD  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 6 42.00 
EE  023829020 Pivot, 1 1/16" x 2 7/16" L 8 37.00 
FF  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
GG  023620020 Pivot, 7/8" x 2 7/16" L 4 32.00 
HH  023976020 Pivot, 1" x 4 3/8" L  (pivot edge 1 5/16") 1 54.00 
II  023651320 Saddle block, 2 3/4" x 3 1/4" x 4 1/2" L 4 110.00 
JJ  02327507A Link & bearing assembly, 7/16" diameter x 3 13/16" inside length 8 39.00 
JJ  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
KK  023622320 Support, connection link 5 9/16" x 4 3/8" L 4 73.00 
KK  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

01723100A 039285160 
 

021620020, 039154800  
04689900A, 04724100A 

02246100A 023829020 
 

FF  

  

GG  

  

HH  

  

II  
  

JJ  

  
022535020 023620020 023976020 023651320 02327507A, 023282050 

KK  

  

LL  

  

MM  

  

  
  

  
  

023622320, 092960320 023609320 023608320   

Suspension Kit # 08Suspension Kit # 0838430203843020 ..................................................................................................................................Total Kit Price  $ 1,025.00Total Kit Price  $ 1,025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

II  023651320 Saddle block, 2 3/4" x 3 1/4" x 4 1/2" L 4 110.00 
LL  023609320 Link, 3 1/2" x 10 5/8" L 8 60.00 
MM  023608320 Trunnion block, 6" L 4 55.00 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-35 

 

 

Truck Scale Truck Scale   Models: Models: 2691 and 43202691 and 4320  
2-Section, 20-Ton 
Cast Lever System with Main Lever #23633 

 

 
  
Complete Overhaul Kit # 083165020Complete Overhaul Kit # 083165020.................................................................... Total Kit Price  $ 3,120.00Total Kit Price  $ 3,120.00  

Pivot and BearingPivot and Bearing Kit # 083844020Kit # 083844020 .......................................................................................... Total Kit Price $2,535.00Total Kit Price $2,535.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
BB  023610320 Bearing block assembly, 2 3/16" x 2" x 4" L 4 111.00 
BB  023616320 Bearing block assembly, 2 3/16" x 2" x 3 1/4" L 3 105.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
DD  023624020 Pivot, 1" x 5 1/8" L 2 80.00 
DD  023631020 Pivot, 3/4" x 4 3/8" L 1 59.00 
EE  023620020 Pivot, 7/8" x 2 7/16" L 12 32.00 
FF  023607800 Pivot, 1" x 8" L 8 105.00 
FF  023615020 Pivot, 1" x 6 3/4" L 3 89.00 
GG  023603320 Saddle block, 2 3/4" x 4 1/32" x 4 1/2" L 4 110.00 
HH  02327507A Link & bearing assembly, 7/16" diameter x 3 13/16" inside length 8 39.00 
HH  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
II  023622320 Support, connection link 5 9/16" x 4 3/8" L 4 73.00 
II  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

  

DD  

  
  

EE  

  

01723100A 023610320, 023616320 022535020 023624020, 023631020  023620020 

FF  

 
  

GG  

  

HH  

  

II  

  

JJ  

  
023607800, 023615020 023603320 02327507A, 023282050 023622320, 092960320 023609320 

KK  

 

  
 

   

023608320       

SuspensionSuspension Kit # 083846020Kit # 083846020........................................................................................................ Total Kit Price $ 1,025.00Total Kit Price $ 1,025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

GG  023603320 Saddle block, 2 3/4" x 4 1/32" x 4 1/2" L 4 110.00 
JJ  023609320 Link, 3 1/2" x 10 5/8" L 8 60.00 
KK  023608320 Trunnion block, 6" L 4 55.00 

    
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-36 

 

 

Models: Models: 2692 and 43212692 and 4321  Truck ScaleTruck Scale  
2-Section, 20-Ton 
Steel Lever Systems with Main Lever #47260 

 
 

Complete Complete Overhaul Kit # 083166020Overhaul Kit # 083166020....................................................................Total Kit Price  $ 2,635.00Total Kit Price  $ 2,635.00  

Pivot and Bearing Kit # 083845020Pivot and Bearing Kit # 083845020 ............................................................................................................ Total Kit Price  $2,050.00Total Kit Price  $2,050.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
BB  039285160 Bearing, 5/8" x 5/8" x 5 5/8" L 4 39.00 
CC  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 6 32.00 
CC  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 4 27.00 
CC  04689900A Pivot, 1 3/8" x 9/16" x 5 11/16" L 4 52.00 
CC  04723800A Pivot, 1 3/8" x 9/16" x 4 3/4" L 4 48.00 
DD  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 6 42.00 
EE  023620020 Pivot, 7/8" x 2 7/16" L 4 32.00 
EE  023829020 Pivot, 1 1/16" x 2 7/16" L 8 37.00 
FF  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
FF  023976020 Pivot, 1" x 4 3/8" L  (pivot edge 1 5/16") 1 54.00 
GG  023603320 Saddle block, 2 3/4" x 4 1/32" x 4 1/2" L 4 110.00 
HH  02327507A Link & bearing assembly, 7/16" diameter x 3 13/16" inside length 8 39.00 
HH  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
II  023622320 Support, connection link 5 9/16" x 4 3/8" L 4 73.00 
II  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

01723100A 039285160 
 

021620020, 039154800 
04689900A, 04723800A 

02246100A 023820020, 023629020  
 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
022535020, 023976020 023603320 02327507A, 023282050 023622320, 092960320 023609320 

KK  

 

  
 

   

023608320     

SuspensionSuspension Kit # 083846020Kit # 083846020 ........................................................................................................ Total Kit Price $1,025.00Total Kit Price $1,025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

GG  023603320 Saddle block, 2 3/4" x 4 1/32" x 4 1/2" L 4 110.00 
JJ  023609320 Link, 3 1/2" x 10 5/8" L 8 60.00 
KK  023608320 Trunnion block, 6" L 4 55.00 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  1-37 

 

 

Truck Scale Truck Scale   Models: 2791 and 4330Models: 2791 and 4330  
2-Section, 30-Ton 
Cast Lever System with Main Lever #23652  

 
  

Complete Overhaul Kit # 083167020Complete Overhaul Kit # 083167020.................................................................. Total Kit PriceTotal Kit Price  $ 3,688.00  $ 3,688.00  

Pivot and Bearing Kit # 083847020Pivot and Bearing Kit # 083847020 ....................................................................................  Total Kit Price  $2,840.00Total Kit Price  $2,840.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
BB  023610320 Bearing block assembly, 2 3/16" x 2" x 4" L 2 111.00 
BB  023616320 Bearing block assembly, 2 3/16" x 2" x 3 1/4" L 1  105.00 
BB  023669320 Bearing block assembly, 2 3/16" x 2" x 5" L 4 111.00 
CC  023620020 Pivot, 7/8" x 2 7/16" L 4 32.00 
CC  023829020 Pivot, 1 1/16" x 2 7/16" L 8 37.00 
DD  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
EE  023631020 Pivot, 3/4" x 4 3/8" L 1 59.00 
EE  023674020 Pivot, 1" x 5 5/8" L 2 72.00 
FF  023607800 Pivot, 1" x 8" L 2 105.00 
FF  023615020 Pivot, 1" x 6 3/4" L 1 89.00 
FF  023666020 Pivot, 1 1/4" x 9 1/2" L  8 118.00 
GG  023662320 Saddle block, 3" x 5" x 5 1/8" L 4 138.00 
HH  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
HH  02344307A Link & bearing assembly, 9/16" diameter x 3 13/16" inside length 8 44.00 
II  023622320 Support, connection link 5 9/16" x 4 3/8" L 4 73.00 
II  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
01723100A 023610320, 023616320 

023669320 
023620020, 023829020 022535020 023631020, 023674020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
023607800, 023615020 023662320 023282050, 02344307A  023622320, 092960320 023667320 

KK 

 
023668320 

    

SuspensionSuspension Kit # 083849020Kit # 083849020......................................................................................................   Total Kit Price  $Total Kit Price  $1,400.001,400.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

GG  023662320 Saddle block, 3" x 5" x 5 1/8" L 4 138.00 
JJ  023667320 Link, 4" x 11 7/8" L 8 88.00 
KK  023668320 Trunnion block, 7" L 4 75.00 

M
E

M
E T

TL
ER

 T
O

LE
D

O
TT

LE
R 

TO
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-38 

 

 

Models: 2792, 4331 and 4332Models: 2792, 4331 and 4332 Truck ScaleTruck Scale  
2-Section, 30-Ton 
Steel Lever System with Main Lever #47258 
 

Complete Overhaul Kit # 083168020Complete Overhaul Kit # 083168020....................................................................Total Kit Price  $ 2,998.00Total Kit Price  $ 2,998.00  

Pivot and BearingPivot and Bearing Kit # 08384Kit # 0838480208020 ...................................................................................... Total Kit Price $ 2,150.00Total Kit Price $ 2,150.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
BB  039285160 Bearing, 5/8" x 5/8" x 5 5/8" L 4 39.00 
CC  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 6 32.00 
CC  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 4 27.00 
CC  04689900A Pivot, 1 3/8" x 9/16" x 5 11/16" L 8 52.00 
DD  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 6 42.00 
EE  023620020 Pivot, 7/8" x 2 7/16" L 4 32.00 
EE  023829020 Pivot, 1 1/16" x 2 7/16" L 8 37.00 
FF  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
FF  023976020 Pivot, 1" x 4 3/8" L  (pivot edge 1 5/16") 1 54.00 
GG  023662320 Saddle block, 3" x 5" x 5 1/8" L 4 138.00 
HH  02327507A Link & bearing assembly, 7/16" diameter x 3 13/16" inside length 8 39.00 
HH  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
II  023622320 Support, connection link 5 9/16" x 4 3/8" L 4 73.00 
II  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

01723100A 039285160 
 

021620020, 039154800 
 04689900A 

02246100A 023620020, 023829020 
 

FF  

  

GG  

  

HH  

  

II  

  

JJ  
  

022535020, 023976020 023662320 02327507A, 023282050 023622320, 092960320 023667320 

KK  

 

    

023668320     

SuspensionSuspension Kit # 083849020Kit # 083849020 ....................................................................................................   Total Kit Price  $1,400.00Total Kit Price  $1,400.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

GG  023662320 Saddle block, 3" x 5" x 5 1/8" L 4 138.00 
JJ  023667320 Link, 4" x 11 7/8" L 8 88.00 
KK  023668320 Trunnion block, 7" L 4 75.00 

 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-39 

 

 

Truck ScaleTruck Scale  Models: 2780, 2790, 4350 and 4360Models: 2780, 2790, 4350 and 4360  
4-Section, 50 and 60-Ton 
Cast Lever System with Main Lever #23652 or 38338 

 
 

Complete Overhaul Kit # 083169020Complete Overhaul Kit # 083169020.................................................................. Total Kit Price  $ 6,356.00Total Kit Price  $ 6,356.00  

Pivot and BearingPivot and Bearing Kit # 083850020Kit # 083850020 ...................................................................................... Total Kit Price $ 4,660.00Total Kit Price $ 4,660.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 4 29.00 
AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
AA  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 4 25.00 
BB  023610320 Bearing block assembly, 2 3/16" x 2" x 4" L 2 111.00 
BB  023669320 Bearing block assembly, 2 3/16" x 2" x 5" L 8 111.00 
CC  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 2 48.00 
DD  022501020 Pivot, 5/8" diameter x 2 13/16" L  (pivot edge 1 5/16") 4 33.00 
EE  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 6 42.00 
FF  023829020 Pivot, 1 1/16" x 2 7/16" L 16 37.00 
GG  022503020 Pivot, 1 3/4" x 8 1/2" L 2 175.00 
GG  022507020 Pivot, 1 1/4" x 8 3/8" L 2 108.00 
HH  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
II  023607800 Pivot, 1" x 8" L 2 105.00 
II  023666020 Pivot, 1 1/4" x 9 1/2" L 16 118.00 
JJ  023674020 Pivot, 1" x 5 5/8" L 4 72.00 
KK  023662320 Saddle block, 3" x 5" x 5 1/8" L 8 138.00 
LL  02344307A Link & bearing assembly, 9/16" diameter x 3 13/16" inside length 16 44.00 
MM  023622320 Support, connection link 5 9/16" x 4 3/8" L 8 73.00 

 
AA  

  

BB  

  

CC  

  

DD  

  
  

EE  

  

A01721300A, 01723100A, 
01965200A 

023610320, 023669320 023941020 022501020 02246100A  

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
023829020 022503020, 022507020 022535020 023607800 023674020 

KK  

  

LL  

 

MM  

 

NN  

  

OO  

  

023662320 02344307A  023622320 023667320 023668320 

Suspension Kit # 083851020Suspension Kit # 083851020 ....................................................................................................   TotTotal Kit Price  $2,800.00al Kit Price  $2,800.00  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
KK  023662320 Saddle block, 3" x 5" x 5 1/8" L 8 138.00 
NN  023667320 Link, 4" x 11 7/8" L 16 88.00 
OO  023668320 Trunnion block, 7" L 8 75.00 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-40 

 

 

 

Models: 2780, 2890, 4350 and 4360Models: 2780, 2890, 4350 and 4360  Truck ScaleTruck Scale  
5-Section, 50 and 60-Ton 
Cast Lever System with Main Lever #23652 or 38388  

 
 
 

Complete Overhaul Kit # 083170020Complete Overhaul Kit # 083170020......................................................................Total Kit Price  $Total Kit Price  $ 7,945.00 7,945.00  

Pivot and BearingPivot and Bearing Kit # 082858020Kit # 082858020 ........................................................................................ Total Kit Price $ 5,825.00Total Kit Price $ 5,825.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 6 29.00 
AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
AA  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 8 25.00 
BB  023610320 Bearing block assembly, 2 3/16" x 2" x 4" L 2 111.00 
BB  023669320 Bearing block assembly, 2 3/16" x 2" x 5" L 10 111.00 
CC  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 3 48.00 
DD  022501020 Pivot, 5/8" diameter x 2 13/16" L  (pivot edge 1 5/16") 4 33.00 
EE  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 8 42.00 
FF  023829020 Pivot, 1 1/16" x 2 7/16" L 20 37.00 
GG  022503020 Pivot, 1 3/4" x 8 1/2" L 5 175.00 
GG  022507020 Pivot, 1 1/4" x 8 3/8" L 3 108.00 
HH  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
HH  023013020 Pivot, 7/8" x 4 3/16" L  (pivot edge 1 1/4") 1 83.00 
II  023607800 Pivot, 1" x 8" L 2 105.00 
II  023666020 Pivot, 1 1/4" x 9 1/2" L 20 118.00 
JJ  023674020 Pivot, 1" x 5 5/8" L 5 72.00 
KK  023662320 Saddle block, 3" x 5" x 5 1/8" L 10 138.00 
LL  02344307A Link & bearing assembly, 9/16" diameter x 3 13/16" inside length 20 44.00 
MM  023622320 Support, connection link 5 9/16" x 4 3/8" L 10 73.00 
      

AA  
  

BB  
  

CC  
  

DD  
  

EE  
  

A01721300A, 01723100A 
01965200A 

023610320, 023669320 023941020 022501020 02246100A  

FF  
  

GG  

  

HH  

  

II  
  

JJ  
  

023829020 022503020, 022507020 022535020, 023013020 023607800 023674020 

KK  

 
  

LL  

  

MM  

  

NN  
  

OO  

  

023662320 02344307A  023622320 023667320 023668320  

Suspension Kit # 083856020Suspension Kit # 083856020 ....................................................................................................   Total Kit Price  $3,500.00Total Kit Price  $3,500.00  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
KK  023662320 Saddle block, 3" x 5" x 5 1/8" L 10 138.00 
NN  023667320 Link, 4" x 11 7/8" L 20 88.00 
OO  023668320 Trunnion block, 7" L 10 75.00 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-41 

 

 

Truck ScaleTruck Scale  Models: Models: 2781, 2875, 2891, 4350, 4352          2781, 2875, 2891, 4350, 4352          
and 4360and 4360  
4-Section, 50, 60 and 75-Ton 
Steel Lever System: Main Lever # 47258 (60 and 75-Ton)   

Main Lever # 47259 (50-Ton) 

Complete Overhaul Kit # 083171020Complete Overhaul Kit # 083171020.................................................................. Total Kit Price  $ 4,996.00Total Kit Price  $ 4,996.00  

Pivot and Bearing Kit # 083853020Pivot and Bearing Kit # 083853020 ....................................................................................  Total Kit Price  $3,300.00Total Kit Price  $3,300.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
AA  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 4 25.00 
BB  039285160 Bearing, 5/8" x 5/8" x 5 5/8" L 8 39.00 
CC  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 8 32.00 
CC  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 8 27.00 
CC  04689900A Pivot, 1 3/8" x 9/16" x 5 11/16" L 16 52.00 
DD  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 2 48.00 
EE  022501020 Pivot, 5/8" diameter x 2 13/16" L  (pivot edge 1 5/16") 4 33.00 
FF  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 14 42.00 
GG  023829020 Pivot, 1 1/16" x 2 7/16" L 16 37.00 
HH  022507020 Pivot, 1 1/4" x 8 3/8" L 2 108.00 
II  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
JJ  02344307A Link & bearing assembly, 9/16" diameter x 3 13/16" inside length 16 44.00 
KK  023622320 Support, connection link 5 9/16" x 4 3/8" L 8 73.00 
LL  023662320 Saddle block, 3" x 5" x 5 1/8" L 8 138.00 

 
AA  

  

BB  

  

CC  
  

DD  

  

EE  

  

01723100A, 01965200A 039285160 021620020, 039154800 
04689900A 

023941020 022501020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  
  

02246100A 023829020 022507020 022535020 02344307A 

KK  

 

LL  

 

MM  
 

NN  

  

  
  

023622320 023662320 023667320 023668320  

SuspensionSuspension Kit # 083851020Kit # 083851020 .................................................................................................................................. Total Total Kit Price $ 2,800.00Kit Price $ 2,800.00  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
LL  023662320 Saddle block, 3" x 5" x 5 1/8" L 8 138.00 
MM  023667320 Link, 4" x 11 7/8" L 16 88.00 
NN  023668320 Trunnion block, 7" L 8 75.00 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-42 

 

 

Models: Models: 2781, 2875, 2891, 4350 and 43602781, 2875, 2891, 4350 and 4360  Truck ScaleTruck Scale  
5-Section, 50, 60 and 75-Ton 
Steel Lever System: Main Lever #47258 (60 and 75-Ton) 

Main Lever #47259 (50-Ton) 
 
 

Complete Overhaul Kit # 083172020Complete Overhaul Kit # 083172020....................................................................Total Kit Price  $ 6,620.00Total Kit Price  $ 6,620.00  

Pivot and BearingPivot and Bearing Kit # 083855020Kit # 083855020 ....................................................................................   Total Kit Price  $4,500.00Total Kit Price  $4,500.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
AA  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 8 25.00 
AA  023944160 Bearing, 1 1/4" x 1" x 2" L 2 47.00 
BB  039285160 Bearing, 5/8" x 5/8" x 5 5/8" L 10 39.00 
CC  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 10 32.00 
CC  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 10 27.00 
CC  04689900A Pivot, 1 3/8" x 9/16" x 5 11/16" L 20 52.00 
DD  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 4 48.00 
EE  022501020 Pivot, 5/8" diameter x 2 13/16" L  (pivot edge 1 5/16") 4 33.00 
FF  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 18 42.00 
GG  023829020 Pivot, 1 1/16" x 2 7/16" L 20 37.00 
HH  022507020 Pivot, 1 1/4" x 8 3/8" L 3 108.00 
II  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 1 31.00 
II  022544020 Pivot, 7/8" x 4 1/8" L  (pivot edge 1 9/32") 2 42.00 
JJ  02344307A Link & bearing assembly, 9/16" diameter x 3 13/16" inside length 20 44.00 
KK  023622320 Support, connection link 5 9/16" x 4 3/8" L 10 73.00 
LL  023662320 Saddle block, 3" x 5" x 5 1/8" L 10 138.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

01723100A, 01965200A 
023944160 

039285160 021620020, 039154800 
04689900A 

023941020 022501020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  
  

02246100A 023829020 022507020 022535020, 022544020 02344307A 

KK  

 

LL  

 

MM  
 

NN  

 

 

023622320 023662320 023667320 023668320  

Suspension Kit # 083856020Suspension Kit # 083856020 ...................................................................................................... Total Kit Price $ 3,500.00Total Kit Price $ 3,500.00  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
LL  023662320 Saddle block, 3" x 5" x 5 1/8" L 10 138.00 
MM  023667320 Link, 4" x 11 7/8" L 20 88.00 
NN  023668320 Trunnion block, 7" L 10 75.00 

  

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-43 

 

 

Tank and Hopper ScaleTank and Hopper Scale    Models: 2351, 2371 andModels: 2351, 2371 and 2381  2381   
  SSeries 0eries 0  

2,500 lb 
Cast Lever System  

  

Pivot and Bearing Kit # 083861020Pivot and Bearing Kit # 083861020 ......................................................................................   Total Kit Price  $1,100.00Total Kit Price  $1,100.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  ListList Price Each Price Each  

AA  023940020 Pivot, 3/4" x 3 3/4" L  (pivot edge 2 1/32") 8 56.00 
BB  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 6 26.00 
BB  023944160 Bearing, 1 1/4" x 1" x 2" L 8 47.00 
CC  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 
DD  028799020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 1 41.00 
EE  019539160 Bearing, 3/4" x 3/4" x 1" L 1 28.00 
FF  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 3 31.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
023940020 014662160, 01723100A 

023944160 
017251020 028799020 019539160 

  
FF  

 
  

  
  

  

      

022535020 
 

    
 
 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-44 

 

 

Models: 2351, 2371 andModels: 2351, 2371 and 2381 2381 Tank and Hopper ScaleTank and Hopper Scale  
SSeeries 1ries 1  
6,250 lb 
Cast Lever System 

Pivot and BearingPivot and Bearing Kit # 083862020Kit # 083862020 .............................................................................................................. Total Kit Price $1,020.00Total Kit Price $1,020.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DesPart Descriptioncription  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 8 48.00 
BB  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
BB  01723100A Bearing, 5/8" x 3/4" x 13/16" L 6 26.00 
BB  023944160 Bearing, 1 1/4" x 1" x 2" L 8 47.00 
CC  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 
DD  028799020 Pivot, 19/32" diameter x 4 1/8" L  (pivot edge 2 1/32") 1 41.00 
EE  019539160 Bearing, 3/4" x 3/4" x 1" L 1 28.00 
FF  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 3 31.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
023941020 014662160, 01723100A 

023944160 
017251020 028799020 019539160 

  
FF  

 
  

  
  

  

      

022535020 
 

    
 
 

 
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 1-45 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Models: 2351, 2371 andModels: 2351, 2371 and 2381  2381   
Series 2Series 2 
12,500 lb  
Cast Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083863020Kit # 083863020 ....................................................................................   Total Kit Price  $1,235.00Total Kit Price  $1,235.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  LisList Price Eacht Price Each  

AA  023940020 Pivot, 3/4" x 3 3/4" L  (pivot edge 2 1/32") 2 56.00 
AA  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 1 48.00 
AA  023942020 Pivot, 1 1/8" x 3 15/16" L  (pivot edge 2 1/32") 8 76.00 
BB  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 8 42.00 
CC  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 2 29.00 
CC  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
CC  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 1 25.00 
CC  023944160 Bearing, 1 1/4" x 1" x 2" L 1 47.00 
DD  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 3 31.00 

 
AA  

  

BB  

  

CC  

 
  

DD  

  
  

  
  

023940020, 023941020 
023942020 

 

02246100A 
 

A01721300A, 01723100A 
01965200A, 023944160 

 
 

022535020  

  
  

 
  

  
  

  

      

 
 

    
 
 

 
 
 
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-46 

 

 

Models: 2351, 2371 andModels: 2351, 2371 and 2381 2381  Tank and Hopper ScaleTank and Hopper Scale 
SSeries 3eries 3  
25,000 lb 
Cast Lever System 
 

 

Pivot and BearingPivot and Bearing Kit # 083864020Kit # 083864020 ....................................................................................   Total Kit Price  $2,060.00Total Kit Price  $2,060.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 2 48.00 
AA  023942020 Pivot, 1 1/8" x 3 15/16" L  (pivot edge 2 1/32") 1 76.00 
AA  023943020 Pivot, 1 3/8" x 4 11/16" L  (pivot edge 2 1/2") 8 105.00 
BB  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 2 42.00 
BB  023945160 Bearing, 1 1/2" x 1 1/2" x 2 1/2" L 8 107.00 
CC  01723100A Bearing, 5/8" x 3/4" x 13/16" L 6 26.00 
CC  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 1 25.00 
DD  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 3 31.00 

 
AA  

  

BB  

  

CC  

 
  

DD  

  
  

  
  

023941020, 023942020 
023943020 

 
 

02246100A, 023945160 
 
 

01723100A, 01965200A 
 

022535020  

 
 
 
 
 
 
 
 
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 1-47 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Models: 2351, 2371 andModels: 2351, 2371 and 2381 2381    
Series 4Series 4 
50,000 lb 
Cast Lever System 

 

 

Pivot and BearingPivot and Bearing Kit # 083865020Kit # 083865020 ....................................................................................   Total Kit Price  $1,580.00Total Kit Price  $1,580.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 2 48.00 
AA  023942020 Pivot, 1 1/8" x 3 15/16" L  (pivot edge 2 1/32") 1 76.00 
AA  023943020 Pivot, 1 3/8" x 4 11/16" L  (pivot edge 2 1/2") 8 105.00 
BB  023975160 Bearing, 1 3/4" x 1 1/4" x 2 1/2" L 8 49.00 
BB  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 3 42.00 
CC  01723100A Bearing, 5/8" x 3/4" x 13/16" L 2 26.00 
CC  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 4 25.00 
DD  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 3 31.00 

  
AA  

  

BB  

  

CC  

 
  

DD  

  
  

  
  

023941020, 023942020 
023943020 

 
 

02246100A, 023975160 
 

01723100A, 01965200A 
 
 

022535020  

     

  
   

 

 

 

M
E

M
E T

TL
ER

 T
O

LE
D

O
TT

LE
R 

TO
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-48 

 

 

Models: 2352, 2372, 2382 and 2383 Models: 2352, 2372, 2382 and 2383   Tank and Hopper ScaleTank and Hopper Scale  
Series 2 and 5Series 2 and 5   
2,500 and 6,250 lb 
Steel Lever System 
 
 
 

Pivot and BearingPivot and Bearing Kit # 083866020Kit # 083866020 .............................................................................................................. Total Kit Price $1,075.00Total Kit Price $1,075.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039956020 Pivot, 7/8" x 3 1/4" L (pivot edge 2 1/32") 8 35.00 
BB  023944160 Bearing, 1 1/4" x 1" x 2" L 4 47.00 
BB  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 2 29.00 
CC  023977020 Pivot, 1 1/8" x 6 1/4" L  (pivot edge 1 5/16") 1 97.00 
CC  023976020 Pivot, 1" x 4 3/8" L  (pivot edge 1 5/16") 1 54.00 
DD  023620020 Pivot, 7/8" x 2 7/16" L 4 32.00 
EE  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
FF  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

 
  

DD  

  
  

EE  

  
039956020 A01721300A, 023944160 023976020, 023977020 023620020 023282050 

  
FF  

 

 
  

 

   

092960320     

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 1-49 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Models: 2352, 2372, 2382 anModels: 2352, 2372, 2382 and 2383d 2383  
Series 6, 8 and 10Series 6, 8 and 10  
7,500, 10,000 and 12,500 lb 
Steel Lever System 

 

 
Pivot and BearingPivot and Bearing Kit # 083867020Kit # 083867020 ....................................................................................   Total Kit Price  $1,120.00Total Kit Price  $1,120.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039957020 Pivot, 1 1/8" x 3 1/4" L (pivot edge 2 1/32") 8 39.00 
BB  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 4 42.00 
CC  A01721300A Bearing, 1 1/4" x 7/8" x 2" L 2 29.00 
DD  023976020 Pivot, 1" x 4 3/8" L  (pivot edge 1 5/16") 1 54.00 
DD  023977020 Pivot, 1 1/8" x 6 1/4" L  (pivot edge 1 5/16") 1 97.00 
EE  023620020 Pivot, 7/8" x 2 7/16" L 4 32.00 
FF  023282050 Link & bearing assembly, 7/16" diameter x 2 13/16" inside length 4 39.00 
GG  092960320 Support, connection link, 3 1/8" x 1 1/8" x 4 3/16" L 2 62.00 

 
AA  

  

BB  

  

CC  

 
  

DD  

  
  

EE  

  

039957020 02246100A  A01721300A  023976020, 023977020 023620020 

  
FF  

 

 
GG  

 

 
 

 

  

023282050 092960320    

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-50 

 

 

Model:Model: 23832383 Tank and Hopper ScaleTank and Hopper Scale  
Series 20Series 20  
25,000 lb 
Low Profile  
Steel Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083868020Kit # 083868020 ....................................................................................   Total Kit Price  $1,625.00Total Kit Price  $1,625.00  

Component Parts in Overhaul Kit  
ReRef.f.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 2 32.00 
AA  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 2 27.00 
AA  07712600A Pivot, 1 3/8" x 9/16" x 3 11/16" L 4 43.00 
AA  04724100A  Pivot, 1 3/8" x 9/16" x 4" L 4 44.00 
BB  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 2 42.00 
BB  039952160 Bearing, 2 3/4" x 1 1/2" x 3 5/8" L 4 119.00 
CC  023651320 Saddle block, 2 3/4" x 3 1/4" x 4 1/2" L 4 110.00 
DD  023829020 Pivot, 1 1/16" x 2 7/16" L 4 37.00 
EE  02327507A Link & bearing assembly, 7/16" diameter x 3 13/16" inside length 4 39.00 
FF  023622320 Support, connection link 5 9/16" x 4 3/8" L 2 73.00 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

021620020, 039154800, 
07712600A, 04724100A  

039952160, 02246100A 023651320 
 

023829020 02327507A 

  
FF  

 

 
  

 

 
 

 

  

023622320   
  

 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 1-51 

 

 

Tank and Hopper ScaleTank and Hopper Scale  ModelModel: 2383: 2383    
SeSeries 24, 30, 40 and 50ries 24, 30, 40 and 50 
30,000, 37,500, 50,000 and 62,500 lb 
Low Profile  
Steel Lever System 

 

 
Pivot and BearingPivot and Bearing Kit # 083869020Kit # 083869020 ....................................................................................   Total Kit Price  $1,625.00Total Kit Price  $1,625.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  LisList Price Eacht Price Each  

AA  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 2 32.00 
AA  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 2 27.00 
AA  04723800A  Pivot, 1 3/8" x 9/16" x 4 3/4" L 4 48.00 
AA  07712600A Pivot, 1 3/8" x 9/16" x 3 11/16" L 4 43.00 
BB  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 2 42.00 
BB  039952160 Bearing, 2 3/4" x 1 1/2" x 3 5/8" L 4 119.00 
CC  023603320 Saddle block, 2 3/4" x 4 1/32" x 4 1/2" L 4 110.00 
DD  023829020 Pivot, 1 1/16" x 2 7/16" L 4 37.00 
EE  02327507A Link & bearing assembly, 7/16" diameter x 3 13/16" inside length 4 39.00 
FF  023622320 Support, connection link 5 9/16" x 4 3/8" L 2 73.00 

 
AA  

  

BB  

  

CC  

  

DD  

  
  

EE  

  
021620020, 039154800 
04723800A, 07712600A  

02246100A, 039952160 023603320 
 

023829020 02327507A 

  
FF  

 

    

023622320   
  

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-52 

 

 

ModelModel: 2383: 2383    Tank and Hopper ScaleTank and Hopper Scale 
Series 60, 80 and 100Series 60, 80 and 100 
75,000, 100,000 and 125,000 lb 
Low Profile 
Steel Lever System 
 

Pivot and BearingPivot and Bearing Kit # 083870020Kit # 083870020 ............................................................................................................ Total Kit Price  $1,540.00Total Kit Price  $1,540.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  021620020 Pivot, 5/16" x 7/8" x 2 3/32" L 2 32.00 
AA  039154800 Pivot, 5/16" x 7/8" x 1 5/8" L 2 27.00 
AA  04689900A Pivot, 1 3/8" x 9/16" x 5 11/16" L 4 52.00 
AA  077195160 Bearing, 39/64" x 5/8" x 5 5/8" L 4 52.00 
BB  023662320 Saddle block, 3" x 5" x 5 1/8" L 4 138.00 
CC  023829020 Pivot, 1 1/16" x 2 7/16" L 4 37.00 
DD  02344307A Link & bearing assembly, 9/16" diameter x 3 13/16" inside length 4 44.00 
EE  023622320 Support, connection link 5 9/16" x 4 3/8" L 2 73.00 
FF  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 2 42.00 

 
AA  

  

BB  

  

CC  

 
  

DD  

  

EE  

  
021620020, 039154800 
04689900A, 077195160 

023662320 023829020 
 

02344307A 023622320 

  
FF  

 

    

02246100A   
  

 
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-53 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Model: Model: 23522352  
625, 1,250, and 1,875 lb 
Suspended Scale  
Steel Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083871020Kit # 083871020 ......................................................................................   Total Kit Price  $ 865.00Total Kit Price  $ 865.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 16 26.00 
BB  023947050 Pin, 5/16" diameter x 1 5/8" L 16 5.00 
CC  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 8 31.00 
DD  024321020 Wedge, 3/16" x 1/4" x 3/4" L 8 10.00 
EE  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 

 
Pivot and BearingPivot and Bearing Kit # 083872020 (StaiKit # 083872020 (Stainless Steel)nless Steel) ........................................   Total Kit Price  $1,210.00Total Kit Price  $1,210.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 16 30.00 
AA  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 2 28.00 
BB  KA075449020 Pin, SS, 5/16" diameter x 1 5/8" L 16 10.00 
CC  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 8 65.00 
DD  024321020 Wedge, 3/16" x 1/4" x 3/4" L 8 10.00 
EE  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 33.00 

 
AA  

  

BB  

  

CC  
  

  

DD  

  

EE  

  

014662160, 01723100A 
019844020, 021755020 

 

023947050, KA075449020 
 

022535020, 036018020 
 

024321020 017251020, 019845020 

 
 
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-54 

 

 

Models: 2372Models: 2372 Tank and HopperTank and Hopper ScaleScale  
Series 0, 1 and 1 1/2Series 0, 1 and 1 1/2  
625, 1,250 and 1,875 lb 
Stand Scale 
Steel Lever System 
 

Pivot and BearingPivot and Bearing Kit # 083873020Kit # 083873020 ........................................................................................  Total Kit Price  $ 675.00Total Kit Price  $ 675.00  

Component Parts in Overhaul Kit  
Ref.Ref.  PartPart Number Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  014662160 Bearing, 1/2" x 1/2" x 13/16" L 2 18.00 
AA  01723100A Bearing, 5/8" x 3/4" x 13/16" L 8 26.00 
BB  022535020 Pivot, 3/4" x 3 1/2" L  (pivot edge 7/8") 8 31.00 
CC  024321020 Wedge, 3/16" x 1/4" x 3/4" L 8 10.00 
DD  017918020 Bearing, pivot, 7/8" diameter 8 18.00 
EE  017251020 Pivot, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 24.00 

 
Pivot anPivot and Bearingd Bearing Kit # 083874020 (Stainless Steel)Kit # 083874020 (Stainless Steel) ........................................   Total Kit Price  $1,075.00Total Kit Price  $1,075.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  019844020 Bearing, SS, 5/8" x 3/4" x 13/16" L 8 30.00 
AA  021755020 Bearing, SS, 1/2" x 1/2" x 13/16" L 2 28.00 
BB  036018020 Pivot, SS, 3/4" x 3 1/2" L  (pivot edge 7/8") 8 65.00 
CC  024321020 Wedge, 3/16" x 1/4" x 3/4" L 8 10.00 
DD  021753020 Bearing, pivot, SS, 7/8" diameter 8 31.00 
EE  019845020 Pivot, SS, 31/64" diameter x 2 1/8" L  (pivot edge 7/8") 2 33.00 

 
AA  

 
  

BB  

  

CC  

  

DD  

  

EE  

  

014662160, 01723100A 
019844020, 021755020 

 

022535020, 036018020 
 

024321020 
 

017918020, 021753020 017251020, 019845020 

 
 
 
 
 
 
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-55 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Models: Models: 23522352    
Series 2 and 5Series 2 and 5 
2,500 and 6,250 lb 
Suspended Scale 
Steel Lever System 

 
Pivot and BearingPivot and Bearing Kit # 083875020Kit # 083875020 ......................................................................................   Total Kit Price  $ 800.00Total Kit Price  $ 800.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  00741000A Bearing, 7/8" x 7/8" x 1 3/8" L 2 28.00 
AA  023944160 Bearing, 1 1/4" x 1" x 2" L 8 47.00 
BB  039956020 Pivot, 7/8" x 3 1/4" L (pivot edge 2 1/32") 8 35.00 
CC  026829020 Wedge, 13/64" x 1/4" x 7/16" L 8 10.00 
DD  022063020 Pivot, 3/4" diameter x 3 1/4" L  (pivot edge 13/32") 2 51.00 

  
AA  

  

BB  

  

CC  

  

DD  

  

  
  

00741000A, 023944160 
 

039956020 
 

026829020 
 

022063020  

 

 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-56 

 

 

Models: 2352Models: 2352 Tank and HopperTank and Hopper ScaleScale  
Series 6, 8 and 10Series 6, 8 and 10  
7,500, 10,000 and 12,500 lb 
Suspended Scale  
Steel Lever System 

Pivot and BearingPivot and Bearing Kit # 083876020Kit # 083876020 .............................................................................................................. Total Kit Price $1,100.00Total Kit Price $1,100.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039957020 Pivot, 1 1/8" x 3 1/4" L (pivot edge 2 1/32") 8 39.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 16 10.00 
CC  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 8 42.00 
DD  022063020 Pivot, 3/4" diameter x 3 1/4" L  (pivot edge 13/32") 2 51.00 
EE  00741000A Bearing, 7/8" x 7/8" x 1 3/8" L 2 28.00 
FF  039947050 Pin, 5/8" diameter x 1 3/16" L 8 27.00 

N/AN/A  R01891020 Ring, 5/8" diameter 16 1.00 

 
AA  

 
  

BB  

  
  

CC  

  
  

DD  
  

  

EE  

  
  

039957020 
 

026829020 
 

02246100A 
 

022063020 00741000A 

FF  

 

    

 
039947050 

    

 
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-57 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Model: Model: 23522352    
Series 20Series 20  
25,000 lb 
Suspended Scale  
Steel Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083877020Kit # 083877020 ....................................................................................   Total Kit Price  $1,125.00Total Kit Price  $1,125.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039926020 Pivot, 7/8" x 4 1/8" L  (pivot edge 2 25/32") 8 41.00 
AA  039957020 Pivot, 1 1/8" x 3 1/4" L (pivot edge 2 1/32") 3 39.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 16 10.00 
CC  039924160 Bearing, 2" x 1" x 2 3/4" L 8 66.00 
DD  039947050 Pin, 5/8" diameter x 1 3/16" L 4 27.00 

N/AN/A  R01891020 Ring, 5/8" diameter 8 1.00 

 
AA  

 
  

BB  

  
  

CC  

  

DD  
  

  

  
  

039926020, 039957020 
 

026829020 
 

039924160 
 

039947050  

     
 

M
ET

TL
ER

 T
O

LE
D

M
ET

TL
ER

 T
O

LE
D

OO
  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-58 

 

 

Models: 2352Models: 2352 TaTank and Hoppernk and Hopper ScaleScale  
Series 24, 30, 40 and 50Series 24, 30, 40 and 50  
30,000, 50,000 and 62,500 lb  
Suspended Scale  
Steel Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083878020Kit # 083878020 ....................................................................................   Total Kit Price  $1,750.00Total Kit Price  $1,750.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List PricList Price Eache Each  

AA  039955020 Pivot, 1 1/8" x 5 1/4" L (pivot edge 3 21/32") 8 56.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 19 10.00 
CC  039952160 Bearing, 2 3/4" x 1 1/2" x 3 5/8" L 8 119.00 
DD  039926020 Pivot, 7/8" x 4 1/8" L  (pivot edge 2 25/32") 3 41.00 
EE  039924160 Bearing, 2" x 1" x 2 3/4" L 3 66.00 

 
AA  

 
  

BB  

  
  

CC  

  

DD  
  

  

EE  

  
039955020 

 
026829020 

 
039952160 

 
039926020 039924160 

 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-59 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Models: Models: 23522352    
Series Series 60, 80 and 10060, 80 and 100 
75,000, 100,000 and 125,000 lb  
Suspended Scale 
Steel Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083879020Kit # 083879020 ....................................................................................   Total Kit Price  $1,500.00Total Kit Price  $1,500.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List List Price EachPrice Each  

AA  039955020 Pivot, 1 1/8" x 5 1/4" L (pivot edge 3 21/32") 3 56.00 
AA  046190160 Bearing, 5/8" x 39/64" x 5 1/4" L 8 37.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 6 10.00 
CC  039952160 Bearing, 2 3/4" x 1 1/2" x 3 5/8" L 3 119.00 

 
AA  

 
  

BB  

  
  

CC  

  

DD  

  

  
  

039955020 
 

046190160 
 

026829020 
 

039952160  

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-60 

 

 

Models: 2372 and 2382Models: 2372 and 2382 Tank and HopperTank and Hopper ScaleScale  
Series 2 and 5Series 2 and 5  
2,500 and 6,250 lb  
Stand Scale 
Steel Lever System 

Pivot and BPivot and Bearingearing Kit # 083880020Kit # 083880020 ................................................................................................................ Total Kit Price  $ 800.00Total Kit Price  $ 800.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039956020 Pivot, 7/8" x 3 1/4" L (pivot edge 2 1/32") 8 35.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 16 10.00 
CC  00741000A Bearing, 7/8" x 7/8" x 1 3/8" L 2 28.00 
CC  023944160 Bearing, 1 1/4" x 1" x 2" L 4 47.00 
DD  022063020 Pivot, 3/4" diameter x 3 1/4" L  (pivot edge 13/32") 2 51.00 

 
AA  

 
  

BB  

  
  

CC  

  
  

DD  

  

  
  

  

039956020 
 

026829020 
 

00741000A, 023944160 
 

022063020  

 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-61 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Models: Models: 2372 and 2382 2372 and 2382   
Series 6, 8 and 10Series 6, 8 and 10 
7,500, 10,000 and 12,500 lb 
Stand Scale 
Steel Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083881020Kit # 083881020 ......................................................................................   Total Kit Price  $ 840.00Total Kit Price  $ 840.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumbPart Numberer  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039957020 Pivot, 1 1/8" x 3 1/4" L (pivot edge 2 1/32") 8 39.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 16 10.00 
CC  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 4 42.00 
DD  022063020 Pivot, 3/4" diameter x 3 1/4" L  (pivot edge 13/32") 2 51.00 
EE  00741000A Bearing, 7/8" x 7/8" x 1 3/8" L 2 28.00 

 
AA  

 
  

BB  
  

CC  

  

DD  

  

EE  

  
039957020 

 
026829020 

 
02246100A  

 
022063020 00741000A  

 
 
 
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-62 

 

 

Models:Models: 2372 and 23822372 and 2382 Tank and Hopper ScaleTank and Hopper Scale  
Series 20Series 20  
25,000 lb 
Stand Scale  
Steel Lever System 

Pivot and BearingPivot and Bearing Kit # 083882020Kit # 083882020 ....................................................................................   Total Kit Price  $1,140.00Total Kit Price  $1,140.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039926020 Pivot, 7/8" x 4 1/8" L  (pivot edge 2 25/32") 8 41.00 
AA  039957020 Pivot, 1 1/8" x 3 1/4" L (pivot edge 2 1/32") 3 39.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 22 10.00 
CC  039924160 Bearing, 2" x 1" x 2 3/4" L 4 66.00 
DD  02246100A Bearing, 1 3/4" x 1 1/4" x 2" L 3 42.00 
EE  039947050 Pin, 5/8" diameter x 1 3/16" L 3 27.00 

N/AN/A  R01891020  Ring, 5/8" diameter 6 1.00 

 
AA  

  

BB  
  

CC  

  

DD  

  

EE  

  

039926020, 039957020 
 

026829020 
 

039924160 
 

02246100A  039947050 

 
 
 
 
 
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-63 

 

 

Tank and Hopper ScaleTank and Hopper Scale  Models: 2372 and 2382 Models: 2372 and 2382   
  Series 24, 30, 40 and 50Series 24, 30, 40 and 50  

30,000, 37,500, 50,000 and 62,500 lb 
Stand Scale  
Steel Lever System 

 

Pivot and BearingPivot and Bearing Kit # 083883020Kit # 083883020 ....................................................................................   Total Kit Price  $1,610.00Total Kit Price  $1,610.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  039955020 Pivot, 1 1/8" x 5 1/4" L (pivot edge 3 21/32") 8 56.00 
AA  039926020 Pivot, 7/8" x 4 1/8" L  (pivot edge 2 25/32") 3 41.00 
BB  026829020 Wedge, 13/64" x 1/4" x 7/16" L 22 10.00 
CC  046189160  Bearing, 5/8" x 39/64" x 3 5/8" L 4 33.00 
DD  039952160 Bearing, 2 3/4" x 1 1/2" x 3 5/8" L 4 119.00 
EE  039924160 Bearing, 2" x 1" x 2 3/4" L 3 66.00 

  
AA  

  

BB  
  

CC  

  

DD  

  

EE  

  
039926020, 039955020 

 
 

026829020 
 

046189160  
 

039952160 039924160 

  
 

 

    

 
 

    

 

 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-64 

 

 

Model:Model: 840840 Railroad and Truck ScaleRailroad and Truck Scale  
4-Section, 50-Ton Per Section 
 
 
 
 

Pivot and BearingPivot and Bearing Kit # 083884020Kit # 083884020 .............................................................................................................. Total Kit Price $3,850.00Total Kit Price $3,850.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptiPart Descriptionon  Kit Qty.Kit Qty.  List Price EachList Price Each  

Main Lever PivotsMain Lever Pivots 
AA    04723800A*  Pivot, 1 3/8" x 9/16" x 4 3/4" L 16 48.00 
AA    04724100A*  Pivot, 1 3/8" x 9/16" x 4" L 16 44.00 
AA  072369800 Pivot, 1 3/8" x 9/16" x 2 5/8" L 4 42.00 

Backbone PivotsBackbone Pivots 
BB  022501020 Pivot, 5/8" diameter x 2 13/16" L  (pivot edge 1 5/16") 1 33.00 
CC  039955020 Pivot, 1 1/8" x 5 1/4" L (pivot edge 3 21/32") 8 56.00 

Main Lever BearingMain Lever Bearing 
DD  073162020 Friction plate, 5/8" x 5/8" x 2 3/4" L 4 86.00 
EE  073672020 Bearing, 5/8" x 5/8" x 3 5/8" L 8 82.00 

Backbone BearingsBackbone Bearings 
FF  01965200A Bearing, 7/8" x 7/8" x 1 1/4" L 1 25.00 
GG  046189160 Bearing, 5/8" x 39/64" x 3 5/8" L 4 33.00 

*Use 04724100A and 04723800A together to make one pivot 8 3/4" long. 
 
AA  

  

BB  
  

CC  

  

DD  

  

EE  

  
04723800A, 04724100A 

072369800 
 

022501020 
 

039955020 
 

073162020 073672020 

  
FF 

 

 
GG  

  

   

01965200A 046189160    
 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  

 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-65 

 

 

Railroad and Truck ScaleRailroad and Truck Scale  Model: 840Model: 840  
4-Section, 75-Ton Per Section 

 
 

  

Pivot and BearingPivot and Bearing Kit # 083885020Kit # 083885020 ..................................................................................   Total Kit Price  $ 6,500.00Total Kit Price  $ 6,500.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  LList Price Eachist Price Each  

Main Lever PivotsMain Lever Pivots 
AA    04723800A*  Pivot, 1 3/8" x 9/16" x 4 3/4" L 16 48.00 
AA    04724100A* Pivot, 1 3/8" x 9/16" x 4" L 16 44.00 
AA  072315800 Pivot, 1 3/8" x 9/16" x 3 1/2" L 4 42.00 

Backbone PivotsBackbone Pivots 
BB  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 1 48.00 

Main Lever BearingMain Lever Bearing 
CC  072294020 Friction plate, 1" x 1" x 3 7/8" L 4 62.00 
DD  072422020 Bearing, 5/8" x 5/8" x 4 11/16" L 16 193.00 

Backbone BearingsBackbone Bearings 
EE  046189160 Bearing, 5/8" x 39/64" x 3 5/8" L 1 33.00 
EE  046190160 Bearing, 5/8" x 39/64" x 5 1/4" L 4 37.00 
FF  023944160 Bearing, 1 1/4" x 1" x 2" L 4 47.00 

*Use 04724100A and 04723800A together to make one pivot 8 3/4" long. 
 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

04723800A, 04724100A 
072315800 

 

023941020 
 

072294020 
 

072422020 046189160, 046190160 

  
FF 

 

 
  

  

   

 
023944160 

    

 
 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-66 

 

 

Model:Model: 840840 Railroad and TruckRailroad and Truck ScaleScale  
4-Section, 100-Ton Per Section  
 
 

 

 

Pivot and BearingPivot and Bearing Kit # 083886020Kit # 083886020 ....................................................................................   Total Kit Price  $6,800.00Total Kit Price  $6,800.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EList Price Eachach  

Main Lever PivotsMain Lever Pivots 
AA    04723800A*  Pivot, 1 3/8" x 9/16" x 4 3/4" L 16 48.00 
AA    04724100A*  Pivot, 1 3/8" x 9/16" x 4" L 48 44.00 
AA  072315800 Pivot, 1 3/8" x 9/16" x 3 1/2" L 4 42.00 

BackboneBackbone Pivots Pivots 
BB  023941020 Pivot, 7/8" x 3 15/16" L  (pivot edge 2 1/32") 1 48.00 

Main Lever BearingMain Lever Bearing 
CC  073687020 Bearing, 13/16" x 13/16" x 8 3/8" L 16 146.00 
DD  072294020 Friction plate, 1" x 1" x 3 7/8" L 4 62.00 

Backbone BearingsBackbone Bearings 
EE  046189160 Bearing, 5/8" x 39/64" x 3 5/8" L 4 33.00 
EE  046190160 Bearing, 5/8" x 39/64" x 5 1/4" L 4 37.00 
DD  023944160 Bearing, 1 1/4" x 1" x 2" L 1 47.00 

 
*Use 04724100A and 04723800A together to make one pivot 8 3/4" long. 
 
AA  

 
  

BB  

  
  

CC  

  
  

DD  

  

EE  

  

04723800A, 04724100A 
072315800 

 

023941020 
 

073687020 
 

072294020 046189160, 046190160 

  
FF 

 

 
  

  

   

 
023944160 

    

 
 

M
ETTLER TO

LED
O

M
ETTLER TO

LED
O

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00) 1-67 

 

  

Head KitHead Kit  ModelModelss: : 2000 Series (Gray Line)2000 Series (Gray Line)  
 

 

  

HHeadead Kit # 085569020Kit # 085569020 .......................................................................................................................... Total Kit Price  $ 258Total Kit Price  $ 258.00.00  

Component Parts in Overhaul Kit  
Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
003322050 Nut 2 0.90 
00909400A Compensating bar, left 1 19.00 
00909500A  Compensating bar, right 1 19.00 
009122130 Screw, compensating bar adjusting 2 2.50 
009123130 Screw, compensating bar yoke 2 5.50 
028819020 Ribbon, fulcrum sector 4 4.00 
028820020 Ribbon, power sector 2 4.00 
028832020 Ball bearing 1 4.60 
028837020 Rack and rod assembly 1 88.00 
028841020 Rack guide 1 5.00 
034822030 Shaft and pinion, 4.343” 1 49.00 
12824400A Ball bearing assembly 2 19.00 

 

M
ET

TL
ER

 T
O

LE
D

O
M

ET
TL

ER
 T

O
LE

D
O

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  1-68 

 



  

 
 
 
 

Truck ScalesTruck Scales  
 
 
 
 
 
 
 
 
 
 
 

Overhaul Kit Reference 
 

Part Price Reference 
 

Overhaul Kit Descriptions 
 





  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  2-1 

 

 

CardinalCardinal--Murphy Cross Reference Murphy Cross Reference   
    

 
 
 
 
Cross Reference by CardinalCross Reference by Cardinal--Murphy Scale Model NumberMurphy Scale Model Number 

CardinalCardinal-- Murphy  Murphy   
Model NumberModel Number  

METTLER TOLEDO METTLER TOLEDO   
OverhaulOverhaul Kits Kits 

  
Kit DescriptionsKit Descriptions 

ListList  
PricePrice  

  
PagePage  

3024SR 082863020 Pivot and bearing kit - 2-section, 30-ton, 24-and 34-ft. truck scale  $    795.00 2-3 

3034SR 082863020 Pivot and bearing kit - 2-section, 30-ton, 24-and 34-ft. truck scale  $    795.00  2-3 

5045SR 082858020 Pivot and bearing kit - 3-section, 50-ton, 45-ft. truck scale  $ 1,175.00  2-4 

5050SR 082865020 Pivot and bearing kit - 4-section, 50- and 60-ton, 50-, 60- and 70-ft. truck scale  $ 1,525.00  2-5 

5060SR 082865020 Pivot and bearing kit - 4-section, 50- and 60-ton, 50-, 60- and 70-ft. truck scale  $ 1,525.00  2-5 

5070SR 082865020 Pivot and bearing kit - 4-section, 50- and 60-ton, 50-, 60- and 70-ft. truck scale  $1,525.00 2-5 

5080SR 082867020 Pivot and bearing kit - 5-section, 50-and 60-ton, 80-ft. truck scale  $ 1,875.00  2-7 

6050SR 082865020 Pivot and bearing kit - 4-section, 50- and 60-ton, 50-, 60- and 70-ft. truck scale  $ 1,525.00  2-5 

6060SR 082865020 Pivot and bearing kit - 4-section, 50- and 60-ton, 50-, 60- and 70-ft. truck scale  $ 1,525.00  2-5 

6070SR 082865020 Pivot and bearing kit - 4-section, 50- and 60-ton, 50-, 60- and 70-ft. truck scale  $ 1,525.00  2-5 

6080SR 082867020 Pivot and bearing kit - 5-section, 50-and 60-ton, 80-ft. truck scale  $ 1,525.00  2-7 

8050SR 082866020 Pivot and bearing kit - 4-section, 80-ton, 50-, 60-and 70-ft. truck scale  $ 1,725.00  2-6 

8060SR 082866020 Pivot and bearing kit - 4-section, 80-ton, 50-, 60-and 70-ft. truck scale  $ 1,725.00  2-6 

8070SR 082866020 Pivot and bearing kit - 4-section, 80-ton, 50-, 60-and 70-ft. truck scale  $ 1,725.00  2-6 

  

  

Cross Reference by CardinalCross Reference by Cardinal--Murphy Part NumbersMurphy Part Numbers 

CardinalCardinal--Murphy  Murphy    
Part Part NumberNumber  

METTLER TOLEDO       METTLER TOLEDO       
Part Part NumberNumber  

 List List  
Price Price   

  
Page(s)Page(s)  

0119-B013-1 082777020  $   60.00  2-3, 2-4, 2-5, 2-6, 2-7 

0119-B127-52 082774020  $   28.00  2-3, 2-4, 2-5, 2-6, 2-7 

0119-B127-52 082775020  $   10.00  2-3, 2-4, 2-5, 2-6, 2-7 

0119-B127-52 082776020  $   26.00  2-3, 2-4, 2-5, 2-6, 2-7 

1400-B001-19 082773020  $   28.00  2-3, 2-4, 2-5, 2-7 

1400-B001-21 082779020  $   50.00  2-6 

1400-B001-5 082761020  $   24.00  2-3, 2-4, 2-5, 2-6, 2-7 

1400-B001-9 082765020 $   16.00 2-3, 2-4, 2-5, 2-6, 2-7 

1412-B001-3 082772020  $   28.00  2-3, 2-4, 2-5, 2-7 

1412-B001-5 082778020  $   49.00  2-6 

1412-B001-9 082766020  $   17.00  2-3, 2-4, 2-5, 2-6, 2-7 
 

 

CA
RD

IN
AL

CA
RD

IN
AL

-- M
UR

PH
Y

M
UR

PH
Y   



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  2-2 

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  2-3 

 

 

Truck Scale Truck Scale   Models: 3024SR and 3034SRModels: 3024SR and 3034SR  
2-Section, 30-Ton, 24 and 34-Ft. 
 

 

Pivot and BearingPivot and Bearing Kit # 082863020Kit # 082863020 .......................................................................................................... Total Kit Price $ 795.00Total Kit Price $ 795.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DesPart Descriptioncription  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082766020 Bearing, fulcrum, 1" x 1" x 2" L 2 17.00 
AA  082772020 Bearing, fulcrum, and load, 1" x 1" x 6" L 8 28.00 
BB   082761020* Pivot, load, 1/2" x 1 1/8" x 3 7/8" L 2 24.00 
BB   082765020* Pivot, tip, and fulcrum, 1/2" x 1 1/8" x 2" L 5 16.00 
BB   082773020* Pivot, load and fulcrum, 1/2" x 1 1/8" x 6" L 8 28.00 

CC  082776020 
Bearing, upper shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 2 26.00 

DD  082775020 Bolt, shackle, 5/8" diameter x 15" L 4 10.00 
EE  082777020 Loop, tip, 3 1/4" loop length, bearing 1" L 1 60.00 

FF  082774020 
Bearing, lower shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 2 28.00 

* Standard width of 0.496".  For accuracy, measure load and fulcrum pivot before ordering. Custom ground width available at no charge. 

AA  

  

BB  

  

CC  

  
  

DD  
  

  

EE  

  
082772020, 082766020  082761020*, 082765020* 

082773020* 
082776020 082775020 082777020 

FF  

  

     

082774020       
 

CA
RD

IN
AL

CA
RD

IN
AL

-- M
UR

PH
Y

M
UR

PH
Y   



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  2-4 

 

 

Model: 5045SRModel: 5045SR  Truck ScaleTruck Scale  
3-Section, 50-Ton, 45-Ft. 
 

 

Pivot and Bearing Kit # 082858020Pivot and Bearing Kit # 082858020 ............................................................ Total Kit Price $ 1,175.00Total Kit Price $ 1,175.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082766020 Bearing, fulcrum, 1" x 1" x 2" L 3 17.00 
AA  082772020 Bearing, fulcrum and load, 1" x 1" x 6" L 12 28.00 
BB   082761020* Pivot, Load, 1/2" x 1 1/8" x 3 7/8" L 3 24.00 
BB  082765020* Pivot, tip and fulcrum, 1/2" x 1 1/8" x 2" L 7 16.00 
BB   082773020* Pivot, load and fulcrum, 1/2" x 1 1/8" x 6" L 12 28.00 

CC  082776020 
Bearing, upper shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 3 26.00 

DD  082775020 Bolt, shackle, 5/8" Diameter x 15" L 6 10.00 
EE  082777020 Loop, tip, 3 1/4" loop length, bearing 1" L 1 60.00 

FF  082774020 
Bearing, lower shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 3 28.00 

* Standard width of 0.496".  For accuracy, measure load and fulcrum pivot before ordering. Custom ground width available at no charge. 

AA  

  

BB  

  

CC  

  

DD  
  

  

EE  

  
082766020, 082772020 

 
082761020*, 082765020* 

082773020* 
082776020 082775020 082777020 

FF  

 

    

082774020     

 

CARD
IN

AL
CARD

IN
AL -- M

URPH
Y

M
URPH

Y   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  2-5 

 

 

Truck Scale Truck Scale   Models: 5050SR, 5060SR, 5070SR,Models: 5050SR, 5060SR, 5070SR, 
6050SR, 6060SR, and 6070SR6050SR, 6060SR, and 6070SR 
4-Section, 50 and 60-Ton, 50, 60 and 70-Ft. 
 

 
 

Pivot and Bearing Kit # 082865Pivot and Bearing Kit # 082865020020  ............................................................................................................ Total Kit Price $ 1,525.00Total Kit Price $ 1,525.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082766020 Bearing, fulcrum, 1" x 1" x 2" L 4 17.00 
AA  082772020 Bearing, fulcrum and load, 1" x 1" x 6" L 16 28.00 
BB   082761020* Pivot, load, 1/2" x 1 1/8" x 3 7/8" L 4 24.00 
BB   082765020* Pivot, tip and fulcrum, 1/2" x 1 1/8" x 2" L 9 16.00 
BB   082773020* Pivot, load and fulcrum, 1/2" x 1 1/8" x 6" L 16 28.00 

CC  082776020 
Bearing, upper shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 4 26.00 

DD  082775020 Bolt, shackle, 5/8" diameter x 15" L 8 10.00 
EE  082777020 Loop, tip, 3 1/4" loop length, bearing 1" L  1 60.00 

FF  082774020 
Bearing, lower shackle bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 4 28.00 

* Standard width of 0.496".  For accuracy, measure load and fulcrum pivot before ordering. Custom ground width available at no charge.  

AA  

  

BB  

  

CC  

  
  

DD  
  

  

EE  

  
082766020, 082772020 082761020*, 082765020* 

082773020* 
082776020 082775020 082777020 

FF  

 

    

082774020      

 

CA
RD

IN
AL

CA
RD

IN
AL

-- M
UR

PH
Y

M
UR

PH
Y   



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  2-6 

 

 

Models:Models: 8050SR, 8060SR and 8070SR8050SR, 8060SR and 8070SR  Truck ScaleTruck Scale  
4-Section, 80-Ton, 50, 60 and 70-Ft. 
 

 

Pivot and BearingPivot and Bearing Kit # 082866020Kit # 082866020 ............................................................... Total Kit Price $ 1,725.00Total Kit Price $ 1,725.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082766020 Bearing, fulcrum, 1" x 1" x 2" L 4 17.00 
AA  082778020 Bearing, fulcrum and load, 1" x 1" x 8" L 16 49.00 
BB   082761020* Pivot, load, 1/2" x 1 1/8" x 3 7/8" L 4 24.00 
BB   082765020* Pivot, tip and fulcrum, 1/2" x 1 1/8" x 2" L 9 16.00 
BB   082779020* Pivot, load and fulcrum, 1" x 1 1/8" x 8" L 16 50.00 

CC  082776020 
Bearing, upper shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 4 26.00 

DD  082775020 Bolt, shackle, 5/8" diameter x 15" L 8 10.00 
EE  082777020 Loop, tip, 3 1/4" loop length, bearing 1" L  1 60.00 

FF  082774020 
Bearing, lower shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 4 28.00 

* Standard width of 0.496".  For accuracy, measure load and fulcrum pivot before ordering. Custom ground width available at no charge. 

AA  

  

BB  

  

CC  

  

DD  
  

  

EE  

  
082766020, 082778020 082761020*, 082765020* 

082779020* 
082776020 082775020 082777020 

FF 

 

    

082774020      

 

CARD
CARD

IN
AL

IN
AL -- M

URPH
Y

M
URPH

Y   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  2-7 

 

 

Truck Scale Truck Scale   MModels: 5080SR and 6080SRodels: 5080SR and 6080SR  
5-Section, 50 and 60-Ton, 80-Ft. 
 
 

 

Pivot and BearingPivot and Bearing Kit # 082867020Kit # 082867020  ................................................................................................................ Total Kit Price $ 1,875.00Total Kit Price $ 1,875.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082766020 Bearing, fulcrum, 1" x 1" x 2" L 5 17.00 
AA  082772020 Bearing, fulcrum and load, 1" x 1" x 6" L 20 28.00 
BB   082761020* Pivot, load, 1/2" x 1 1/8" x 3 7/8" L 5 24.00 
BB   082765020* Pivot, tip and fulcrum, 1/2" x 1 1/8" x 2" L 11 16.00 
BB   082773020* Pivot, load and fulcrum, 1/2" x 1 1/8" x 6" L 20 28.00 

CC  082776020 
Bearing, upper shackle, bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 5 26.00 

DD  082775020 Bolt, shackle, 5/8" diameter x 15" L 10 10.00 
EE  082777020 Loop, tip, 3 1/4" loop length, bearing 1" L 1 60.00 

FF  082774020 
Bearing, lower shackle bearing 2" L; total length 5" 
hole diameter: 11/16", 3 1/4" between holes, center to center 5 28.00 

* Standard width of 0.496".  For accuracy, measure load and fulcrum pivot before ordering. Custom ground width available at no charge.  

AA  

  

BB  

  

CC  

  
  

DD  
  

  

EE  

  
082766020, 082772020 

 
082761020*, 082765020* 

082773020* 
082776020 082775020 082777020 

FF 

 

    

082774020      

 

CA
RD

IN
AL

CA
RD

IN
AL

-- M
UR

PH
Y

M
UR

PH
Y   



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  2-8 

 



  

  

  
  

  
  

Dial HeadsDial Heads  
 
 

 
 

Overhaul Kit Reference 
 

Overhaul Kit Description  
 





  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  3-1 

 

 

  Detecto Cross ReferenceDetecto Cross Reference  
 

 
 
 
  

Cross Reference by Detecto Indicator Model NumberCross Reference by Detecto Indicator Model Number 
Detecto Detecto   

Model NumberModel Number  
METTLER TOLEDOMETTLER TOLEDO    

Overhaul KitsOverhaul Kits 
  
Kit DescriptionsKit Descriptions 

  
PricePrice  

  
PagePage  

N100 082938020 Head Kit with choice of Pinion, standard N011 $380.00 3-3 

  

Cross Reference by Detecto Part NumbersCross Reference by Detecto Part Numbers 

Detecto  Detecto    
Part Part NumberNumber  

METTLER TOLEDOMETTLER TOLEDO              
Part Part NumberNumber  

    
Price Price   

  
PagePage  

 257GR14 082933020 50.00 3-3 

434GR33 082934020 127.00 3-3 

530G2 082928020 107.00 3-3 

530GR739 083931020 102.00 3-3 

530GR749 082932020 102.00 3-3 

530R730 083930020 112.00 3-3 

530R79 083929020 95.00 3-3 

561R613 082936020 112.00 3-3 

574R73W/P 082935020 42.00 3-3 

U550 082937020 15.50 3-3 

  

D
ET

EC
TO

D
ET

EC
TO

  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  3-2 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.   (9/00)  3-3 

 

 

Head Kits Head Kits   Models: Dials for Mechanical Models: Dials for Mechanical ScalesScales  
Cardinal Scale Mfg. Co., John Chatillon and Sons, Inc.,  
Emery Winslow Scale Co., Hardy Instruments and Thurman Scale Co. 

 
 

Head Kit # 082938020Head Kit # 082938020..........................................................................................................................Total Kit Price $ 380.00Total Kit Price $ 380.00  
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  DescriptioDescriptionn  Kit Qty.Kit Qty.  List Price EachList Price Each  
AA  082933020 Ribbons 2/pkg. 0.5" wide x 0.005” with end clip 2 50.00 
BB  082934020 Roller yoke assembly 1 127.00 
CC  082935020 Brass rollers and roller pins 2 42.00 
DD  082936020 Pendulum shaft stainless steel 2 112.00 
EE  082937020 Bearing, Chrome Steel 6 15.50 
FF  082928020 Pinion, 7.125"  L (standard) (additional pinion choices below) 1 107.00 

Kit Numbers for Optional PKit Numbers for Optional Pinionsinions  

Optional Pinion Kit # 082939020Optional Pinion Kit # 082939020.................................................................................................................. Total Kit Price $ 370.00Total Kit Price $ 370.00 
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  DescriptionDescription  Kit Qty.Kit Qty.  List Price EachList Price Each  
GG  083929020 Pinion, pointer shaft 5.9375" L 1   95.00 

Optional PinOptional Pinion Kit # 082940020ion Kit # 082940020.................................................................................................................. Total Kit Price $ 385.00Total Kit Price $ 385.00 
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  DescriptionDescription  Kit Qty.Kit Qty.  List Price EachList Price Each  
HH  083930020 Pinion, assembly 6.500" L 1   112.00 

Optional Pinion Kit # 082941020Optional Pinion Kit # 082941020.................................................................................................................. Total Kit Price $ 375.00Total Kit Price $ 375.00 
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  DescriptionDescription  Kit Qty.Kit Qty.  List Price EachList Price Each  
II  083931020 Pinion, extended end 6.625" L 1   102.00 

Optional Pinion Kit # 082942020Optional Pinion Kit # 082942020.................................................................................................................. Total KTotal Kit Price $ 375.00it Price $ 375.00 
Component Parts in Overhaul Kit  

Ref.Ref.  Part NumberPart Number  DescriptionDescription  Kit Qty.Kit Qty.  List Price EachList Price Each  
JJ  083932020 Pinion, extended end 6.625" L 1   102.00 

 
AA  

  
  

BB  

  

CC  

  

DD  
  

  

EE  

  

082933020 082934020 082935020 082936020 082937020 

FF  
.875

7.125
2.178

1.750

  

GG  

  

HH  

  

II  
.875

.225
6.625

.787

1.625   

JJ  
.812

6.625

.875

  

082928020 083929020 083930020 083931020 083932020 

 

D
ET

EC
TO

D
ET

EC
TO

  

.875

5.9375
1.562

.225

.219
6.500

1.750



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  3-4 

 



  
 

Truck ScalesTruck Scales 
 
 
 
 
 
 
 

Overhaul Kit Reference 
 

Main Lever Reference 
 

Part Price Reference 
 

Overhaul Kit Description 
 



  

  

 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-1 

  

 

  Fairbanks Cross ReferenceFairbanks Cross Reference  
 
 

 
 
 

Cross Reference by Fairbanks Scale Model NumberCross Reference by Fairbanks Scale Model Number  
METTLER TOLEDO Overhaul KMETTLER TOLEDO Overhaul Kitsits  

Old StyleOld Style  ConversionConversion  New StyleNew Style  SuspensionSuspension  

Fairbanks Fairbanks 
Scale Scale   

Model No.Model No.  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  

  
  
Kit DescriptionsKit Descriptions  

  
  

PagePage 

11-3102 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

11-3116 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

11-3129 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

11-3134 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

11-3141 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

11-3153(A) 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

11-3158 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton 4-9 

11-3331 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton  4-11 

11-3332 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton  4-11 

11-3334 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton  4-11 

11-3342 082896020 $1,750.00 083155020  $1,680.00 083156020  $1,450.00 083145020 $4,080.00 
4-section, 50 & 60-ton, 30-ton 
sectional capacity 4-12 

11-3344 082896020 $1,750.00 083155020  $1,680.00 083156020  $1,450.00 083145020 $4,080.00 
4-section, 50 & 60-ton, 30-ton 
sectional capacity 4-12 

11-3352 082911020 $2,160.00 082912020  $2,525.00 082913020  $2,150.00 083148020 $4,950.00 
4-section, 60 & 75-ton, 40-ton 
sectional capacity 4-17 

11-3354 082911020 $2,160.00 082912020  $2,525.00 082913020  $2,150.00 083148020 $4,950.00 
4-section, 60 & 75-ton, 40-ton 
sectional capacity 4-17 

11-3356 082914020 $2,850.00 082915020  $3,250.00 082916020  $2,775.00 083149020 $5,853.00 
5-section, 60, 75 & 80-ton, 
40-ton sectional capacity 4-18 

11-3380 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton 4-11 

11-3381 082896020 $1,750.00 083155020  $1,680.00 083156020  $1,450.00 083145020 $4,080.00 
4-section, 50 & 60-ton, 30-ton 
sectional capacity 4-12 

11-3382 082896020 $1,750.00 083155020  $1,680.00 083156020  $1,450.00 083145020 $4,080.00 
4-section, 50 & 60-ton, 30-ton 
sectional capacity 4-12 

11-3383 082896020 $1,750.00 083155020  $1,680.00 083156020  $1,450.00 083145020 $4,080.00 
4-section, 50 & 60-ton, 30-ton 
sectional capacity 4-12 

11-3384 082899020 $2,285.00 082900020  $2,150.00 082901020  $1,875.00 083146020 $4,695.00 
5-section, 50 & 60-ton, 30-ton 
sectional capacity 4-13 

11-3385 082899020 $2,285.00 082900020  $2,150.00 082901020  $1,875.00 083146020 $4,695.00 
5-section, 50 & 60-ton, 30-ton 
sectional capacity 4-13 

11-3394 082911020 $2,160.00 082912020  $2,525.00 082913020  $2,150.00 083148020 $4,950.00 
4-section, 60 & 75-ton, 40-ton 
sectional capacity 4-17 

11-3436 082917020 $2,250.00 082918020  $2,060.00 082919020  $1,790.00 083091020 $3,400.00 5-section, 50-ton  4-19 

11-3446 082899020 $2,285.00 082900020  $2,150.00 082901020  $1,875.00 083146020 $4,695.00 
5-section, 50 & 60-ton, 30-ton 
sectional capacity 4-13 

11-3464 082927020 $2,325.00 NA NA NA NA NA NA 
Type S, 4-section, 120-ton, 
60-ton sectional capacity 4-22 

11-3466 082926020  $2,925.00 NA NA NA NA NA NA 
Type S, 5-section, 120-ton, 
60-ton sectional capacity 4-23 

11-3474 082927020 $2,325.00 NA NA NA NA NA NA 
Type S, 4-section, 120-ton, 
60-ton sectional capacity 4-22 

11-3476 082926020  $2,925.00 NA NA NA NA NA NA 
Type S, 5-section, 120-ton, 
60-ton sectional capacity 4-23 

11-3482 082914020 $2,850.00 082915020  $3,250.00 082916020  $2,775.00 083149020 $5,853.00 
5-section, 60, 75 & 80-ton, 
40-ton sectional capacity 4-18 

11-3484 082899020 $2,285.00 082900020  $2,150.00 082901020  $1,875.00 083146020 $4,695.00 
5-section, 50 & 60-ton, 30-ton 
sectional capacity 4-13 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-2 

Cross Reference by Fairbanks Scale Model Number (CCross Reference by Fairbanks Scale Model Number (Continued)ontinued) 

METTLER TOLEDO Overhaul KitsMETTLER TOLEDO Overhaul Kits  
Old StyleOld Style  ConversionConversion  New StyleNew Style  SuspensionSuspension  

Fairbanks Fairbanks 
Scale Scale   

Model No.Model No.  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  

  
  
Kit DescriptionsKit Descriptions  

  
  

PagePage 

11-3485 082914020 $2,850.00 082915020  $3,250.00 082916020  $2,775.00 083149020 $5,853.00 
5-section, 60, 75 & 80-ton, 
40-ton sectional capacity 4-18 

11537 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

11540 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

11541 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

11544 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

11545 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

11546 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

11547 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

11-6186A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

11-6187A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

11-6188A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

11-6189A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

11-6190A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

11-6197A 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

11-6198A 082908020 $  932.00 082909020  $1,025.00 082910020  $   875.00 083147020 $1,331.00 20 & 26-ton axle load 4-16 

11-6199A 082908020 $  932.00 082909020  $1,025.00 082910020  $   875.00 083147020 $1,331.00 20 & 26-ton axle load 4-16 

12074 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton 4-9 

12075 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

12076 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

12077 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

12078 082920020 $1,210.00 082921020  $1,400.00 082922020  $1,200.00 083150020 $1,875.00 2-section, 20-ton 4-20 

12082 082920020 $1,210.00 082921020  $1,400.00 082922020  $1,200.00 083150020 $1,875.00 2-section, 20-ton 4-20 

12083 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

12086 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

12087 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

12088 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

12089 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

12090 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton  4-10 

12091 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12092 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12093 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12094 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12095 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12096 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12097 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12098 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton 4-7 

12099 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

12101 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

12102 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

12254 082920020 $1,210.00 082921020  $1,400.00 082922020  $1,200.00 083150020 $1,875.00 2-section, 20-ton 4-20 

12256 082920020 $1,210.00 082921020  $1,400.00 082922020  $1,200.00 083150020 $1,875.00 2-section, 20-ton 4-20 

12257 082923020 $1,790.00 082924020  $1,885.00 082925020  $1,580.00 083151020 $2,300.00 
4-section, 50-ton, 26-ton 
sectional capacity 4-21 

12258 082923020 $1,790.00 082924020  $1,885.00 082925020  $1,580.00 083151020 $2,300.00 
4-section, 50-ton, 26-ton 
sectional capacity 4-21 

12259 082923020 $1,790.00 082924020  $1,885.00 082925020  $1,580.00 083151020 $2,300.00 
4-section, 50-ton, 26-ton 
sectional capacity 4-21 

12260 082923020 $1,790.00 082924020  $1,885.00 082925020  $1,580.00 083151020 $2,300.00 
4-section, 50-ton, 26-ton 
sectional capacity 4-21 

12261 082923020 $1,790.00 082924020  $1,885.00 082925020  $1,580.00 083151020 $2,300.00 
4-section, 50-ton, 26-ton 
sectional capacity 4-21 

12262 082923020 $1,790.00 082924020  $1,885.00 082925020  $1,580.00 083151020 $2,300.00 
4-section, 50-ton, 26-ton 
sectional capacity 4-21 

12263 082923020 $1,790.00 082924020  $1,885.00 082925020  $1,580.00 083151020 $2,300.00 
4-section, 50-ton, 26-ton 
sectional capacity 4-21 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-3 

Cross Reference by Fairbanks Scale Model Number (Continued)Cross Reference by Fairbanks Scale Model Number (Continued)  
METTLER TOLEDO Overhaul KitsMETTLER TOLEDO Overhaul Kits  

Old StyleOld Style  ConversionConversion  New StyleNew Style  SuspensionSuspension  

Fairbanks Fairbanks 
Scale Scale   

Model No.Model No.  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  Kit No.Kit No.  PricePrice  

  
  
Kit DescriptionsKit Descriptions  

  
  

PagePage 
12302 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton 4-11 

12304 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton 4-11 

14-3392 082911020 $2,160.00 082912020  $2,525.00 082913020  $2,150.00 083148020 $4,950.00 
4-section, 60 & 75-ton, 40-ton 
sectional capacity 4-17 

14-3464 082927020 $2,325.00 NA NA NA NA N/A N/A 
Type S, 4-section, 120-ton, 
60-ton sectional capacity 4-22 

14-3466 082926020  $2,925.00 NA NA NA NA N/A N/A 
Type S, 5-section, 120-ton, 
60-ton sectional capacity 4-23 

14-3474 082927020 $2,325.00 NA NA NA NA N/A N/A 
Type S, 4-section, 120-ton, 
60-ton sectional capacity 4-22 

14-3476 082926020  $2,925.00 NA NA NA NA N/A N/A 
Type S, 5-section, 120-ton, 
60-ton sectional capacity 4-23 

14-6187A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

14-6188A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

14-6189A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

14-6190A 082885020 $  885.00 082886020  $   850.00 082887020  $   700.00 N/A N/A 2-section, 10-ton  4-8 

14-6197A 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

14-6198A 082908020 $  932.00 082909020  $1,025.00 082910020  $   875.00 083147020 $1,331.00 20 & 26-ton axle load 4-16 

6502 082891020 $  910.00 082892020  $   850.00 082893020  $   800.00 N/A N/A 2-section, 15-ton 4-10 

6504 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

6505 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

6506 082882020 $  890.00 082883020  $   890.00 082884020  $   775.00 083142020 $1,325.00 2 section, 20 & 25-ton  4-7 

6507 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

6508 082888020 $  915.00 082889020  $   900.00 082890020  $   825.00 083143020 $1,710.00 2-section, 30-ton  4-9 

6509 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton  4-11 

6510 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton  4-11 

6512 082859020 $1,675.00 083153020  $1,400.00 083154020  $1,150.00 083144020 $2,300.00 4-section, 50-ton  4-11 

6514C 082917020 $2,250.00 082918020  $2,060.00 082919020  $1,790.00 083091020 $3,400.00 5-section, 50-ton  4-19 

6516B 082896020 $1,750.00 083155020  $1,680.00 083156020  $1,450.00 083145020 $4,080.00 
4-section, 50 & 60-ton, 30-ton 
sectional capacity 4-12 

6517B 082896020 $1,750.00 083155020  $1,680.00 083156020  $1,450.00 083145020 $4,080.00 
4-section, 50 & 60-ton, 30-ton 
sectional capacity 4-12 

6518 082899020 $2,285.00 082900020  $2,150.00 083158020  $1,875.00 083146020 $4,695.00 
5-section, 50 & 60-ton, 30-ton 
sectional capacity 4-13 

6518B 082899020 $2,285.00 082900020  $2,150.00 083158020  $1,875.00 083146020 $4,695.00 
5-section, 50 & 60-ton, 30-ton 
sectional capacity 4-13 

6520B 082911020 $2,160.00 082912020  $2,525.00 082913020  $2,150.00 083148020 $4,950.00 
4-section, 60 & 75-ton, 40-ton 
sectional capacity 4-17 

6521B 082911020 $2,160.00 082912020  $2,525.00 082913020  $2,150.00 083148020 $4,950.00 
4-section, 60 & 75-ton, 40-ton 
sectional capacity 4-17 

6523B 082911020 $2,160.00 082912020  $2,525.00 082913020  $2,150.00 083148020 $4,950.00 
4-section, 60 & 75-ton, 40-ton 
sectional capacity 4-17 

6525B 082914020 $2,850.00 082915020  $3,250.00 082916020  $2,775.00 083149020 $5,853.00 
5-section, 60, 75 & 80-ton, 
40-ton sectional capacity 4-18 

S-2010 082908020 $  932.00 082909020  $1,025.00 082910020  $   875.00 083147020 $1,331.00 20-ton & 26-ton axle load 4-16 

S-208 082908020 $  932.00 082909020  $1,025.00 082910020  $   875.00 083147020 $1,331.00 20-ton & 26-ton axle load 4-16 

S-3010 082905020 $  985.00 082906020  $1,090.00 082907020  $   950.00 083143020 $1,710.00 30-ton axle load 4-15 

S-308 082902020  $  975.00 083157020  $1,080.00 082904020  $   950.00 083143020 $1,710.00 30-ton axle load 4-14 

Note:Note: All Fairbanks Kits are Pivot and Bearing Kits for Motor Truck or Axle Load Scales. 

 
 



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-4 

 

Cross Reference by Fairbanks Main Lever Casting NumberCross Reference by Fairbanks Main Lever Casting Number  
METTLER TOLEDO Kit NumberMETTLER TOLEDO Kit Number    Main LeverMain Lever  

 Casting Casting  Old StyleOld Style  ConversionConversion  New StyleNew Style  SuspensionSuspension  DescriptionDescription  

  
PagePage 

74178 082920020 082921020 082922020 083150020 2 section, 40-ton 4-20 

74178 082911020 082912020  082913020 083148020 4 section, 60 & 75-ton, 40-ton sectional 
capacity 

4-17 

74178 082914020 082915020 082916020 083149020 5 section, 60, 75 & 80-ton, 40-ton 
sectional capacity 

4-18 

80733 082902020 082903020 082904020 083143020 30-ton axle load 4-14 

80733 082905020 082906020 082907020 083143020 30-ton axle load 4-15 

80736 082891020 082892020 082893020 ---- 2 section, 15-ton 4-10 

80738 082882020 082883020 082884020 083142020 2 section, 20 and 25-ton  4-7 

80738 082859020 083153020 083154020 083144020 4 section, 50-ton  4-11 

80738 082917020 082918020 082919020 083091020 5 section, 50-ton  4-19 

80820 082902020 082903020 082904020 083143020 30-ton axle load 4-14 

82102 082908020 082909020 082910020 083147020 20 & 26-ton axle load 4-16 

83502 082923020 082924020 082925020 083151020 4 section, 50-ton, 26-ton sectional 
capacity 

4-21 

87208 082859020 083153020 083154020 083144020 4 section, 50-ton 4-11 

87208 082917020 082918020 082919020 083091020 5 section, 50-ton 4-19 

87380 082888020 082889020 082890020 083143020 2 section, 30-ton 4-9 

87380 082896020 083155020 083156020 083145020 4 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-12 

87380 082899020 082900020 082901020 083146020 5 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-13 

87392 082926020 ----- ----- ---- 4 section, 120-ton, 60-ton sectional 
capacity 

4-22 

87392 082927020 ----- ----- ---- 5 section, 120-ton 4-23 

87426 082920020 082921020 082922020 083150020 2 section, 40-ton 4-20 

87426 082911020 082912020 082913020 083148020 4 section, 60 & 75-ton, 40-ton sectional 
capacity 

4-17 

87426 082914020 082915020 082916020 083149020 5 section, 60, 75 & 80-ton, 40-ton 
sectional capacity 

4-18 

SD8E 082923020 082924020 082925020 083151020 4 section, 50-ton, 26-ton sectional 
capacity 

4-21 

SD8F 082908020 082909020 082910020 083147020 20 & 26-ton axle load 4-16 

SD8F 082923020 082924020 082925020 083151020 4 section, 50-ton, 26-ton sectional 
capacity 

4-21 

SD8G 082908020 082909020 082910020 083147020 20 & 26-ton axle load 4-16 

SD8J 082888020 082889020 082890020 083143020 2 section, 30-ton 4-9 

SD8K 082888020 082889020 082890020 083143020 2 section, 30-ton 4-9 

SD8K 082896020 083155020 083156020 083145020 4 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-12 

SD8K 082899020 082900020 082901020 083146020 5 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-13 

SD8L 082888020 082889020 082890020 083143020 2 section, 30-ton 4-9 

SD8L 082896020 083155020 083156020 083145020 4 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-12 

SD8L 082899020 082900020 082901020 083146020 5 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-13 

SD8LN 082888020 082889020 082890020 083143020 2 section, 30-ton 4-9 

SD8LN 082896020 083155020 083156020 083145020 4 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-12 

SD8LN 082899020 082900020 082901020 083146020 5 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-13 

SD8N 082888020 082889020 082890020 083143020 2 section, 30-ton 4-9 

SD8N 082896020 083155020 083156020 083145020 4 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-12 

SD8N 082899020 082900020 082901020 083146020 5 section, 50 & 60-ton, 30-ton sectional 
capacity 

4-13 

   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-5 

Cross Reference by Fairbanks Main Lever Casting Number (Continued)Cross Reference by Fairbanks Main Lever Casting Number (Continued)  

METTLER TOLEDO Kit NumberMETTLER TOLEDO Kit Number   Main LeverMain Lever  
 Casting Casting  Old StyOld Stylele  ConversionConversion  New StyleNew Style  SuspensionSuspension  DescriptionDescription  PagePage  

SDC8 082882020 082883020 082884020 083142020 2 section, 20 and 25-ton  4-7 

SDC8 082859020 083153020 083154020 083144020 4 section, 50-ton 4-11 

SDC8 082917020  082918020 082919020 083091020 5 section, 50-ton 4-19 

SE8A 082891020 082892020 082893020 ---- 2 section, 15-ton 4-10 

SEC8 082885020 082886020 082887020 ---- 2 section, 10-ton 4-8 

SEC8A 082885020 082886020 082887020 ---- 2 section, 10-ton  4-8 

SG8 082882020 082883020 082884020 083142020 2 section, 20 and 25-ton 4-7 

SG8A 082882020 082883020 082884020 083142020 2 section, 20 and 25-ton 4-7 

SG8D 082859020 083153020 083154020 083144020 4 section, 50-ton 4-11 

SG8D 082917020 082918020 082919020 083091020 5 section, 50-ton 4-19 

SG8D2 082859020 083153020 083154020 083144020 4 section, 50-ton 4-11 

SG8D2 082917020 082918020 082919020 083091020 5 section, 50-ton 4-19 

SG8D-2 082882020 082883020 082884020 083142020 2 section, 20 and 25-ton 4-7 

SGC8 082891020 082892020 082893020 ---- 2 section, 15-ton 4-10 

SH8E 082920020 082921020 082922020 083150020 2 section, 40-ton 4-20 

SH8MI 082920020 082921020 082922020 083150020 2 section, 40-ton  4-20 

SH8MI 082911020 082912020 082913020 083148020 4 section, 60 & 75-ton, 40-ton sectional 
capacity 

4-17 

SH8MI 082914020 082915020 082916020 083149020 5 section, 60, 75 & 80-ton, 40-ton 
sectional capacity 

4-18 

 



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-6 

Cross Reference by Fairbanks Part NumbersCross Reference by Fairbanks Part Numbers  

Fairbanks  Fairbanks    
Part NumberPart Number  

METTLER TOLEDO METTLER TOLEDO 
Part NumberPart Number  

    
Price Price   

  
Page(s)Page(s)  

80253 083099020 $ 225.00 4-17, 4-18, 4-20 

80267 083136020 $ 160.00 4-7, 4-11, 4-16, 4-19, 4-21 

80270 083137020 $ 190.00 4-9, 4-12, 4-13, 4-14, 4-15, 4-17, 4-18, 4-20 

82498 082830020 $   18.00 4-11, 4-12, 4-13, 4-17, 4-18, 4-19, 4-20, 4-21, 4-22, 4-23 

82499 082829020 $   32.00 4-11, 4-12, 4-13, 4-17, 4-18, 4-19, 4-20, 4-21 

83364 082824020 $     4.00 4-7, 4-8, 4-9, 4-10, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-17, 4-18, 4-19, 4-20, 4-21 

86691 083888020 $     5.00  4-7, 4-8, 4-9, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-17, 4-18, 4-19, 4-20, 4-21 

86694 083889020 $   21.00 4-7, 4-8, 4-9, 4-10, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-18, 4-19, 4-21 

86754 082843020 $   34.00 4-15, 4-17, 4-18, 4-20, 4-22, 4-23 

86755 082844020 $   23.00 4-11, 4-12, 4-13, 4-18, 4-19, 4-22, 4-23 

86797 083890020 $   29.00  4-7, 4-8, 4-10, 4-16 

86822 083891020 $   29.00 4-9, 4-11, 4-12, 4-13, 4-14, 4-15, 4-19, 4-21 

86823 083888020 $     5.00  4-7, 4-8, 4-9, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-17, 4-18, 4-19, 4-20, 4-21 

86880 083893020  $   45.00  4-15, 4-17, 4-18, 4-20 

87227 083136020 $ 160.00 4-7, 4-11, 4-16, 4-19, 4-21 

87228 083137020 $ 190.00 4-9, 4-12, 4-13, 4-14, 4-15, 4-17, 4-18, 4-20 

87255 083890020 $   29.00  4-7, 4-8, 4-10, 4-16 

87257 083893020  $   45.00  4-15, 4-17, 4-18, 4-20 

87390 082842020 $   59.00 4-22, 4-23 

87391, 1382-9 082841020 $   40.00 4-22, 4-23 

56936MI 082835020 $   43.00 4-15, 4-17, 4-18, 4-20 

N/A R01493050 $     0.50 4-7, 4-8, 4-9, 4-10, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-17, 4-18, 4-19, 4-20, 4-21 

N/A R0272700A $     0.35 4-7, 4-8, 4-9, 4-10, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-17, 4-18, 4-19, 4-20, 4-21 

RC135 083094020 $   74.00 4-7, 4-11, 4-16, 4-19, 4-21 

RC191 083096020 $ 145.00 4-7, 4-11, 4-19 

RC191A 083097020 $ 145.00 4-16, 4-21 

RD135 083095020 $   95.00 4-9, 4-12, 4-13, 4-14, 4-15, 4-17, 4-18, 4-20 

RD191 083098020 $ 190.00 4-9, 4-12, 4-13, 4-14, 4-15 

SD139A 082822020 $   17.00 4-7, 4-8, 4-9, 4-10, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-18, 4-19, 4-21, 4-23 

SD183H 082838020 $   15.00 4-16, 4-21 

SD183J 082825020 $   16.00 4-9, 4-12, 4-13, 4-14, 4-15 

SD183K 082818020 $     9.00 
4-7, 4-8, 4-9, 4-10, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-17, 4-18, 4-19, 4-20, 4-21,  

4-22, 4-23 

SD194AMI 082820020  $   32.00  4-7, 4-8, 4-9, 4-10, 4-12, 4-13, 4-14, 4-15, 4-16, 4-18, 4-19 

SD194AMI (narrow) 082828020  $   32.00  4-11, 4-21 

SD253 082821020  $     9.00  
4-7, 4-8, 4-9, 4-10, 4-11, 4-12, 4-13, 4-14, 4-15, 4-16, 4-17, 4-18, 4-19, 4-20, 4-21,  

4-22, 4-23 

SD255A 082837020  $   14.00  4-16, 4-21 

SD255C 082826020  $   16.00  4-9, 4-12, 4-13, 4-14, 4-15 

SE183F 082827020  $   17.00  4-10 

SE183G 082833020  $   17.00  4-15, 4-17, 4-18, 4-20, 4-22, 4-23 

SE255 083892020  $   13.00  4-10 

SG183A 082819020  $   13.00  4-7, 4-11, 4-19 

SG255 082823020  $   11.00  4-7, 4-11, 4-19 

SH139 082836020  $   22.25  4-15, 4-17, 4-18, 4-20, 4-22, 4-23 

SH183E 082839020  $   17.00  4-17, 4-18, 4-20 

SH253 082834020  $   10.00  4-15, 4-17, 4-18, 4-20, 4-22, 4-23 

SH255A 082840020  $   14.00  4-17, 4-18, 4-20 

TX152 082831020  $     3.00  4-11, 4-12, 4-13, 4-17, 4-18, 4-19, 4-20, 4-21 

 
 
 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-7 

 

 

Truck ScaleTruck Scale  Models: 11Models: 11--3129, 113129, 11--3134, 113134, 11--3141, 3141,   
  1111--6197A, 11541, 11544, 11545, 11546, 6197A, 11541, 11544, 11545, 11546, 

12091, 12092, 12093, 12094, 12095, 12096, 12091, 12092, 12093, 12094, 12095, 12096, 
12097, 12098, 1412097, 12098, 14--6197A, 6504, 6505 and 65066197A, 6504, 6505 and 6506  
2-Section, 20 and 25-Ton  
Main Lever Casting # 80738, SDC8, SG8, SG8A, SG8D2 

 
Pivot & Bearing Kit # 082882020Pivot & Bearing Kit # 082882020 (Old Style)  (Old Style) .............................................................. Total Kit Price  $890.00Total Kit Price  $890.00  
Pivot & Bearing Kit # 082883020Pivot & Bearing Kit # 082883020 (Conversion (Conversion••) ) ...................................................... Total Kit Price  $890.00Total Kit Price  $890.00  
Pivot & Bearing Kit # 0828Pivot & Bearing Kit # 08288402084020 (New Style)  (New Style) ............................................................ Total Kit Price  $775.00Total Kit Price  $775.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 20 20 20 9.00 
BB  082819020 Bearing, 1/2" x 1" x 2 1/16" L 8 8 8 13.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 7 0 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 20 20 20 9.00 
DD  082823020 Pivot, 1/2" x 1" x 2" L, tapered on both ends 8 8 8 11.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 7 7 7 17.00 
EE  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
FF  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 14 5.00 
GG  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 7 7 21.00 
HH    083890020* Bearing block, 1 3/4" x 5 13/32" L 0 7 0 29.00 
II  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
II  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

• Need main lever fulcrum stand number for ordering the correct bearing block. 

 *083890020 includes 083888020 thrust caps. 

AA  
  

BB  
  

CC  

  

DD  
  

EE  

  
082818020 

 
082819020 082820020 082821020, 082822020 

082823020 
082824020 

 

FF  
  

GG  

  

HH  

  

II  

  

JJ  
  

083888020 083889020 083890020 R01493050, R0272700A 083094020 

KK  

  
  

LL  

  

   

083096020 083136020    

Suspension Kit # 083142020Suspension Kit # 083142020 .............................................................................................. Total Kit Price  $1,325.00Total Kit Price  $1,325.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

JJ  083094020 Link, 6 7/8” inside length 8 $   74.00 
KK  083096020 Saddle block assembly, 8 3/8” L 4 145.00 
LL  083136020 Trunnion block assembly, 7” L 4 160.00 

 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-8 

 

 

Models: 11Models: 11--3102, 113102, 11--6186A, 116186A, 11--6187A,6187A, Truck ScaleTruck Scale  
1111--6188A, 116188A, 11--6189A,6189A, 1111--6190A, 12083, 12086,6190A, 12083, 12086,  
1414--6187A, 146187A, 14--6188A, 146188A, 14--6189A and 146189A and 14--66190A190A 
2-Section, 10-Ton  
Main Lever Casting # SEC8, SEC8A  

Pivot & Bearing Kit # 082885020Pivot & Bearing Kit # 082885020 (Old Style)  (Old Style) .............................................................. Total Kit Price  $885.00Total Kit Price  $885.00  
Pivot & Bearing Kit # 082886020Pivot & Bearing Kit # 082886020 (Conversion)  (Conversion) ........................................................ Total Kit Price  $850Total Kit Price  $850.00.00  
Pivot & Bearing Kit # 082887020Pivot & Bearing Kit # 082887020 (New Style)  (New Style) ............................................................ Total Kit Price  $700.00Total Kit Price  $700.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 28 28 28 9.00 
BB  082820020 Bearing, 1" x 1/2" x 5 1/2" L 7 0 0 32.00 
CC  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 28 28 28 9.00 
CC  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 7 7 7 17.00 
DD  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
EE  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 14 5.00 
FF  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 7 7 21.00 
GG    083890020* Bearing block, 1 3/4" x 5 13/32" L 0 7 0 29.00 
HH  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
HH  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083890020 includes 083888020 thrust caps. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
082818020 082820020 082821020, 082822020 082824020 083888020 

FF  

  

GG  

  

HH  

  

  
  

  

083889020 083890020 R01493050, R0272700A   

 
FAIRBAN

KS
FAIRBAN

KS   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-9 

 

 

Truck ScaleTruck Scale  Models: 11Models: 11--3153, 113153, 11--3153A, 113153A, 11--3158, 3158,   
  12074, 12075, 12076, 1212074, 12075, 12076, 12077, 12099, 077, 12099, 

12101, 12102, 6507 and 6508 12101, 12102, 6507 and 6508   
2-Section, 30-Ton  
Main Lever Casting # 87380, SD8J, SD8K, SD8L, SD8LN, SD8N 

 
Pivot & Bearing Kit # 082888020Pivot & Bearing Kit # 082888020 (Old Style)  (Old Style) .............................................................. Total Kit Price  $915.00Total Kit Price  $915.00  
Pivot & Bearing Kit # 082889020Pivot & Bearing Kit # 082889020 (Conversion)  (Conversion) ........................................................ Total Kit Price  $900.00Total Kit Price  $900.00  
Pivot & Bearing Kit # 082890020Pivot & Bearing Kit # 082890020 (New Style)  (New Style) ............................................................ Total Kit Price  $825.00Total Kit Price  $825.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Con Conv.v.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 20 20 20 9.00 
BB  082825020 Bearing, 1/2" x 1" x 3 5/16" L 8 8 8 16.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 7 0 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 20 20 20 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 7 7 7 17.00 
DD  082826020 Pivot, 1/2" x 1" x 3 1/4" L, tapered on both ends 8 8 8 16.00 
EE  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
FF  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 14 5.00 
GG  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 7 7 21.00 
HH    083891020* Bearing block, 2" x 5 13/32" L 0 7 0 29.00 
II  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
II  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083891020 includes 083888020 thrust caps. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
082818020 

 
082825020 082820020 082821020, 082822020 

082826020 
082824020 

 

FF  

  

GG  

  

HH  

  

II  

  

JJ  
  

083888020 083889020 083891020 R01493050, R0272700A 083095020 

KK  
  

LL  
  

   

083098020 083137020    

Suspension Kit # 083143020Suspension Kit # 083143020 .............................................................................................. Total Kit Price  $1,710.00Total Kit Price  $1,710.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

JJ  083095020 Link, 8 1/2” inside length 8 $   95.00 
KK  083098020 Saddle block assembly, 11 1/2” L 4 190.00 
LL  083137020 Trunnion block assembly, 7 5/8” L 4 190.00 

 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-10 

 

 

Models: 11Models: 11--3116, 11537, 11540, 11547,3116, 11537, 11540, 11547, Truck ScaleTruck Scale  
12087, 12088, 12089, 12090 and 650212087, 12088, 12089, 12090 and 6502  
2-Section, 15-Ton 
Main Lever Casting # 80736, SE8A, SGC8  
 
 

Pivot & Bearing Kit # 082891020Pivot & Bearing Kit # 082891020 (Old Style)  (Old Style) .............................................................. Total Kit Price  $910.00Total Kit Price  $910.00  
Pivot & Bearing Kit # 082892020Pivot & Bearing Kit # 082892020 (Conversion)  (Conversion) ........................................................ Total Kit Price  $850.00Total Kit Price  $850.00  
Pivot & Bearing Kit # Pivot & Bearing Kit # 082893020082893020 (New Style)  (New Style) ............................................................ Total Kit Price  $800.00Total Kit Price  $800.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 20 20 20 9.00 
BB  082827020 Bearing, 1/2" x 1" x 1 9/16" L 8 8 8 17.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 7 0 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 20 20 20 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 7 7 7 17.00 
DD  083892020 Pivot, 1/2" x 1" x 1/2" L 8 8 8 13.00 
EE  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
FF  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 7 0 21.00 
GG    083890020* Bearing block, 1 3/4" x 5 13/32" L 0 7 0 29.00 
HH  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
HH  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083890020 includes 083888020 thrust caps. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

082818020 
 

082827020 082820020 082821020, 082822020 
083892020 

082824020 
 

FF  

  

GG  

  

HH  

  

  
  

  
  

083889020 083890020 R01493050, R0272700A   

 

FF AIRBAN
KS

AIRBAN
KS   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-11 

 

 

Truck ScaleTruck Scale  Models: 11Models: 11--3331, 113331, 11--3332, 113332, 11--3334, 3334,   
  1111--3380,3380, 12302, 12304, 6509, 6510  12302, 12304, 6509, 6510   
  and 6512and 6512  

4-Section, 50-Ton  
Main Lever Casting # 80738, 87208, SDC8, SG8D, SG8D2  

 
Pivot & Bearing Kit # 082859020Pivot & Bearing Kit # 082859020 (Old Style)  (Old Style) ..........................................................Total Kit Price  $1,675.00Total Kit Price  $1,675.00  
Pivot & Bearing Kit # 083153020Pivot & Bearing Kit # 083153020 (Conversion (Conversion••) ) ..................................................Total Kit Price  $1,400.00Total Kit Price  $1,400.00  
Pivot & Bearing Kit # 083154020Pivot & Bearing Kit # 083154020 (New Style)  (New Style) ........................................................Total Kit Price  $1,150.00Total Kit Price  $1,150.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NNewew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 40 40 40 9.00 
BB  082819020 Bearing, 1/2" x 1" x 2 1/16" L 16 16 16 13.00 
CC  082828020 Bearing, 1" x 1/2" x 5 1/2" L 12 2 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 40 40 40 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 12 12 12 17.00 
DD  082823020 Pivot, 1/2" x 1" x 2" L, tapered on both ends 16 16 16 11.00 
EE  082829020 Bearing, 1" x 1/2" x 5 1/2" L 1 1 0 32.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 1 1 18.00 
GG  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
HH  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L  20 20 20 4.00 
II  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 16 5.00 
JJ  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 10 12 21.00 
KK    083891020* Bearing block, 2" x 5 13/32" L 0 10 0 29.00 
LL  082844020 Bearing, 1" x 1/2" x 5 25/64" L 0 0 1 23.00 
----  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
----  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

• Need main lever fulcrum stand number for ordering the correct bearing block. 
 *083891020 includes 083888020 thrust caps. 
AA  

  
BB  
  

CC  
  

DD  
  

EE  

  
082818020 

 
082819020 082828020 082821020, 082822020 

082823020 
082829020 

 

FF  
  

GG  
  

HH  
  

II  
  

JJ  

  

082830020 082831020 082824020 083888020 083889020 

KK  

 

LL  

 

MM  
 

NN  
 

OO  
 

083891020  083844020 083094020 083096020 083136020 

  

Suspension Kit # 083144020Suspension Kit # 083144020 ....................................................................................................Total KiTotal Kit Price  $2,300.00t Price  $2,300.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083094020 Link, 6 7/8” inside length 16 $   74.00 
NN  083096020 Saddle block assembly, 8 3/8” L 8 145.00 
OO  083136020 Trunnion block assembly, 7” L 8 160.00 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  

 



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-12 

 

 

Models: 11Models: 11--3342, 113342, 11--3344, 113344, 11--3381, 3381,  Truck ScaleTruck Scale  
1111--3382, 113382, 11--3383, 6516B and 6517B3383, 6516B and 6517B  
4-Section, 50 and 60-Ton, 30-Ton Sectional Capacity,  
Main Lever Casting # 87380, SD8K, SD8L, SD8LN and SD8N  
  

Pivot & Bearing Kit Pivot & Bearing Kit # 082896020# 082896020 (Old Style)  (Old Style) .......................................................... Total Kit Price  $1,750.00Total Kit Price  $1,750.00  
Pivot & Bearing Kit # 083155020Pivot & Bearing Kit # 083155020 (Conversion)  (Conversion) .................................................... Total Kit Price  $1,680.00Total Kit Price  $1,680.00  
Pivot & Bearing Kit # 083156020Pivot & Bearing Kit # 083156020 (New Styl (New Style) e) ........................................................ Total Kit Price  $1,450.00Total Kit Price  $1,450.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 40 40 40 9.00 
BB  082825020 Bearing, 1/2" x 1" x 2 1/16" L 16 16 16 16.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 12 2 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 40 40 40 9.00 
DD  082826020 Pivot, 1/2" x 1" x 3 1/4" L, tapered on both ends 16 16 16 16.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 12 12 12 17.00 
EE  082829020 Bearing, 1" x 1/2" x 5 1/2" L 1 1 0 32.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 1 1 18.00 
GG  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
HH  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L  20 20 20 4.00 
II  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 26 5.00 
JJ  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 10 12 21.00 
KK    083891020* Bearing block, 2" x 5 13/32" L 0 10 0 29.00 
LL  082844020 Bearing, 1" x 1/2" x 5 25/64" L 0 0 1 23.00 
----  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
----  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083891020 includes 083888020 thrust caps. 

AA  
  

BB  
  

CC  
  

DD  
  

EE  

  

082818020 
 

082825020 082820020 082821020, 082822020 
082826020 

082829020 
 

FF  
  

GG  
  

HH  
  

II  
  

JJ  

  

082830020 082831020 082824020 083888020 083889020 

KK  
  

LL  
  

MM  
  

NN  
  

OO  
 

083891020  082844020 083095020 083098020 083137020 

Suspension Kit # 083145020Suspension Kit # 083145020 .................................................................................................... Total Kit Price  $4,080.00Total Kit Price  $4,080.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083095020 Link, 8 1/2” inside length 16 $   95.00 
NN  083098020 Saddle block assembly, 11 1/2” L 8 190.00 
OO  083137020 Trunnion block assembly, 7 5/8” L 8 190.00 

FAIRBAN
KS

FAIRBAN
KS   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-13 

 

 

Truck ScaleTruck Scale  Models: 11Models: 11--3384, 113384, 11--3385, 113385, 11--3446, 3446,   
  1111--3484, 6518 and 6518B3484, 6518 and 6518B  

5-Section, 50 and 60-Ton, 30-Ton Sectional Capacity,  
Main Lever Casting # 87380, SD8K, SD8L, SD8LN and SD8N 
  

 
Pivot & Bearing Kit # 082899020 (Old Style) Pivot & Bearing Kit # 082899020 (Old Style) ..........................................................Total Kit Price  $2,285.00Total Kit Price  $2,285.00  
Pivot & Bearing Kit # 082900020 (Conversion) Pivot & Bearing Kit # 082900020 (Conversion) ....................................................Total Kit Price  $2,150.00Total Kit Price  $2,150.00  
Pivot & Bearing Kit # 08315802Pivot & Bearing Kit # 083158020 (New Style) 0 (New Style) ........................................................Total Kit Price  $1,875.00Total Kit Price  $1,875.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 54 54 54 9.00 
BB  082825020 Bearing, 1/2" x 1" x 2 1/16" L 20 20 20 16.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 16 4 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 54 54 54 9.00 
DD  082826020 Pivot, 1/2" x 1" x 3 1/4" L, tapered on both ends 20 20 20 16.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/2 " L, tapered on both ends 16 16 16 17.00 
EE  082829020 Bearing, 1" x 1/2" x 5 1/2" L 1 1 0 32.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/2 " L 1 1 1 18.00 
GG  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
HH  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 24 24 24 4.00 
II  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 24 5.00 
JJ  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 12 16 21.00 
KK    083891020* Bearing block, 2" x 5 13/32" L 0 12 0 29.00 
LL  082844020 Bearing, 1" x 1/2" x 5 25/64" L 0 0 1 23.00 
----  R01493050 Screw, #10-24 x 3/8" L 22 22 22 0.50 
----  R0272700A Screw, 1/4-20 x 1/2" L 12 12 0 0.35 

*083891020 includes 083888020 thrust caps. 

AA  
  

BB  
  

CC  

  

DD  
  

EE  

  

082818020 
 

082825020 082820020 082821020, 082822020 
082826020 

082829020 
 

FF  
  

GG  
  

HH  

  

II  
  

JJ  

  

082830020 082831020 082824020 083888020 083889020 

KK  

  

LL  

  

MM  
  

NN  
  

OO  
 

083891020  082844020 083095020 083098020 083137020 

Suspension Kit # 083146020Suspension Kit # 083146020 ....................................................................................................Total Kit Price  $4,695.00Total Kit Price  $4,695.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083095020 Link, 8 1/2” inside length 20 $   95.00 
NN  083098020 Saddle block assembly, 11 1/2” L 10 190.00 
OO  083137020 Trunnion block assembly, 7 5/8” L 10 190.00 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-14 

 
 

 

Model: SModel: S--308308 Truck ScaleTruck Scale  
30-Ton Axle Load 
Main Lever # 80733, End Extension Lever #80820 
Transverse Lever #80732  
 

Pivot & Bearing Kit # 082902020Pivot & Bearing Kit # 082902020 (Old Style)  (Old Style) .............................................................. Total Kit Price  $975.00Total Kit Price  $975.00  
Pivot & Bearing Kit # 083157020Pivot & Bearing Kit # 083157020 (Conversion)  (Conversion) ......................................................Total Kit Price $1,080.00Total Kit Price $1,080.00  
Pivot & Bearing Kit # 08290402Pivot & Bearing Kit # 0829040200 (New Style)  (New Style) ............................................................ Total Kit Price  $950.00Total Kit Price  $950.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 20 20 20 9.00 
BB  082825020 Bearing, 1/2" x 1" x 3 5/16" L 8 8 8 16.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 7 0 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 20 20 20 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 7 7 7 17.00 
DD  082826020 Pivot, 1/2" x 1" x 3 1/4" L, tapered on both ends 8 8 8 16.00 
EE  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 14 5.00 
FF  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
GG  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 7 7 21.00 
HH    083891020* Bearing block, 2" x 5 13/32" L 0 7 0 29.00 
II  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
II  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083891020 includes 083888020 thrust caps. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
082818020 

 
082825020 082820020 082821020, 082822020 

082826020 
083888020 

 

FF  

  

GG  

  

HH  

  

II  

  

JJ  
  

082824020 083889020 083891020 R01493050, R0272700A 083095020 

KK  
  

LL  
  

   

083098020 083137020    

 

Suspension Kit # 083143020Suspension Kit # 083143020 .................................................................................................... Total Kit PrTotal Kit Price  $1,710.00ice  $1,710.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

JJ  083095020 Link, 8 1/2” inside length 8 $   95.00 
KK  083098020 Saddle block assembly, 11 1/2” L 4 190.00 
LL  083137020 Trunnion block assembly, 7 5/8” L 4 190.00 

FAIRBAN
KS

FAIRBAN
KS   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc. (9/00) 4-15 

 

 

Truck ScaleTruck Scale  Model: SModel: S--3010 3010   
  30-Ton Axle Load  

Main Lever Casting # 80733, End Extension # SH6BM-M1 
Transverse Lever #80732 

 
 

Pivot & Bearing Kit # 082905020Pivot & Bearing Kit # 082905020 (Old Style)  (Old Style) .............................................................. Total Kit Price Total Kit Price  $985.00 $985.00  
Pivot & Bearing Kit # 082906020Pivot & Bearing Kit # 082906020 (Conversion)  (Conversion) ....................................................Total Kit Price  $1,090.00Total Kit Price  $1,090.00  
Pivot & Bearing Kit # 082907020Pivot & Bearing Kit # 082907020 (New Style)  (New Style) ............................................................ Total Kit Price  $950.00Total Kit Price  $950.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 16 16 16 9.00 
AA  082833020 Bearing, 1/2" x 1" x 1 9/16" L, hole diameter: 1/8" 4 4 4 17.00 
BB  082825020 Bearing, 1/2" x 1" x 3 5/16" L 8 8 8 16.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 4 0 0 32.00 
CC  082835020 Bearing, 1" x 1/2" x 7 3/8" L, steel, tapered 3 0 0 43.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 16 16 16 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 4 4 4 17.00 
DD  082826020 Pivot, 1/2" x 1" x 3 1/4" L, tapered on both ends 8 8 8 16.00 
DD  082836020 Pivot, 1/2" x 1" x 7" L, tapered on both ends 3 3 3 22.25 
EE  082834020 Pivot, 1/2" x 1" x 1 1/2" L, tapered on one end 4 4 4 10.00 
FF  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 42 42 42 4.00 
GG  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 4 4 21.00 
GG  082843020 Bearing, 1" x 1/2" x 7" L 0 3 3 34.00 
HH    083891020* Bearing block, 2" x 5 13/32" L 0 4 0 29.00 
HH  083893020 Bearing block, 1 2/16" x 2" x 7" L 0 3 0 45.00 
II  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 14 5.00 
JJ  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
JJ  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083891020 includes 083888020 thrust caps. 

AA  
  

BB  
  

CC  

  

DD  
  

EE  
  

082818020, 082833020 
 

082825020 082820020, 082835020 082821020, 082836020 
082826020, 082822020 

082834020 

FF  
  

GG  

  

HH  

  

II  
  

JJ  

  

082824020 082843020, 083889020 083891020, 083893020 083888020 R01493050, R0272700A 

KK  
 

LL  
 

MM  
 

  

083095020 083098020 083137020   

Suspension Kit # Suspension Kit # 083143020083143020 ....................................................................................................Total Kit Price  $1,710.00Total Kit Price  $1,710.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

KK  083095020 Link, 8 1/2” inside length 8 $   95.00 
LL  083098020 Saddle block assembly, 11 1/2” L 4 190.00 
MM  083137020 Trunnion block assembly, 7 5/8” L 4 190.00 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



  

(9/00) Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-16 

 

 

Models: SModels: S--208, S208, S--2010, 112010, 11--6198A, 116198A, 11--6199A 6199A  Truck ScaleTruck Scale  
and 14and 14--6198A6198A   
20 and 26-Ton Axle Load 
Main Lever Casting # 82102, SD8F, SD8G 
 
 

Pivot & Bearing Kit # 08290Pivot & Bearing Kit # 082908020 (Old Style) 8020 (Old Style) .............................................................. Total Kit Price  $932.00Total Kit Price  $932.00  
Pivot & Bearing Kit # 082909020 (ConversionPivot & Bearing Kit # 082909020 (Conversion••) ) .................................................. Total Kit Price  $1,025.00Total Kit Price  $1,025.00  
Pivot & Bearing Kit # 082910020 (New Style) Pivot & Bearing Kit # 082910020 (New Style) ............................................................ Total Kit Price  $875.00Total Kit Price  $875.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part Part DescriptionDescription  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1" x 1 1/16" L, hole diameter: 3/8" 20 20 20 9.00 
BB  082838020 Bearing, 1/2" x 1" x 2 9/16" L 8 8 8 15.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 7 0 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 20 20 20 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 7 7 7 17.00 
DD  082837020 Pivot, 1/2" x 1" x 2 1/2" L, tapered on both ends 8 8 8 14.00 
EE  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
FF  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 14 5.00 
GG  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 7 7 21.00 
HH    083890020* Bearing block, 1 3/4" x 5 13/32" L 0 7 0 29.00 
II  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
II  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

• Need main lever fulcrum stand number for ordering the correct bearing block. 
 *083890020 includes 083888020 thrust caps. 
 

AA  
  

BB  
  

CC  

  

DD  
  

EE  

  
082818020 082838020 082820020 082821020, 082822020 

082837020 
082824020 

FF  
  

GG  

  

HH  

  

II  

  

JJ  
  

083888020 083889020 083890020 R01493050, R0272700A 083094020 

KK  
  

LL  
  

   

083097020 083136020    

Suspension Kit # 083147020Suspension Kit # 083147020 .................................................................................................... Total Kit Price  $1,331.00Total Kit Price  $1,331.00  
Ref.Ref.  Part NumbPart Numberer  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

JJ  083094020 Link, 6 7/8” inside length 8 $   74.00 
KK  083097020 Saddle block assembly, 9 7/8” L 4 145.00 
LL  083136020 Trunnion block assembly, 7” L 4 160.00 

 

FAIRBAN
KS

FAIRBAN
KS   



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00)  4-17  

 

 

Truck ScaleTruck Scale  Models:, 11Models:, 11--3352, 113352, 11--3354, 113354, 11--3394,3394,  
  1414--3392, 6520B, 6521B and 6523B3392, 6520B, 6521B and 6523B  

4-Section, 60 and 75-Ton, 40-Ton Sectional Capacity 
Main Lever Casting # 74178, 87426, SH8MI 

 
 

Pivot & Bearing Kit # 082911020Pivot & Bearing Kit # 082911020 (Old Style)  (Old Style) ..........................................................ToTotal Kit Price  $2,160.00tal Kit Price  $2,160.00  
Pivot & Bearing Kit # 082912020Pivot & Bearing Kit # 082912020 (Conversion)  (Conversion) ....................................................Total Kit Price  $2,525.00Total Kit Price  $2,525.00  
Pivot & Bearing Kit # 082913020Pivot & Bearing Kit # 082913020 (New Style)  (New Style) ........................................................Total Kit Price  $2,150.00Total Kit Price  $2,150.00  

Component Parts in Overhaul Kit  
       Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1"W x 1 1/16" L, hole diameter: 3/8" 32 32 32 9.00 
AA  082833020 Bearing, 1/2" x 1" x 1 9/16" L, hole diameter: 1/8" 8 8 8 17.00 
BB  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 32 32 32 9.00 
BB  082834020 Pivot, 1/2" x 1" x 1 1/2" L, tapered on one end 8 8 8 10.00 
CC  082835020 Bearing, 1" x 1/2" x 7 3/8" L, steel, tapered 12 0 0 43.00 
DD  082836020 Pivot, 1/2" x 1" x 7" L, tapered on both ends 12 12 12 22.25 
DD  082840020 Pivot, 1/2" x 1" x 3 7/8", tapered on one end 16 16 16 14.00 
EE  082839020 Bearing, 1/2" x 1 1/4" x 3 7/8" L 16 16 16 17.00 
FF  082829020 Bearing, 1" x 1/2" x 5 1/2" L   1 1 1 32.00 
GG  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 1 1 18.00 
HH  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
II  082824020 Friction plate, 1/8" x 1 3/8"  x 1 1/2" L 20 20 20 4.00 
JJ  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 26 5.00 
KK  082843020 Bearing, 1" x 1/2" x 7" L 0 12 12 34.00 
LL    083893020* Bearing block, 1 2/16" x 2" x 7" L 0 12 0 45.00 
----  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
----  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083893020 includes 083888020 thrust caps. 

AA  
  

BB  
  

CC  

  

DD  
  

EE  
  

082818020, 082833020 082821020, 082834020 082835020 082836020, 082840020 082839020 

FF  

  

GG  
  

HH  

  

II  
  

JJ  
  

082829020 082830020 082831020 082824020 083888020 

KK  

  

LL  

  

MM  
  

NN  
  

OO  
  

082843020 083893020 083095020 083099020 083137020 

  

Suspension Kit # 083148020Suspension Kit # 083148020 ....................................................................................................Total Kit Price  $4,950.00Total Kit Price  $4,950.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083095020 Link, 8 1/2” inside length 16 $   95.00 
NN  083099020 Saddle block assembly, 12 5/8” L 8 225.00 
OO  083137020 Trunnion block assembly, 7 5/8” L 8 190.00 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-18  

 

 

ModelModels: 11s: 11--3356, 113356, 11--3482, 113482, 11--3485, and 6525B3485, and 6525B Truck ScaleTruck Scale  
5-Section, 60, 75 and 80-Ton, 40-Ton Sectional Capacity  
Main Lever Casting # 74178, 87426, SH8MI 
 
 
 

Pivot & Bearing Kit # 082914020Pivot & Bearing Kit # 082914020 (Old Style)  (Old Style) ..........................................................Total Kit Price  $2,850.00Total Kit Price  $2,850.00  
PPivot & Bearing Kit # 082915020ivot & Bearing Kit # 082915020 (Conversion)  (Conversion) ....................................................Total Kit Price  $3,250.00Total Kit Price  $3,250.00  
Pivot & Bearing Kit # 082916020Pivot & Bearing Kit # 082916020 (New Style)  (New Style) ........................................................Total Kit Price  $2,775.00Total Kit Price  $2,775.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1"W x 1 1/16" L, hole diameter: 3/8" 44 44 44 9.00 
AA  082833020 Bearing, 1/2" x 1" x 1 9/16" L, hole diameter: 1/8" 10 10 10 17.00 
BB  082820020 Bearing, 1" x 1/2" x 5 1/2" L 1 0 0 32.00 
BB  082829020 Bearing, 1" x 1/2" x 5 1/2" L 1 1 0 32.00 
BB  082835020 Bearing, 1" x 1/2" x 7 3/8" L, steel, tapered 15 0 0 43.00 
CC  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 44 44 44 9.00 
CC  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 1 1 1 17.00 
CC  082834020 Pivot, 1/2" x 1" x 1 1/2" L, tapered on one end 10 10 10 10.00 
CC  082836020 Pivot, 1/2" x 1" x 7" L, tapered on both ends 15 15 15 22.25 
CC  082840020 Pivot, 1/2" x 1" x 3 7/8" L, tapered on one end 20 20 20 14.00 
DD  082839020 Bearing, 1/2" x 1 1/4" x 3 7/8" L 20 20 20 17.00 
EE  082844020 Bearing, 1" x 1/2" x 5 25/64" L 0 0 1 23.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 1 1 18.00 
GG  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
HH  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 24 24 24 4.00 
II  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 32 5.00 
JJ  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 1 1 21.00 
JJ  082843020 Bearing, 1" x 1/2" x 7" L 0 15 15 34.00 
KK    083893020* Bearing block, 1 2/16" x 2" x 7" L 0 15 0 45.00 
LL  R01493050 Screw, #10-24 x 3/8" L 22 22 22 0.50 
LL  R0272700A Screw, 1/4-20 x 1/2" L 12 12 12 0.35 

*083893020 includes 083888020 thrust caps. 

AA  
  

BB  
  

CC  
  

DD  
  

EE  
  

082818020, 082833020 082820020, 082829020 
082835020 

082821020, 082822020 
082834020, 082836020 

082840020 

082839020 
 

082844020 

FF  
  

GG  

  

HH  
  

II  
  

JJ  
  

082830020 082831020 082824020 083888020 083889020, 082843020 

KK  
  

LL  

  

MM  

  

NN  

  

OO  

  

083893020 R01493050, R0272700A 083095020 083099020 083137020 

Suspension Kit # 083149020Suspension Kit # 083149020 ....................................................................................................Total Kit Price  $5,853.00Total Kit Price  $5,853.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083095020 Link, 8 1/2” inside length 20 $   95.00 
NN  083099020 Saddle block assembly, 12 5/8” L 10 225.00 
OO  083137020 Trunnion block assembly, 7 5/8” L 10 190.00 

FAIRBAN
KS

FAIRBAN
KS   

 



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00)  4-19  

 

 

Truck ScaleTruck Scale  Models: Models: 1111--3436 and3436 and 6514C  6514C   
5-Section, 50-Ton  
Main Lever Casting # 80738, 87208, SG8D, SG8D2, SDC8  

 
 
 

Pivot & Bearing Kit # 082917020Pivot & Bearing Kit # 082917020 (Old Style)  (Old Style) ..........................................................Total Kit Price  $2,250.00Total Kit Price  $2,250.00  
Pivot & Bearing Kit # 082918020Pivot & Bearing Kit # 082918020 (Convers (Conversionion••) ) ..................................................Total Kit Price  $2,060.00Total Kit Price  $2,060.00  
Pivot & Bearing Kit # 082919020Pivot & Bearing Kit # 082919020 (New Style)  (New Style) ........................................................Total Kit Price  $1,790.00Total Kit Price  $1,790.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1"W x 1 1/16" L, hole diameter: 3/8" 54 54 54 9.00 
BB  082819020 Bearing, 1/2" x 1" x 2 1/16" L 20 20 20 13.00 
CC  082820020 Bearing, 1" x 1/2" x 5 1/2" L 16 4 0 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 54 54 54 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 16 16 16 17.00 
DD  082823020 Pivot, 1/2" x 1" x 2" L, tapered on both ends 20 20 20 11.00 
EE  082829020 Bearing, 1" x 1/2" x 5 1/2" L 1 1 0 32.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 1 1 18.00 
GG  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
HH  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 24 24 24 4.00 
II  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 32 5.00 
JJ  083889020  Bearing, 1" x 1/2" x 5 25/64" L 0 12 16 21.00 
KK    083891020* Bearing, 1/2" x 1 1/4" x 3 7/8" L 0 12 0 29.00 
LL  082844020 Bearing, 1" x 1/2" x 5 25/64" L 0 0 1 23.00 
----  R01493050 Screw, #10-24 x 3/8" L 22 22 22 0.50 
----  R0272700A Screw, 1/4-20 x 1/2" L 12 12 12 0.35 

• Need main lever fulcrum stand number for ordering the correct bearing block. 
 *083891020* includes 083888020 thrust caps. 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

082818020 
 

082819020 
 

082820020 082821020, 082822020 
082823020 

082829020 
 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  

082830020 082831020 082824020 083888020 083889020 

KK  
  

LL  
  

MM  
  

NN  
  

OO  

083891020  082844020 083094020 083096020 083136020 

  

Suspension Kit # 083091020Suspension Kit # 083091020 ....................................................................................................Total Kit Price  $3,400.00Total Kit Price  $3,400.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083094020 Link, 6 7/8” inside length 20 $   74.00 
NN  083096020 Saddle block assembly, 8 3/8” L 10 145.00 
OO  083136020 Trunnion block assembly, 7” L 10 160.00 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-20  

 

 

Models: 12078, 12082, 12254 and 12256Models: 12078, 12082, 12254 and 12256  Truck ScaleTruck Scale  
2-Section, 40-Ton  
Main Lever Casting # 74178, 87426, SH8E, SH8MI   
 
 
 

 

Pivot & Bearing Kit # 082920020Pivot & Bearing Kit # 082920020 (Old Style)  (Old Style) ..........................................................Total Kit Price  $1,210.00Total Kit Price  $1,210.00  
Pivot & Bearing Kit # 082921020Pivot & Bearing Kit # 082921020 (Conversion)  (Conversion) ....................................................Total Kit Price  $1,400.00Total Kit Price  $1,400.00  
Pivot & Bearing Kit # 082922020Pivot & Bearing Kit # 082922020 (New Style)  (New Style) ........................................................Total Kit Price  $1,200.00Total Kit Price  $1,200.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1"W x 1 1/16" L, hole diameter: 3/8" 16 16 16 9.00 
AA  082833020 Bearing, 1/2" x 1" x 1 9/16" L, hole diameter: 1/8" 4 4 4 17.00 
BB  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 16 16 16 9.00 
BB  082834020 Pivot, 1/2" x 1" x 1 1/2" L, tapered on one end 4 4 4 10.00 
BB  082836020 Pivot, 1/2" x 1" x 7" L, tapered on both ends 7 7 7 22.25 
BB  082840020 Pivot, 1/2" x 1" x 3 7/8" L, tapered on one end 8 8 8 14.00 
CC  082835020 Bearing, 1" x 1/2" x 7 3/8" L, steel, tapered 7 0 0 43.00 
DD  082839020 Bearing, 1/2" x 1 1/4" x 3 7/8" L 8 8 8 17.00 
EE  082829020 Bearing, 1" x 1/2" x 5 1/2" L 1 1 1 32.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 1 1 18.00 
GG  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
HH  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
II  082843020 Bearing, 1" x 1/2" x 7" L 0 7 7 34.00 
JJ    083893020* Bearing block, 1 2/16" x 2" x 7" L 0 7 0 45.00 
KK  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 14 5.00 
LL  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
LL  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

*083893020 includes 083888020 thrust caps. 

AA  
  

BB  
  

CC  
  

DD  
  

EE  
  

082818020, 082833020 
 

082821020, 082834020 
082836020, 082840020 

082835020 082839020 
 

082829020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  

082830020 082831020 082824020 082843020 083893020 

KK  
  

LL  

  

MM  
  

NN  
  

OO  
  

083888020 R01493050, R0272700A 083095020 083099020 083137020 

Suspension Kit # 083150020Suspension Kit # 083150020 ....................................................................................................Total Kit PrTotal Kit Price  $1,875.00ice  $1,875.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083095020 Link, 8 1/2” inside length 8 $   95.00 
NN  083099020 Saddle block assembly, 12 5/8” L 4 225.00 
OO  083137020 Trunnion block assembly, 7 5/8” L 4 190.00 

FAIRBAN
KS

FAIRBAN
KS   

 



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00)  4-21  

 

 

Truck ScaleTruck Scale  Models: Models: 12257, 12258, 12259, 12260, 12257, 12258, 12259, 12260, 
12261, 12262 and 1226312261, 12262 and 12263  
4-Section, 50-Ton, 26-Ton Sectional Capacity 
Main Lever Casting # 83502, SD8E, SD8F  

 
 
 

Pivot & Bearing Kit # 082923020Pivot & Bearing Kit # 082923020 (Old Style)  (Old Style) ..........................................................Total Kit Price  $1,790.00Total Kit Price  $1,790.00  
Pivot & Bearing Kit # 082924020Pivot & Bearing Kit # 082924020 (Conversion (Conversion••) ) ..................................................Total Kit Price  $1,885.00Total Kit Price  $1,885.00  
Pivot & Bearing Kit # 082925020Pivot & Bearing Kit # 082925020 (New Style)  (New Style) ........................................................Total Kit Price  $1,580.00Total Kit Price  $1,580.00  

Component Parts in Overhaul Kit  
      Kit Qty.Kit Qty.    

Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  OldOld   Conv. Conv.  NewNew  List Price EachList Price Each  
AA  082818020 Bearing, 1/2" x 1"W x 1 1/16" L, hole diameter: 3/8" 40 40 40 9.00 
BB  082838020 Bearing, 1/2" x 1" x 2 9/16" L 16 16 16 15.00 
CC  082828020 Bearing, 1" x 1/2" x 5 1/2" L 12 2 2 32.00 
DD  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 40 40 40 9.00 
DD  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 12 12 12 17.00 
DD  082837020 Pivot, 1/2" x 1" x 2 1/2" L tapered on both ends 16 16 16 14.00 
EE  082829020 Bearing, 1" x 1/2" x 5 1/2" L 1 1 1 32.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 1 1 18.00 
GG  082831020 Friction plate, 1/8" x 3/4" x 1 9/16" L 2 2 2 3.00 
HH  082824020 Friction plate, 1/8" x 1 3/8" x 1 1/2" L 20 20 20 4.00 
II  083888020 Friction plate, 1/2" x 1 3/8" x 1 1/2" L 0 0 16 5.00 
JJ  083889020 Bearing, 1" x 1/2" x 5 25/64" L 0 10 10 21.00 
KK    083891020* Bearing block, 2" x 5 13/32" L 0 10 0 29.00 
LL  R01493050 Screw, #10-24 x 3/8" L 20 20 20 0.50 
LL  R0272700A Screw, 1/4-20 x 1/2" L 10 10 10 0.35 

• Need main lever fulcrum stand number for ordering the correct bearing block. 
 *083891020 includes 083888020 thrust caps. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

082818020 
 

082838020 082828020 082821020, 082822020 
082837020 

082829020 
 

FF  
  

GG  
  

HH  

  

II  
  

JJ  

  

082830020 082831020 082824020 083888020 083889020 

KK  
 

LL  
  
 

MM  
 

NN  
 

OO  
 

083891020*  R01493050, R0272700A 083094020 083097020 083136020 

Suspension Kit # 083151020Suspension Kit # 083151020 ....................................................................................................Total Kit Price  $2,300.00Total Kit Price  $2,300.00  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  
MM  083094020 Link, 6 7/8” inside length 16 $   74.00 
NN  083097020 Saddle block assembly, 9 7/8” L 8 145.00 
OO  083136020 Trunnion block assembly, 7” L 8 160.00 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  

 



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-22  

 

 

Truck ScaleTruck Scale  Models: Models: 1111--3464, 113464, 11--34743474 (Full Mechanical Mult. 600:1), (Full Mechanical Mult. 600:1),  
1414--3464 and 143464 and 14--3474 3474 (Lever Tronic Mult. 90:1)(Lever Tronic Mult. 90:1)  
Type S, 4-Section, 120-Ton, 60-Ton Sectional Capacity, 60 Ft.  
Main Lever #87392 
 

 
Pivot & Bearing Kit # 082927020Pivot & Bearing Kit # 082927020 ..........................................................................................Total Kit Price  $2,325.00Total Kit Price  $2,325.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 32 9.00 
AA  082834020 Pivot, 1/2" x 1" x 1 1/2" L, tapered on one end 8 10.00 
AA  082836020 Pivot, 1/2" x 1" x 7" L, tapered on both ends 4 22.25 
AA  082841020 Pivot, 1/2" x 1" x 2 1/2" L tapered on both ends 16 40.00 
BB  082842020 Bearing, 1" x 3/4" x 10 1/8" L 16 59.00 
CC  082818020 Bearing, 1/2" x 1"W x 1 1/16" L, hole diameter: 3/8" 32 9.00 
CC  082833020 Bearing, 1/2" x 1" x 1 9/16" L, hole diameter: 1/8" 8 17.00 
DD  082843020 Bearing, 1" x 1/2" x 7" L 4 34.00 
EE  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 18.00 
FF  082844020 Bearing, 1" x 1/2" x 5 25/64" L 1 23.00 

 
AA  

  
  

BB  
  

CC  
  

DD  

  

EE  
  

082821020, 082834020 
082836020, 082841020 

082842020 082818020, 082833020 082843020 
 

082830020 

FF  

  

        

082844020     

 

FA
IR

BA
N

KS
FA

IR
BA

N
KS

  



Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00)  4-23  

 
 

 

Models: 11Models: 11--3466, 113466, 11--3476 3476 (Full Mechanical Mult. 600:1),(Full Mechanical Mult. 600:1),  Truck ScaleTruck Scale 

1414--3466 and 143466 and 14--3476 3476 (Lever Tronic Mult.(Lever Tronic Mult. 90:1) 90:1)   
Type S, 5-Section, 120-ton, 60-Ton Sectional Capacity, 70 ft.  
Main Lever #87392  
 

Pivot & Bearing Kit # 082926020Pivot & Bearing Kit # 082926020 ..........................................................................................Total Kit Price  $2,925.00Total Kit Price  $2,925.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  LList Price Eachist Price Each  

AA  082834020 Pivot, 1/2" x 1" x 1 1/2" L, tapered on  one end 10 10.00 
BB  082842020 Bearing, 1" x 3/4" x 10 1/8" L 20 59.00 
CC  082821020 Pivot, 1/2" x 1" x 1" L, tapered on both ends 44 9.00 
CC  082822020 Pivot, 1/2" x 1" x 5 1/4" L, tapered on both ends 1 17.00 
CC  082836020 Pivot, 1/2" x 1" x 7" L, tapered on both ends 5 22.25 
CC  082841020 Pivot, 1/2" x 1" x 2 1/2" L tapered on both ends 20 40.00 
DD  082818020 Bearing, 1/2" x 1"W x 1 1/16" L, hole diameter: 3/8" 44 9.00 
DD  082833020 Bearing, 1/2" x 1" x 1 9/16" L, hole diameter: 1/8" 10 17.00 
EE  082843020 Bearing, 1" x 3/4" x 10 1/8" L 5 34.00 
FF  082830020 Pivot, 1/2" x 1" x 5 1/4" L 1 18.00 
GG  082844020 Bearing, 1" x 1/2" x 5 25/64" L 2 23.00 

 

AA  
  
  

BB  
  

  

CC  
  

DD  
  

EE  
  

  

082834020 082842020 082821020, 082822020 
082836020, 082841020 

082818020, 082833020 082843020 

FF  
  

GG  

  

      

082830020 082844020    

 

FAIRBAN
KS

FAIRBAN
KS   



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  4-24  

 



  

  

 
 
 
 

Truck ScalesTruck Scales  
 
 
 
 
 

Overhaul and Suspension Kit Reference 

Part Price Reference 

Overhaul Kit Descriptions 





  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.  (9/00)  5-1 

 

 

  Howe Cross ReferenceHowe Cross Reference  
  
  

 
 

Cross Reference by Howe Scale Model NumberCross Reference by Howe Scale Model Number  
Howe Model NumberHowe Model Number  METTLER TOLEDO KitsMETTLER TOLEDO Kits Kit DescriptionsKit Descriptions PricePrice  PagePage  

2908 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 
2908 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

2910 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

2910 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

3910 082870020 Pivot & bearing kit - 2-section, 30-ton truck and axle load scale  $   1,735.00  5-4 

3910 082900020 Suspension kit - 2-section, 30-ton truck and axle load scale  $   2,760.00  5-4 

3912 082870020 Pivot & bearing kit - 2-section, 30-ton truck and axle load scale  $   1,735.00  5-4 

3912 082900020 Suspension kit - 2-section, 30-ton truck and axle load scale  $   2,760.00  5-4 

3914 082870020 Pivot & bearing kit - 2-section, 30-ton truck and axle load scale  $   1,735.00  5-4 

3914 082900020 Suspension kit - 2-section, 30-ton truck and axle load scale  $   2,760.00  5-4 

5918 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

5918 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

5922 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

5922 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

5930 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

5930 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

5958 082871020 Pivot & bearing kit - 4-section, 50-ton truck scale  $   3,025.00  5-5 

5958 082901020 Suspension kit - 4-section, 50-ton truck scale  $   4,450.00  5-5 

5960 082871020 Pivot & bearing kit - 4-section, 50-ton truck scale  $   3,025.00  5-5 

5960 082901020 Suspension kit - 4-section, 50-ton truck scale  $   4,450.00  5-5 

5964 082871020 Pivot & bearing kit - 4-section, 50-ton truck scale  $   3,025.00  5-5 

5964 082901020 Suspension kit - 4-section, 50-ton truck scale  $   4,450.00  5-5 

5970 082860020 Pivot & bearing kit - 5-section, 50-ton truck scale  $   4,025.00  5-6 

5970 082878020 Suspension kit - 5-section, 50-ton truck scale  $   5,560.00  5-6 

5974 082860020 Pivot & bearing kit - 5-section, 50-ton truck scale  $   4,025.00  5-6 

5974 082878020 Suspension kit - 5-section, 50-ton truck scale  $   5,560.00  5-6 

5982 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

5982 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

5984 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

5984 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

5986 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

5986 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

5988 082869020 Pivot & bearing kit - 2-section, 20-ton truck and axle load scale $   1,625.00  5-3 

5988 082874020 Suspension kit - 2-section, 20-ton truck and axle load scale  $   2,225.00  5-3 

5992 082870020 Pivot & bearing kit - 2-section, 30-ton truck and axle load scale  $   1,735.00  5-4 

5992 082900020 Suspension kit - 2-section, 30-ton truck and axle load scale  $   2,760.00  5-4 

5994 082870020 Pivot & bearing kit - 2-section, 30-ton truck and axle load scale  $   1,735.00  5-4 

5994 082900020 Suspension kit - 2-section, 30-ton truck and axle load scale  $   2,760.00  5-4 

6958 082872020 Pivot & bearing kit - 4-section, 60 and 80-ton truck scale  $   3,275.00  5-7 

6958 082903020 Suspension kit - 4-section, 60 and 80-ton truck scale  $   5,520.00  5-7 

6960 082872020 Pivot & bearing kit - 4-section, 60 and 80-ton, truck scale  $   3,275.00  5-7 

6960 082903020 Suspension kit - 4-section, 60 and 80-ton truck scale  $   5,520.00  5-7 

6964 082872020 Pivot & bearing kit - 4-section, 60 and 80-ton truck scale  $   3,275.00  5-7 

6964 082903020 Suspension kit - 4-section, 60 and 80-ton truck scale  $   5,520.00  5-7 

6970 082873020 Pivot & bearing kit - 5-section, 60 and 80-ton truck scale  $   4,220.00  5-8 

6970 082879020 Suspension kit - 5-section, 60 and 80-ton truck scale $   6,900.00 5-8 

8960 082872020 Pivot & bearing kit - 4-section, 60 and 80-ton truck scale  $   3,275.00  5-7 

8960 082903020 Suspension kit - 4-section, 60 and 80-ton truck scale  $   5,520.00  5-7 

H
O

W
E

H
O

W
E   



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  5-2 

Cross Reference by Howe Scale Model Number (Continued)Cross Reference by Howe Scale Model Number (Continued) 
Howe Model NumberHowe Model Number  METTLER TOLEDO KitsMETTLER TOLEDO Kits   Kit Descript  Kit Descriptionsions PricePrice  PagePage  

8970 082873020 Pivot & bearing kit - 5-section, 60 and 80-ton truck scale  $   4,220.00  5-8 
8970 082879020 Suspension kit - 5-section, 60 and 80-ton truck scale $   6,900.00 5-8 

8980 082873020 Pivot & bearing kit - 5-section, 60 and 80-ton truck scale  $   4,220.00  5-8 

8980 082879020 Suspension kit - 5-section, 60 and 80-ton truck scale $   6,900.00 5-8 
  

Cross Reference by Howe Main Lever Casting NumberCross Reference by Howe Main Lever Casting Number  
Main Lever CastingMain Lever Casting  Scale DescriptionScale Description  Pivot and Bearing KitPivot and Bearing Kit  Suspension KitSuspension Kit  PagePage 

PC43720 2-section, 20-ton 082869020 082874020 5-3 

PC43720 4-section, 50-ton 082871020 082901020 5-5 

PC43720 5-section, 50-ton 082860020 082878020 5-6 

PC52703 2-section, 30-ton 082870020 082900020 5-4 

PC52703 4-section, 60 and 80-ton 082872020 082903020 5-7 

PC52703 5-section, 60 and 80-ton 082873020 082879020 5-8 

PC55441 2-section, 20-ton 082869020 082874020 5-3 

PC55441 4-section, 50-ton 082871020 082901020 5-5 

PC55441 5-section, 50-ton 082860020 082878020 5-6 

40802635 2-section, 20-ton 082869020 082874020 5-3 

40802635 4-section, 50-ton 082871020 082901020 5-5 

40802635 5-section, 50-ton 082860020 082878020 5-6 

40802655 2-section, 30-ton 082870020 082900020 5-4 

40802655 4-section, 60 and 80-ton 082872020 082903020 5-7 

40802655 5-section, 60 and 80-ton 082873020 082879020 5-8 

  

Cross Reference by Howe Part NumbersCross Reference by Howe Part Numbers 
Howe Part NumberHowe Part Number  METTLER TOLEDO Part NumberMETTLER TOLEDO Part Number   Price  Price   Page(s)Page(s)  

20805682 082807020  $      1.75  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

20906224 082813020  $      0.75  5-5, 5-6, 5-7, 5-8 

26942-3801 082895020 $    64.00 N/A 

40800890 082806020  $      8.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

40801070 082810020  $    16.00  5-4, 5-7, 5-8 

40801076 082802020  $    18.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

40801077 082794020  $    12.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

40801080 082801020  $    13.00  5-3, 5-4 

40801081 082800020  $    13.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

40801090 082793020  $    14.00  5-3, 5-5, 5-6 

40801092 082798020  $    13.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

40801166 082812020  $      6.00  5-5, 5-6 

40801235 082808020  $      5.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

40802637 082816020  $  350.00  5-3, 5-5, 5-6 

40802638 082815020  $  180.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

40802656 082817020  $  525.00  5-4, 5-7, 5-8 

42035173 082803020  $    18.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

42035211 082805020  $      6.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

42043855 082791020  $    26.00  5-3, 5-5, 5-6 

42043862 082804020  $      7.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8  

42043937 082796020  $    18.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

42043938 082795020  $    16.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

42043939 082811020  $    16.00  5-5, 5-6, 5-7, 5-8 

42043940 082799020  $    17.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

42044397 082792020  $    20.00  5-3, 5-5, 5-6 

42044398 082797020  $    18.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

42052705 082809020  $    29.00  5-4, 5-7, 5-8 

42094659 082814020  $    15.00  5-3, 5-4, 5-5, 5-6, 5-7, 5-8 

42138860 083152020 $    29.00 5-4, 5-7, 5-8 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.  (9/00)  5-3 

 

 

Truck Scale /Truck Scale /  Models: 2908, 2910, 5918, 5922, 5930, 5982, Models: 2908, 2910, 5918, 5922, 5930, 5982,   
Axle LoAxle Loadad  5984, 5986 and 5988 5984, 5986 and 5988  

2-Section, 20-Ton 
Cast Straight Lever and Super Cast Main Lever  
Casting # PC43720, PC55441 or 40802635 

 
Pivot and Bearing Kit # 082869020Pivot and Bearing Kit # 082869020 ................................................................................................ Total Kit Price  $1,625.00Total Kit Price  $1,625.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part Part NumberNumber  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082791020 Bearing, Load, Main Lever, 5/8" x 2" x 2 1/2" L, Hole Diameter 1 1/32" 8 26.00 
AA  082795020 Bearing, Tip, Shackles, 1/2" x 1" x 1 1/2" L, Tapered on One End 12 16.00 
AA  082796020 Bearing, Load, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered End 4 18.00 
AA  082799020 Bearing, Load, Transverse Lever, 5/8" x 1 1/4" x 1 5/8" L, Tapered Ends 2 17.00 
BB  082792020 Bearing, Fulcrum, Main Lever, 5/8" x 1 1/4" x 2 1/2" L, Tapered End 8 20.00 
BB  082797020 Bearing, Fulcrum and Transverse, 5/8" x 1" x 2" L, Tapered End 6 18.00 
CC  082793020 Pivot, Load and Fulcrum, Main Lever, 1/2" x 1 1/8" x 2 3/4" L, Square Both Ends 16 14.00 
CC  082794020 Pivot, Tip, 1/2" x 1 1/8" x 1" L, Tapered on One End 12 12.00 
CC  082798020 Pivot, Load and Fulcrum, 1/2" x 1 1/8" x 2 1/8" L, Square Both Ends 8 13.00 
CC  082800020 Pivot, Load, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered One End 2 13.00 
CC  082801020 Pivot, Fulcrum, Transverse Lever, 1/2" x 1 1/8" x 21/4" L, Square Both Ends 2 13.00 
CC  082802020 Pivot, Tip, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered Both Ends 1 18.00 
DD  082803020 Bearing, Tip, Transverse Lever, 1/2" x 1 1/8" x 1 15/32" L, Hole Diameter 13/32" 1 18.00 
EE  082804020 Friction Plate, 1/4" x 1 1/2" x 3" L, Hole Diameter 5/16" 28 7.00 
EE  082805020 Friction Plate, 3/16" x 3/4" x 1 1/2" L, Hole Diameter 9/32" 14 6.00 
FF  082806020 Knurled Pin, 1" Diameter x 2 3/8" L 8 8.00 
FF  082808020 Knurled Pin,  5/8" Diameter x 1 3/4" L 10 5.00 
GG  082807020 Roll Pin, 1/2" Diameter x 1 3/4" L 14 1.75 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

082791020, 082795020 
082796020, 082799020 

 

082792020, 082797020 
 

082793020, 082794020 
082798020, 082800020 
082801020, 082802020 

082803020 082804020, 082805020 
 

FF  

 
  

GG  

  

HH  

  

II  

  

JJ  

  
082806020, 082808020 082807020 082814020 082815020 082816020 

 
Suspension Kit # 082874020Suspension Kit # 082874020 .................................................................................................................... Total Kit Price  $2,225.00Total Kit Price  $2,225.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082814020 Ball, 3" Diameter Cast 8 15.00 
II  082815020 Ball Plate 4 180.00 
JJ  082816020 Tee Block Assembly* 4 350.00 

 
* Includes two 082791020 bearings and 082806020 pins.

H
O

W
E

H
O

W
E   



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  5-4 

 

 

Models: 3910, 3912, 3914, 5992 and 5994Models: 3910, 3912, 3914, 5992 and 5994  Truck Scale / Truck Scale /   
2-Section, 30-Ton  Axle LoadAxle Load  
Cast Straight Lever and Super Cast Main Lever  
Casting # PC52703 or 40802655  
  

Pivot and Bearing Kit # 082870020Pivot and Bearing Kit # 082870020 ................................................................................................ Total Kit Price  $1,735.00Total Kit Price  $1,735.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082795020 Bearing, Tip, Shackles, 1/2" x 1" x 1 1/2" L, Tapered on One End 12 16.00 
AA  082796020 Bearing, Load, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered End 4 18.00 
AA  082799020 Bearing, Load, Transverse Lever, 5/8" x 1 1/4" x 1 5/8" L, Tapered Ends 2 17.00 
AA    082809020* Bearing, Fulcrum, Main Lever, 5/8" x 2" x 3 1/4" L, Hole Diameter 1 1/32" 16 29.00 
BB  082800020 Pivot, Load, Transverse Lever,  1/2" x 1 1/8" x 2 1/2" L, Tapered One End 2 13.00 
BB  082810020 Pivot, Fulcrum, Main Lever, 1/2" x 1 1/8" x 3 1/2" L, Square Ends 16 16.00 
BB  082794020 Pivot, Tip, 1/2" x 1 1/8" x 1" L, Tapered on One End 12 12.00 
BB  082798020 Pivot, Load and Fulcrum, 1/2" x 1 1/8 " x 2 1/8" L, Square Both Ends 8 13.00 
BB  082801020 Pivot, Fulcrum, Transverse Lever, 1/2" x 1 1/8" x 21/4" L, Square Both Ends 2 13.00 
BB  082802020 Pivot, Tip, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered Both Ends 1 18.00 
CC  082797020 Bearing, Fulcrum and Transverse, 5/8" x 1 1/4" x 2" L, Tapered End 6 18.00 
CC    083152020* Bearing, Fulcrum, Main Lever, 5/8" x 2" x 3 1/4" L, Hole Diameter: 11/32" 16 29.00 
DD  082803020 Bearing, Tip, Transverse Lever, 1/2" x 1 1/8 " x 1 15/32" L, Hole Diameter 13/32" 1 18.00 
EE  082804020 Friction Plate, 1/4" x 1 1/2" x 3" L, Hole Diameter 5/16" 28 7.00 
EE  082805020 Friction Plate, 3/16" x 3/4" x 1 1/2" L, Hole Diameter 9/32" 14 6.00 
FF  082806020 Knurled Pin, 1" Diameter x 2 3/8" L  8 8.00 
FF  082808020 Knurled Pin,  5/8" Diameter x 1 3/4" L 10 5.00 
GG  082807020 Roll Pin, 1/2" Diameter x 1 3/4" L 14 1.75   

*Select one of these parts for the appropriate application.  

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
082795020, 082796020 
082799020, 082809020* 

082794020, 082798020 
082800020, 082801020  
082802020, 082810020 

082797020, 083152020* 
 

082803020 082804020, 082805020 
 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
082806020, 082808020 082807020 082814020 082815020 082817020 

Suspension Kit # 082900020Suspension Kit # 082900020 .................................................................................................................... Total Kit Price  $2,760.00Total Kit Price  $2,760.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082814020 Ball, 3" Diameter Cast 8 15.00 
II  082815020 Ball Plate 4 180.00 
JJ  082817020 Tee Block Assembly* 4 525.00 

* Includes two 082809020 bearings and 082806020 pins 

H
O

W
E

H
O

W
E   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.  (9/00)  5-5 

 

 

Truck Scale Truck Scale   Models: 5958, 5960 and 5964Models: 5958, 5960 and 5964 
4-Section, 50-Ton 
Cast Straight Lever and Super Cast Main Lever  
Casting # PC43720, PC55441 or 40802635 

 
 

Pivot and Bearing Kit # 082871020Pivot and Bearing Kit # 082871020 ................................................................................................ Total Kit PricTotal Kit Price  $3,025.00e  $3,025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082791020 Bearing, Load, Main Lever, 5/8" x 2" x 2 1/2" L, Hole Diameter 1 1/32" 16 26.00 
AA  082795020 Bearing, Tip, Shackles, 1/2" x 1" x 1 1/2" L, Tapered on One End 24 16.00 
AA  082796020 Bearing, Load, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered End 10 18.00 
AA  082799020 Bearing, Load, Transverse Lever, 5/8" x 1 1/4" x 1 5/8" L, Tapered Ends 2 17.00 
AA  082811020 Bearing, Tip, Shackles, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered Ends 2 16.00 
BB  082792020 Bearing, Fulcrum, Main Lever, 5/8" x 11/4" x 2 1/2" L, Tapered End 16 20.00 
BB  082797020 Bearing, Fulcrum and Transverse, 5/8" x 1 1/4" x 2" L, Tapered End 8 18.00 
CC  082793020 Pivot, Load and Fulcrum, Main Lever, 1/2" x 1 1/8" x 2 3/4" L, Square Both Ends 32 14.00 
CC  082794020 Pivot, Tip, 1/2" x 1 1/8" x 1" L, Tapered on One End 24 12.00 
CC  082798020 Pivot, Load and Fulcrum, 1/2" x 1 1/8 " x 2 1/8" L, Square Both Ends 18 13.00 
CC  082800020 Pivot, Load, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered One End 2 13.00 
CC  082802020 Pivot, Tip, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered Both Ends 3 18.00 
DD  082803020 Bearing, Tip, Transverse Lever, 1/2" x 1 1/8" x 1 15/32" L, Hole Diameter 13/32" 1 18.00 
EE  082804020 Friction Plate, 1/4" x 1 1/2" x 3" L, Hole Diameter 5/16" 32 7.00 
EE  082805020 Friction Plate, 3/16" x 3/4" x 1 1/2" L, Hole Diameter 9/32" 12 6.00 
FF  082812020 Knurled Pin, 5/8" Diameter x 2 3/8" L 16 6.00 
FF  082806020 Knurled Pin, 1" Diameter x 2 3/8" L 16 8.00 
FF  082808020 Knurled Pin,  5/8" Diameter x 1 3/4" L 14 5.00 
GG  082807020 Roll Pin, 1/2" Diameter x 1 3/4" L 34 1.75 
GG  082813020 Roll Pin, 3/8" Diameter x 3/4" L 64 0.75 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
082791020, 082795020 
082796020, 082799020  

082811020 

082792020, 082797020 082793020, 082794020 
082798020, 082800020 

082802020 

082803020 
 

082804020, 082805020 
 

FF  

  

GG  

  

HH  

  

II  

  

JJ  
  

082812020, 082806020 
082808020 

082807020, 082813020 082814020 082815020 082816020 

 
Suspension Kit # 082901020Suspension Kit # 082901020 .................................................................................................................... Total Kit Price  $4,450.00Total Kit Price  $4,450.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082814020 Ball, 3" Diameter Cast 16 15.00 
II  082815020 Ball Plate 8 180.00 
JJ  082816020 Tee Block Assembly* 8 350.00 

* Includes two 082791020 bearings and 082806020 pins.

H
O

W
E

H
O

W
E   



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  5-6 

 

 

Models:Models: 5970 and 59745970 and 5974 Truck ScaleTruck Scale  
5-Section, 50-Ton 
Cast Straight Lever and Super Cast Main Lever  
Casting # PC43720, PC55441 or 40802635 

 
 
Pivot and Bearing Kit # 082860020Pivot and Bearing Kit # 082860020 ................................................................................................ Total Kit Price  $4,025.00Total Kit Price  $4,025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082791020 Bearing, Load, Main Lever, 5/8" x 2" x 2 1/2" L, Hole Diameter 1 1/32" 20 26.00 
AA  082795020 Bearing, Tip, Shackles, 1/2" x 1" x 1 1/2" L, Tapered on One End 34 16.00 
AA  082796020 Bearing, Load, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered End 14 18.00 
AA  082799020 Bearing, Load, Transverse Lever, 5/8" x 1 1/4" x 1 5/8" L, Tapered Ends 2 17.00 
AA  082811020 Bearing, Tip, Shackles, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64",Tapered Ends 4 16.00 
BB  082792020 Bearing, Fulcrum, Main Lever, 5/8" x 1 1/4" x 2 1/2" L, Tapered End 20 20.00 
BB  082797020 Bearing, Fulcrum End Extension and Transverse, 5/8" x 1 1/4" x 2" L, Tapered End 10 18.00 
CC  082793020 Pivot, Load and Fulcrum, Main Lever, 1/2" x 1 1/8" x 2 3/4" L, Square Both Ends 42 14.00 
CC  082794020 Pivot, Tip, 1/2" x 1 1/8" x 1" L, Tapered on One End 32 12.00 
CC  082798020 Pivot, Load and Fulcrum, 1/2" x 1 1/8" x 2 1/8" L, Square Both Ends 22 13.00 
CC  082800020 Pivot, Load, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered on One End 2 13.00 
CC  082802020 Pivot, Tip, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered Both Ends 5 18.00 
DD  082803020 Bearing, Tip, Transverse Lever, 1/2" x 1 1/8" x 1 15/32" L, Hole Diameter 13/32" 1 18.00 
EE  082804020 Friction Plate, 1/4" x 1 1/2" x 3" L, Hole Diameter 5/16" 40 7.00 
EE  082805020 Friction Plate, 3/16" x 3/4" x 1 1/2" L, Hole Diameter 9/32" 16 6.00 
FF  082806020 Knurled Pin, 1" Diameter x 2 3/8" L 20 8.00 
FF  082808020 Knurled Pin,  5/8" Diameter x 1 3/4" L 16 5.00 
FF  082812020 Knurled Pin, 5/8" Diameter x 2 3/8" L 20 6.00 
GG  082807020 Roll Pin, 1/2" Diameter x 1 3/4" L 38 1.75 
GG  082813020 Roll Pin, 3/8" Diameter x 3/4" L 80 0.75 

 
AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
082791020, 082795020 
082796020, 082799020  

082811020 

082792020, 082797020 082793020, 082794020 
082798020, 082800020 

082802020  

082803020 
 

082804020, 082805020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
082806020, 082808020 

082812020 
082807020, 082813020 082814020 082815020 082816020 

Suspension Kit # 082878020Suspension Kit # 082878020 .................................................................................................................... ToTotal Kit Price  $5,560.00tal Kit Price  $5,560.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082814020 Ball, 3" Diameter Cast 20 15.00 
II  082815020 Ball Plate 10 180.00 
JJ  082816020 Tee Block Assembly* 10 350.00 

 

* Includes two 082791020 bearings and 082806020 pins.

H
O

W
E

H
O

W
E   



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.  (9/00)  5-7 

 

 

Truck Scale Truck Scale   Models: 6958, 6960, 6964 and 8960Models: 6958, 6960, 6964 and 8960 
4-Section, 60 and 80-Ton  
Cast Straight Lever and Super Cast Main Lever  
Casting # PC52703 or 40802655. 

 
 

PivoPivot and Bearing Kit # 082872020t and Bearing Kit # 082872020 ................................................................................................ Total Kit Price  $3,275.00Total Kit Price  $3,275.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082795020 Bearing, Tip, Shackles, 1/2" x 1" x 1 1/2" L, Tapered on One End 24 16.00 
AA  082796020 Bearing, Load, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered End 10 18.00 
AA  082798020 Pivot, Load and Fulcrum, 1/2" x 1 1/8 " x 2 1/8" L, Square Both Ends 18 13.00 
AA    082809020* Bearing, Fulcrum, Main Lever, 5/8" x 2" x 3 1/4" L, Hole Diameter 11/32" 32 29.00 
AA  082811020 Bearing, Tip, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered Ends 2 16.00 
BB  082794020 Pivot, Tip, 1/2" x 1 1/8" x 1" L, Tapered on One End 24 12.00 
BB  082797020 Bearing, Fulcrum and Transverse, 5/8" x 1 1/4" x 2" L, Tapered End 8 18.00 
BB  082800020 Pivot, Load, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered on One End 2 13.00 
BB  082810020 Pivot,, Fulcrum, Main Lever, 1/2" x 1 1/8" x 3 1/2" L, Square Ends 32 16.00 
CC  082799020 Bearing, Load, Transverse Lever, 5/8" x 1 1/4" x 1 5/8" L, Tapered Ends 2 17.00 
CC   083152020* Bearing, Fulcrum, Main Lever, 5/8" x 2" x 3 1/4" L, Hole Diameter 11/32" 32 29.00 
DD  082802020 Pivot, Tip, Transverse Lever, 1/2" x 1 1/8" x 2 1/2" L, Tapered Both Ends 3 18.00 
EE  082803020 Bearing, Tip, Transverse Lever, 1/2" x 1 1/8 " x 1 15/32" L, Hole Diameter 13/32" 1 18.00 
EE  082804020 Friction Plate, 1/4" x 1 1/2" x 3" L, Hole Diameter 5/16" 32 7.00 
FF  082805020 Friction Plate, 3/16" x 3/4" x 1 1/2" L, Hole Diameter 9/32" 12 6.00 
FF  082807020 Roll Pin, 1/2" Diameter x 1 3/4" L 34 1.75 
FF  082813020 Roll Pin, 3/8" Diameter x 3/4" L 64 0.75 
GG  082806020 Knurled Pin, 1" Diameter x 2 3/8" L 32 8.00 
GG  082808020 Knurled Pin,  5/8" Diameter x 1 3/4" L 14 5.00 

*Select one of these parts for the appropriate application. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  
082795020, 082796020 
082798020, 082809020*  

082811020  

082794020, 082797020 
082800020, 082810020 

082799020, 083152020* 
 

082802020 
 

082803020, 082804020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
082805020, 082807020 

082813020 
082806020, 082808020 082814020 082815020 082817020 

Suspension Kit # 082903020Suspension Kit # 082903020 .................................................................................................................... Total Kit Price  $5,520.00Total Kit Price  $5,520.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082814020 Ball, 3" Diameter Cast 16 15.00 
II  082815020 Ball Plate 8 180.00 
JJ  082817020 Tee Block Assembly* 8 525.00 

 

* Includes two 082809020 bearings and 082806020 pins 

H
O

W
E

H
O

W
E   



(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  5-8 

 

 

Models:Models: 6970, 8970 and 89806970, 8970 and 8980 Truck ScaleTruck Scale  
5-Section, 60 and 80-Ton 
Cast Straight Lever and Super Cast Main Lever  
Casting # PC52703 or 40802655. 

 
 
Pivot and Bearing Kit # 082873020Pivot and Bearing Kit # 082873020 ................................................................................................ Total Kit Price  $4,220.00Total Kit Price  $4,220.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082795020 Bearing, Tips, 5/8" x 1 1/4" x 1" L, Hole Diameter 33/64", Square Ends 32 16.00 
AA  082796020 Bearing, Load 5/8" x 11/4" x 2" L, Hole Diameter 41/64", Tapered Ends 14 18.00 
AA  082799020 Bearing, Load, Transverse Lever, 5/8" x 1 1/4" x 1 5/8" L, Tapered Ends 2 17.00 
AA    082809020* Bearing, Fulcrum, Main Lever, 5/8" x 2" x 3 1/4" L, Hole Diameter 11/32" 40 29.00 
AA  082811020 Bearing, Tip, Shackles, 5/8" x 1 1/4" x 2" L, Hole Diameter 41/64", Tapered Ends 4 16.00 
BB  082794020 Pivot, Tips, 1/2" x 1 1/8 " x 1" L, Tapered on One End 32 12.00 
BB  082798020 Pivot, Load and Fulcrum, 1/2" x 1 1/8 " x 2 1/8" L, Square Both Ends 22 13.00 
BB  082800020 Pivot, Load, Transverse Lever, 1/2" x 1 1/8" x 21/2" L, Tapered on one end 2 13.00 
BB  082802020 Pivot, Tip and Transverse Lever, 1/2" x 1 1/8" x 21/2" L, Tapered Both Ends 5 18.00 
BB  082810020 Pivot,, Fulcrum, Main Lever, 1/2" x 1 1/8" x 3 1/2" L, Square Ends 40 16.00 
CC  082797020 Bearing, Fulcrum, End and Center Extension, 5/8" x 1 1/4" x 2" L, Tapered End 10 18.00 
CC   083152020* Bearing, Fulcrum, Main Lever, 5/8" x 2" x 3 1/4" L, Hole Diameter 11/32" 40 29.00 
DD  082803020 Bearing, Tip, Transverse Lever, ½" x 1 1/8" x 1 15/32" L, Hole Diameter 13/32" 1 18.00 
EE  082804020 Friction Plate, 1/4" x 1 1/2" x 3" L, Hole Diameter 5/16" 44 7.00 
EE  082805020 Friction Plate, 3/16" x 3/4" x 11/2" L, Hole Diameter 9/32" 18 6.00 
FF  082806020 Knurled Pin, 1" Diameter x 2 3/8" L 40 8.00 
FF  082808020 Knurled Pin, 5/8" Diameter x 1 3/4" L 16 5.00  
GG  082807020 Roll Pin, 1/2" Diameter x 1 3/4" L 38 1.75 
GG  082813020 Roll Pin, 3/8" Diameter x 3/4" L 80 0.75 

*Select one of these parts for the appropriate application. 

AA  

  

BB  

  

CC  

  

DD  

  

EE  

  

082795020, 082796020 
082799020, 082809020* 

082811020 

082794020, 082798020 
082800020, 082802020  

082810020 

082797020, 083152020* 
 

082803020 082804020, 082805020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
082806020, 082808020 082807020, 082813020 082814020 082815020 082817020 

Suspension Kit # 082879020Suspension Kit # 082879020 .................................................................................................................... Total Kit Price  $6,900.00Total Kit Price  $6,900.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082814020 Ball, 3" Diameter Cast 20 15.00 
II  082815020 Ball Plate 10 180.00 
JJ  082817020 Tee Block Assembly* 10 525.00 

* Includes two 082809020 bearings and 082806020 pins 

H
O

W
E

H
O

W
E   



  

  

    
    
    
 

Truck ScalesTruck Scales  
 
 
 
 
 

Overhaul and Suspension Kit Reference 
 

Part Price Reference 
 

Overhaul Kit Descriptions 





Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00)  6-1 

 

 

  Thurman Cross Reference Thurman Cross Reference   
 

 
  

  
Cross Reference by Thurman Scale Model NumberCross Reference by Thurman Scale Model Number  

Thurman Thurman   
Model NumberModel Number  

METTLER TOLEDO METTLER TOLEDO   
Overhaul KitsOverhaul Kits  

  
Kit DescriKit Descriptionsptions  

  
PricePrice  

  
PagePage  

8100 XTCP 082845020 Pivot and bearing kit - 2 section, 1982 and newer, Class III and IV  $  1,375.00  6-3 

8100 XTCP 082846020 Suspension kit - 2 section, 1982 and newer, Class III and IV  $  1,200.00  6-3 

8100 XTCP 082847020 Pivot and bearing kit - 3 section, 1982 and newer, Class I and II  $  1,600.00  6-4 

8100 XTCP 082848020 Suspension kit - 3 section, 1982 and newer, Class I and II  $  1,200.00  6-4 

8100 XTCP 082849020 Pivot and bearing kit - 3-section, 1982 and newer, Class III and IV  $  2,025.00  6-5 

8100 XTCP 082850020 Suspension kit - 3-section, 1982 and newer, Class III and IV  $  1,875.00 6-5 

8100 XTCP 082856020 Pivot and bearing kit - 4-section, 52-and 62-ton, Class I and II  $  2,300.00  6-8 

8100 XTCP 082857020 Suspension kit - 4-section, 52-and 62-ton, Class I and II  $  1,680.00  6-8 

8100 XTCP 083807020 Pivot and bearing kit - 4-section, 1982 and newer, Class III and IV  $  2,690.00  6-6 

8100 XTCP 083840020 Suspension kit - 4-section, 1982 and newer, Class III and IV  $  2,500.00  6-6 

8110 STCP 082845020 Pivot and bearing kit - 2 section, 1982 and newer, Class III and IV  $  1,375.00  6-3 

8110 STCP 082846020 Suspension kit - 2 section, 1982 and newer, Class III and IV  $  1,200.00  6-3 

8110 STCP 082847020 Pivot and bearing kit - 3 section, 1982 and newer, Class I and II  $  1,600.00  6-4 

8110 STCP 082848020 Suspension kit - 3 section, 1982 and newer, Class I and II  $  1,200.00  6-4 

8110 STCP 082849020 Pivot and bearing kit - 3-section, 1982 and newer, Class III and IV  $  2,025.00  6-5 

8110 STCP 082850020 Suspension kit - 3-section, 1982 and newer, Class III and IV  $  1,875.00  6-5 

8110 STCP 082856020 Pivot and bearing kit - 4-section, 52-and 62-ton, Class I and II  $  2,300.00  6-8 

8110 STCP 082857020 Suspension kit - 4-section, 52-and 62-ton, Class I and II  $  1,680.00  6-8 

8110 STCP 083807020 Pivot and bearing kit - 4-section, 1982 and newer, Class III and IV  $  2,690.00  6-6 

8110 STCP 083840020 Suspension kit - 4-section, 1982 and newer, Class III and IV  $  2,500.00  6-6 

8120 STCP 082845020 Pivot and bearing kit - 2 section, 1982 and newer, Class III and IV  $  1,375.00  6-3 

8120 STCP 082846020 Suspension kit - 2 section, 1982 and newer, Class III and IV  $  1,200.00  6-3 

8120 STCP 082847020 Pivot and bearing kit - 3 section, 1982 and newer, Class I and II  $  1,600.00  6-4 

8120 STCP 082848020 Suspension kit - 3 section, 1982 and newer, Class I and II  $  1,200.00  6-4 

8120 STCP 082849020 Pivot and bearing kit - 3-section, 1982 and newer, Class III and IV  $  2,025.00  6-5 

8120 STCP 082850020 Suspension kit - 3-section, 1982 and newer, Class III and IV  $  1,875.00  6-5 

8120 STCP 082856020 Pivot and bearing kit - 4-section, 52-and 62-ton, Class I and II  $  2,300.00  6-8 

8120 STCP 082857020 Suspension kit - 4-section, 52-and 62-ton, Class I and II  $  1,680.00  6-8 

8120 STCP 083807020 Pivot and bearing kit - 4-section, 1982 and newer, Class III and IV  $  2,690.00  6-6 

8120 STCP 083840020 Suspension kit - 4-section, 1982 and newer, Class III and IV  $  2,500.00  6-6 

8130 SAM 082845020 Pivot and bearing kit - 2 section, 1982 and newer, Class III and IV  $  1,375.00  6-3 

8130 SAM 082846020 Suspension kit - 2 section, 1982 and newer, Class III and IV  $  1,200.00  6-3 

8130 SAM 082847020 Pivot and bearing kit - 3 section, 1982 and newer, Class I and II  $  1,600.00  6-4 

8130 SAM 082848020 Suspension kit - 3 section, 1982 and newer, Class I and II  $  1,200.00  6-4 

8130 SAM 082849020 Pivot and bearing kit - 3-section, 1982 and newer, Class III and IV  $  2,025.00  6-5 

8130 SAM 082850020 Suspension kit - 3-section, 1982 and newer, Class III and IV  $  1,875.00  6-5 

8130 SAM 082856020 Pivot and bearing kit - 4-section, 52-and 62-ton, Class I and II  $  2,300.00  6-8 

8130 SAM 082857020 Suspension kit - 4-section, 52-and 62-ton, Class I and II  $  1,680.00  6-8 

8130 SAM 083807020 Pivot and bearing kit - 4-section, 1982 and newer, Class III and IV  $  2,690.00  6-6 

8130 SAM 083840020 Suspension kit - 4-section, 1982 and newer, Class III and IV  $  2,500.00  6-6 

8140 SAM 082845020 Pivot and bearing kit - 2 section, 1982 and newer, Class III and IV  $  1,375.00  6-3 

8140 SAM 082846020 Suspension kit - 2 section, 1982 and newer, Class III and IV  $  1,200.00  6-3 

8140 SAM 082847020 Pivot and bearing kit - 3 section, 1982 and newer, Class I and II  $  1,600.00  6-4 

8140 SAM 082848020 Suspension kit - 3 section, 1982 and newer, Class I and II  $  1,200.00  6-4 

TH
UR

M
AN

TH
UR

M
AN

  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  6-2 

Cross Reference by Thurman Scale Model Number (Continued)Cross Reference by Thurman Scale Model Number (Continued)  
Thurman Thurman   

Model NumberModel Number  
METTLER TMETTLER TOLEDO OLEDO   

Overhaul KitsOverhaul Kits  
  
Kit DescriptionsKit Descriptions  

  
PricePrice  

  
PagePage  

8140 SAM 082849020 Pivot and bearing kit - 3-section, 1982 and newer, Class III and IV  $  2,025.00  6-5 

8140 SAM 082850020 Suspension kit - 3-section, 1982 and newer, Class III and IV  $  1,875.00  6-5 

8140 SAM 083807020 Pivot and bearing kit - 4-section, 1982 and newer, Class III and IV  $  2,690.00  6-6 

8140 SAM 083840020 Suspension kit - 4-section, 1982 and newer, Class III and IV  $  2,500.00  6-6 

8140 SAM 082856020 Pivot and bearing kit - 4-section, 52-and 62-ton, Class I and II  $  2,300.00  6-8 

8140 SAM 082857020 Suspension kit - 4-section, 52-and 62-ton, Class I and II  $  1,680.00  6-8 

Heavy duty 083824020 Pivot and bearing kit - 2-section, 27-and 37-ton  $  1,090.00  6-7 

Heavy duty 082855020 Suspension kit - 2-section, 27-and 37-ton  $     840.00  6-7 

Heavy duty 082845020 Pivot and bearing kit - 2-section, 75-ton  $  1,375.00  6-3 

Heavy duty 082846020 Suspension kit - 2-section, 75-ton  $  1,200.00  6-3 

Heavy duty 082849020 Pivot and bearing kit - 3-section, 75-ton   $  2,025.00  6-5 

Heavy duty 082850020 Suspension kit - 3-section, 75-ton  $  1,875.00  6-5 

Heavy duty 083807020 Pivot and bearing kit – 4-section, 75-ton $  2,690.00 6-6 

Heavy duty 083840020 Suspension kit – 4-section, 75-ton $  2,500.00 6-6 

Heavy duty 082880020 Pivot and bearing kit - 5-section, 52-and 62-ton   $  2,710.00  6-9 

Heavy duty 082881020 Suspension kit - 5-section, 52-and 62-ton  $  2,100.00  6-9 

  
  

Cross Reference by Thurman Part NumbersCross Reference by Thurman Part Numbers 

ThurmanThurman  
Part Number Part Number   

Old ThurmanOld Thurman  
Part NumberPart Number  

METTLER TOLEDO METTLER TOLEDO   
Part NumberPart Number  

    
Price Price   

  
Page(s)Page(s)  

10003970A T-115 082751020 $230.00 6-3, 6-5, 6-6 

10004080Y T-122-1 082750020 $160.00 6-3, 6-5, 6-6 

10005790A T-675 082745020 $  40.00 6-3, 6-4, 6-5, 6-6, 6-7, 6-8, 6-9 

10005820A T-270 082758020 $125.00 6-4, 6-7, 6-8, 6-9 

10005830A T-250-1 082756020 $  14.00 6-4, 6-7, 6-8, 6-9 

10005850A T-12 082753020 $  50.00 6-4, 6-7, 6-8, 6-9 

10005980A T-1155-2 082752020 $  25.00 6-4, 6-7, 6-8, 6-9 

10008490A T-1155-4 083825020 $  31.00 6-3, 6-5, 6-6 

10008550A T-979 083839020 $  75.00 6-3, 6-5, 6-6 

10008590A T-1155 083805020 $  21.00 6-3, 6-4, 6-5, 6-6, 6-7, 6-8, 6-9 

10008690Y T-269 082757020 $  60.00 6-4, 6-7, 6-8, 6-9 

10008710A T-255-1 082746020 $  19.00 6-3, 6-4, 6-5, 6-6, 6-7, 6-8, 6-9 

10012030A T-251 082749020 $  15.00 6-3, 6-5, 6-6 

10012340A NA 082754020 $  46.00 6-3, 6-5, 6-6 

10012770A NA 082747020 $   1.75 6-4, 6-7, 6-8, 6-9 

10012980A T-11-1 082743020 $  48.00 6-3, 6-4, 6-5, 6-6, 6-7, 6-8, 6-9 

10023800A T-191, T-192 083806020 $115.00 6-3, 6-4, 6-5, 6-6, 6-7, 6-8, 6-9 

N/A NA 082748020 $    2.00 6-3, 6-5, 6-6 

 



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 6-3 

 

 

Truck ScaleTruck Scale  Models: 8100 XTCP, 8110Models: 8100 XTCP, 8110  STCP,STCP, 8120 STCP,  8120 STCP, 
8130 SAM,8130 SAM, 8140 SAM and Heavy Duty 8140 SAM and Heavy Duty  
2-Section, 75-Ton 
1982 and Newer, Class III and IV  

 

Pivot and BearPivot and Bearinging Kit # 082845020Kit # 082845020 .................................................................................... Total Kit Price  Total Kit Price  $1,375.00$1,375.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  083825020 Pivot, 1/2" x 1" x 7 3/4" L 8 31.00 
AA  083805020 Pivot, 1/2" x 1" x 3 3/4" L 4 21.00 
BB  083839020 Bearing, 2" x 1 1/4" x 7 5/8" L 8 75.00 
CC  082743020 Bearing, 3/4" x 1" x 3 5/8" L 2 48.00 
DD  083806020 Shackle assembly, 12 1/4" Inside L 2 115.00 
EE  082745020 Rocker, 1 1/2" x 1" x 3 1/4" L 2 40.00 
EE  082754020 Rocker, 1 1/2" x 1" x 6" L 4 46.00 
FF  082746020 Pivot, 1/2" x 1" x 1 7/8" L 2 19.00 
GG  082748020 Pin, drive, 3/8" x 2 1/4" L 8 2.00 

 
AA  

  

BB  

  

CC  

  

DD  
  

  

EE  

  

083825020, 083805020 
 

083839020 082743020 083806020 082745020, 082754020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  

082746020 082748020 082749020 082750020 082751020 

 

Suspension Kit # 082846020Suspension Kit # 082846020 .................................................................................................. Total Kit Price  $1,200.00Total Kit Price  $1,200.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082749020 Ball, Bearing 8 15.00 
II  082750020 Ball Plate 4 160.00 
JJ  082751020 Tee Block (Ball Stand) 4 230.00 

      

 
 

  

 

TH
UR

M
AN

TH
UR

M
AN

  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  6-4 

 

 

Models:Models: 8100 XTCP, 81108100 XTCP, 8110  STCPSTCP, 8120 STCP, , 8120 STCP,   Truck ScaleTruck Scale  
81308130  SAMSAM and 8140 SAM and 8140 SAM   
3-Section  
1982 and Newer, Class I and II 
 

Pivot and BearingPivot and Bearing Kit # 082847020Kit # 082847020 ......................................................................................Total Kit Price  Total Kit Price  $1,600.00$1,600.00 

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  083805020 Pivot, 1/2" x 1" x 3 3/4" L 6 21.00 
AA  082752020 Pivot, 1/2" x 1" x 5 11/16" L 12 25.00 
BB  082753020 Bearing, 2" x 1" x 5 5/8" L 12 50.00 
CC  082743020 Bearing, 3/4" x 1" x 3 5/8" L 3 48.00 
DD  083806020 Shackle assembly, 12 1/4" Inside L 3 115.00 
EE  082745020 Rocker, 1 1/2" x 1" x 3 1/4" L 9 40.00 
FF  082746020 Pivot, 1/2" x 1" x 1 7/8" L 3 19.00 
GG  082747020 Pin, drive, 3/8" x 1 7/8" L 12 1.75 

  
AA  

  

BB  

  

CC  

  

DD  
  

  

EE  

  

083805020, 082752020 082753020 082743020 083806020 082745020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  
082746020 082747020 082756020 082757020 082758020 

  

Suspension Kit # 082848020Suspension Kit # 082848020 .................................................................................................. Total Kit Price  $1,200.00Total Kit Price  $1,200.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082756020 Ball, Bearing 12 14.00 
II  082757020 Ball Plate 6 60.00 
JJ  082758020 Tee Block (Ball Stand) 6 125.00 

  
 
 

  

  
  

TH
URM

AN
TH

URM
AN

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 6-5 

 

 

Truck ScaleTruck Scale  Models: 8100 XTCP, 8110 Models: 8100 XTCP, 8110 STCP,STCP, 8120 STCP, 8120 STCP,  
  8130 8130 SAM,SAM, 8140 SAM and Heavy Duty 8140 SAM and Heavy Duty  

3-Section, 75-Ton 
1982 and Newer, Class III and IV 

Pivot and BearingPivot and Bearing Kit # 082849020Kit # 082849020 .................................................................................... Total Kit Price  Total Kit Price  $2,025.00$2,025.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  083825020 Pivot, 1/2" x 1" x 7 3/4" L 12 31.00 
AA  083805020 Pivot, 1/2" x 1" x 3 3/4" L 6 21.00 
BB  083839020 Bearing, 2" x 1 1/4" x 7 5/8" L 12 75.00 
CC  082743020 Bearing, 3/4" x 1" x 3 5/8" L 3 48.00 
DD  083806020 Shackle assembly, 12 1/4" Inside L 3 115.00 
EE  082745020 Rocker, 1 1/2" x 1" x 3 1/4" L 3 40.00 
EE  082754020 Rocker, 1 1/2" x 1 3/4" x 6" L 6 46.00 
FF  082746020 Pivot,1/2" x 1" x 1 7/8" L 3 19.00 
GG  082748020 Pin, drive, 3/8" x 2 1/4" L 12 2.00 

  
AA  

  

BB  

  

CC  

  

DD  
  

  

EE  

  

083825020, 083805020 083839020 082743020 083806020 082745020, 082754020 

FF  

  

GG  

  

HH  
  

II  

  

JJ  

  
082746020 082748020 082749020 082750020 082751020 

  

Suspension Kit # 082850020Suspension Kit # 082850020 .................................................................................................... Total Kit Price  Total Kit Price  $1,875.00$1,875.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part Part DescriptionDescription  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082749020 Ball, Bearing 12 15.00 
II  082750020 Ball Plate 6 160.00 
JJ  082751020 Tee Block (Ball Stand ) 6 230.00 

  
  

TH
UR

M
TH

UR
M

ANAN
  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  6-6 

 

 

Models:Models: 8100 XTCP, 8110 8100 XTCP, 8110 STCP,STCP, 8120 STCP,  8120 STCP,   TruTruck Scaleck Scale  
8130 8130 SAM,SAM, 8140 SAM and Heavy Duty 8140 SAM and Heavy Duty  
4-Section, 75-Ton 
1982 and Newer, Class III and IV 

 

Pivot and BearingPivot and Bearing Kit # 083807020Kit # 083807020 .................................................................................. Total Kit Price  $2,690.00Total Kit Price  $2,690.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  LisList Price Eacht Price Each  

AA  083825020 Pivot, 1/2" x 1" x 7 3/4" L 16 31.00 
AA  083805020 Pivot, 1/2" x 1" x 3 3/4" L 8 21.00 
BB  083839020 Bearing, 2" x 1 1/4" x 7 5/8" L 16 75.00 
CC  082743020 Bearing, 3/4" x 1" x 3 5/8" L 4 48.00 
DD  083806020 Shackle assembly, 12 1/4" Inside L 4 115.00 
EE  082745020 Rocker, 1 1/2" x 1" x 3 1/4" L 4 40.00 
EE  082754020 Rocker, 1 1/2" x 1 3/4" x 6" L 8 46.00 
FF  082746020 Pivot,1/2" x 1" x 1 7/8" L 4 19.00 
GG  082748020 Pin, drive, 3/8" x 2 1/4" L 16 2.00 

  
AA  

  

BB  

  

CC  

  

DD  
  

  

EE  

  

083825020, 083805020 083839020 082743020 083806020 082745020, 082754020 

FF  

  

GG  

  

HH  
  

II  

  

JJ  

  
082746020 082748020 082749020 082750020 082751020 

 

Suspension Kit # 083840020Suspension Kit # 083840020 ......................................................................................................Total Kit Price  Total Kit Price  $2,500.00$2,500.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082749020 Ball, Bearing 16 15.00 
II  082750020 Ball Plate 8 160.00 
JJ  082751020 Tee Block (Ball Stand ) 8 230.00 

  
  

TH
URM

AN
TH

URM
AN

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 6-7 

 

 

TrucTruck Scalek Scale  Model: Heavy DutyModel: Heavy Duty  
2-Section, 27-, 37- and 52-Ton 
(Does Not Fit Side Arm) 

 

 

Pivot and BearingPivot and Bearing Kit # 083824020Kit # 083824020 .................................................................................. Total Kit Price  $1,090.00Total Kit Price  $1,090.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082753020 Bearing, 2" x 1" x 5 5/8" L 8 50.00 
BB  082743020 Bearing, 3/4" x 1" x 3 5/8" L  2 48.00 
CC  082752020 Pivot, 1/2" x 1" x 5 11/16" L 8 25.00 
DD  082745020 Rocker, 1 1/2" x 1" x 3 1/4" L 6 40.00 
EE  083806020 Shackle assembly, 12 1/4" Inside L 2 115.00 
FF  082746020 Pivot, 1/2" x 1" x 1 7/8" L 2 19.00 
FF  083805020 Pivot, 1/2" x 1" x 3 3/4" L 4 21.00 
GG  082747020 Pin, drive, 3/8" x 1 7/8" L 8 1.75 

  
AA  

  

BB  

  

CC  

  

DD  

  

EE  
  

  

082753020 082743020 082752020 082745020 083806020 

FF  

  

GG  

  

HH  
  
  

II  

  

JJ  

  
083805020, 082746020 

 
082747020 082756020 082757020 082758020 

  

Suspension Kit # 082855020Suspension Kit # 082855020 .......................................................................................................... Total Kit Price  Total Kit Price  $840.00$840.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082756020 Ball, Bearing 8 14.00 
II  082757020 Ball Plate 4 60.00 
JJ  082758020 Tee Block (Ball Stand ) 4 125.00 

  
  

TH
UR

M
AN

TH
UR

M
AN

  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  6-8 

 

 

Models: 8100 XTCP, 8110Models: 8100 XTCP, 8110  STCPSTCP, 8120 STCP,, 8120 STCP,  Truck ScaleTruck Scale  
81308130  SAMSAM and 8140 SAM and 8140 SAM  
4-Section 
52 and 62-Ton, Class I and II 

 

Pivot and BearingPivot and Bearing Kit # 082856020Kit # 082856020 .................................................................................. Total Kit Price  $2,300.00Total Kit Price  $2,300.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082753020 Bearing, 2" x 1" x 5 5/8" L 16 50.00 
BB  082743020 Bearing, 3/4" x 1" x 3 5/8" L 4 48.00 
CC  082752020 Pivot, 1/2" x 1" x 5 11/16" L 16 25.00 
DD  082745020 Rocker, 1 1/2" x 1" x 3 1/4" L 12 40.00 
EE  083806020 Shackle assembly, 12 1/4" Inside L 4 115.00 
FF  083805020 Pivot, 1/2" x 1" x 3 3/4" L 8 21.00 
FF  082746020 Pivot, 1/2" x 1" x 1 7/8" L 4 19.00 
GG  082747020 Pin, drive, 3/8" x 1 7/8" L 16 1.75 

  
AA  

  

BB  

  

CC  

  

DD  

  

EE  
  

  

082753020 
 

082743020 082752020 
 

082745020 083806020 

FF  

  

GG  

  
  

HH  

  

II  

  

JJ  

  
083805020, 082746020 082747020 082756020 082757020 082758020 

 

Suspension Kit # 082857020Suspension Kit # 082857020 ......................................................................................................Total Kit Price  Total Kit Price  $1,680.00$1,680.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082756020 Ball, Bearing 16 14.00 
II  082757020 Ball Plate 8 60.00 
JJ  082758020 Tee Block (Ball Stand ) 8 125.00 

  
      

 
 

  

TH
URM

AN
TH

URM
AN

  



  

Prices and Specifications Subject to Change Without Notice. Mettler-Toledo, Inc.    (9/00) 6-9 

 

 

Truck ScaleTruck Scale  Model: Heavy DutyModel: Heavy Duty  
5-Section, 52-and 62-Ton 

 

 

 

Pivot and BearingPivot and Bearing Kit # 082880020Kit # 082880020 .................................................................................. Total Kit Price  $2,710.00Total Kit Price  $2,710.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

AA  082753020 Bearing, 2" x 1" x 5 5/8" L 20 50.00 
BB  082743020 Bearing, 3/4" x 1" x 3 5/8" L 5 48.00 
CC  082752020 Pivot, 1/2" x 1" x 5 11/16" L 20 25.00 
DD  082745020 Rocker, 1 1/2" x 1" x 3 1/4" L 15 40.00 
EE  083806020 Shackle assembly, 12 1/4" Inside L 5 115.00 
FF  082746020 Pivot, 1/2" x 1" x 1 7/8" L 5 19.00 
FF  083805020 Pivot, 1/2" x 1" x 3 3/4" L 5 21.00 
GG  082747020 Pin, drive, 3/8" x 1 7/8" L 20 1.75 

  
AA  

  

BB  

  
  

CC  

  

DD  

  

EE  
  

  

082753020 
 

082743020 082752020 
 

082745020 083806020 

FF  

  

GG  

  

HH  

  

II  

  

JJ  

  

082746020, 083805020 082747020 082756020 082757020 08258020 

  

Suspension Kit # 082881020Suspension Kit # 082881020 .................................................................................................... Total Kit Price  Total Kit Price  $2,100.00$2,100.00  

Component Parts in Overhaul Kit  
Ref.Ref.  Part NumberPart Number  Part DescriptionPart Description  Kit Qty.Kit Qty.  List Price EachList Price Each  

HH  082756020 Ball, Bearing 20 14.00 
II  082757020 Ball Plate 10 60.00 
JJ  082758020 Tee Block (Ball Stand) 10 125.00 

  

TH
UR

M
AN

TH
UR

M
AN

  



  

(9/00)  Mettler-Toledo, Inc. Prices and Specifications Subject to Change Without Notice.  6-10 

  


